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alofo]oi 1|k S51 30 4F | R13.12.31 | BEZE [wmstrvcxoh H14.01.01 | %
al0]0]0: 1155 S52 30 4F | R13.12.31 | BEHE |mtrrreion H14.01.01 | &
alofo]o: 1 ik S53 30 4F | R13.12.31 | BEZE [wmstrvcioh H14.01.01 | %
al0]0]0: 1[iE5H S54 30 4F | R13.12.31 | BEHE |mtrrreion H14.01.01 | &
alofofo:1|iEakk S55 30 A5 | R13.12.31 | BEZE |wmstrarve ot H14.01.01 | #&%
alofo|0i1 |k S56 30 4F | R13.12.31 | FEIE |emtereiot H14.01.01| %
alofofo:1|iEakk S57 30 4F | R13.12.31 | BE3E |wmstrarreioh H14.01.01 | %%
alofo|o: 1|k S58 30 4F | R13.12.31 | FEIE |emtereiot H14.01.01| %
alofofo:1|iEakk S59 30 A5 | R13.12.31 | BEIE |wmstrarve ok H14.01.01 | #&%
alofo]0:1 |k S60 30 4F | R13.12.31 | FEIE |emtereiot H14.01.01| %
alofofo:1|iEakk S61 30 45 | R13.12.31 | BEIE |wmstrerve ot H14.01.01 | #&%
alofo]o: 1|k S62 30 45 | R13.12.31 | BEHE |wmmswsreioh H14.01.01 | #%
al0] 0|0 1S S63 30 4F | R13.12.31 | BEIE |wmtcveiot H14.01.01 | %%
alofo|0: 1|k HO1 30 4E | R13.12.31 | BEIE |zwwereiot H14.01.01| #%
al0[0|0:1[ES#H HO02 30 4F | R13.12.31 | BE3E |wmtrarreioh H14.01.01 | %%
alofo]o: 1|k HO3 30 4E | R13.12.31 | BEIE |zwwereiot H14.01.01| #%
al0]0]|0:1[ESK HO04 30 4E | R13.12.31 | BEEE |#swrresot H14.01.01 | %%
al0] 0|0 1|5 HO05 30 4F | R13.12.31 | BEFE |#wteevcaot H14.01.01 | %
al0]0]|0i1[ESHK H06 30 4E | R13.12.31 | BEEE |#mmrresot H14.01.01 | %%
al0]0|0: 1|5 HO7 30 4F | R13.12.31 | BEFE |#wterveiot H14.01.01 | %
alolo]o 1|5 HO8 30 4F | R13.12.31 | BEFE |#mwervexot H14.01.01 | &
al0] 0|01 |Ea# HO09 30 4F | R13.12.31 | BEHE |zmterroxoh H14.01.01| %%
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alofo]oi 1|k H10 30 4F | R13.12.31 | BEZE [wmstrvcxoh H14.01.01 | %
al0]0]0 1[iE5H H11 30 4E | R13.12.31 | BEHE |mtrrreton H14.01.01 | &
alofo]oi 1|k H12 30 4F | R13.12.31 | BEZE [wmstrvcxoh H14.01.01 | %
al0]0]0: 1155 H13 30 4F | R13.12.31 | BEHE |mtrrreion H14.01.01 | &
alofo]o: 1 ik H14 30 4F | R14.12.31 | BEFE |wmtrvcioh H15.01.01 | %
al0]0]0: 1[iE5H H15 30 4E | R15.12.31 | BEHE |mtrrreton H16.01.01 | %
alofofo:1|iEakk H16 30 4F | R16.12.31 | BE3E |wmstrarreioh H17.01.01 | %%
al0]0]0: 1 |IE5# H17 30 4F | R17.12.31 | BEIE |#wstrerveioh H18.01.01 | &
alofo]oi1|iEnak H18 30 4F | R18.12.31 | BEFE [wmstrrveioh H19.01.01| %
al0| 0|0 1[iESH H19 30 4F | R19.12.31 | BEIE |#mweveiot H20.01.01 | %
alofofo:1|iEakk H20 30 4F | R20.12.31 | BEZE |wmstrarreioh H21.01.01 | %%
al0]0]0: 115 H21 30 4F | R21.12.31 | BEIE |#mstrerveioh H22.01.01 | &
alofofo:1|iEakk H22 30 45 | R22.12.31 | BEIE |wmstrerve ot H23.01.01 | #&%
alofo]o: 1|k H23 30 45 | R23.12.31 | BEHE |wmmswsreioh H24.01.01 | #%
al0]0]|0i1[ESHK H24 30 4E | R24.12.31 | BEZE |#smeresor | H24.01.01 | H25.01.01 | #&%
al0|0]|0:1[iESH H25 30 4F | R25.12.31 | BEHE |#mterveior| H25.01.01 [ H26.01.01 | #&%
al0[0|0:1[ES#H H26 30 4F | R26.12.31 | BE3E |#mmsvexor| H26.01.01 | H27.01.01 |  #&%
al0| 0|0 1[I ESH H27 30 4F | R27.12.31 | BEHE |#mtrveior| H27.01.01 [ H28.01.01 | #&%
al0]0]|0:1[ESK H28 30 4E | R28.12.31 | FEZE |#smeresor | H28.01.01 | H29.01.01 | #%
alofo]o: 1|k H29 30 4E | R29.12.31 | FEZE |wwerverio| H29.01.01 | H30.01.01 | %%
alofo|o:1|iEnkE H30 30 4E | R30.12.31 | FEZE |smiwrrerro| H30.01.01 | H31.01.01 |  #%
alofo]o: 1|k RO1 30 4E | R31.12.31 | FE#E |mweresor| H31.01.01 | RO2.01.01 | %%
alofo]o:1|iEnkk RO2 30 4 | R32.12.31 | BEHE |#mtrvriok| R02.01.01 [ RO3.01.01 | K
al0] 0|01 |Ea# RO3 30 4F | R33.12.31 | BEHE |wwwrroxor| R03.01.01 | RO4.01.01 | #K




al0]0]|0:1[ESHK R04 30 4F | R34.12.31 | BEZE |wmwsvesor | R04.01.01 | R05.01.01 | &
alofofo:1|iEaE R05 30 48 | R35.12.31 | BE#E |#mwrroxor| R05.01.01 | R06.01.01 | #%
al0]0]0 2|SECER S50 30 4 | R13.12.31 | BEIE |mmwecveiot H14.01.01 | #&
al0]0]0: 2| mEECER S51 30 4F | R13.12.31 | BEFE |zmwervoxot H14.01.01 | #&
al0]0]0: 2 |SEECER S52 30 4 | R13.12.31 | BEIE |wmwecveiot H14.01.01 | #&
al0]0]0: 2| mEECER S53 30 4F | R13.12.31 | BEFE |zmwervoxot H14.01.01 | #&
al0]0]0:2|mEECERH S54 30 A5 | R13.12.31 | BEZE |wmstrarve ot H14.01.01 | #&%
al0[0]0: 2|5 CER S55 30 45 | R13.12.31 | BEHE |wmswsreioh H14.01.01 | #%
al0]0]0: 2| mEEsCERH S56 30 A5 | R13.12.31 | BEZE |wmstrarve ot H14.01.01 | #&%
al0[0]0] 2|5 cER S57 30 45 | R13.12.31 | BEHE |wmswsreioh H14.01.01 | #%
al0]0]0: 2| mEECERH S58 30 A5 | R13.12.31 | BEIE |wmstrarve ok H14.01.01 | #&%
al0[0]0; 2|5 cER S59 30 45 | R13.12.31 | BEHE |wmswsreioh H14.01.01 | #%
al0f0f0: 2| miECER S60 30 45 | R13.12.31 | BEIE |wmstrerve ot H14.01.01 | #&%
al0[0]0: 2| CER S61 30 4E | R13.12.31 | BEIE |zwwwereiot H14.01.01| #%
al0f0f0:2|mECER S62 30 45 | R13.12.31 | BEIE |wmstrerve ot H14.01.01 | #&%
al0[0]0] 2| CER S63 30 4E | R13.12.31 | BEIE |zwwereiot H14.01.01| #%
al0f0f0: 2| mECER HO1 30 45 | R13.12.31 | BEIE |wmsterve ot H14.01.01 | #&%
al0[0]0; 2| CER H02 30 4E | R13.12.31 | BEIE |zwwereiot H14.01.01| #%
al0]0]0 2| mEECER HO03 30 4 | R13.12.31 | BEHE |wmsterreoh H14.01.01| %%
al0]0]0: 2| mEECER H04 30 4F | R13.12.31 | BEZE |#wsmeveior H14.01.01 | &
al0]0]0: 2| mEECER HO5 30 4 | R13.12.31 | BEHE |wmsterreoh H14.01.01| %%
al0]0]0: 2| mEECER HO06 30 4F | R13.12.31 | BEZE |wwsmeveior H14.01.01 | &
al0]0]0:2|SECER HO7 30 4E | R13.12.31 | BEHE |wwsterreoh H14.01.01| %
al0]0]0: 2| CER HO8 30 4F | R13.12.31 | BEHE |zmterroxoh H14.01.01| %%




al0]0]0:2|SECER HO09 30 4 | R13.12.31 | BEIE |mmwecveiot H14.01.01 | &
al0]0]0: 2| mEECER H10 30 4F | R13.12.31 | BEFE |zmwervoxot H14.01.01 | #&
al0]0]0 2|SECER H11 30 4 | R13.12.31 | BEIE |mmwecveiot H14.01.01 | #&
al0]0]0: 2| mEECER H12 30 4F | R13.12.31 | BEFE |zmwervoxot H14.01.01 | #&
al0]0]0: 2 |SEECER H13 30 4 | R13.12.31 | BEIE |wmwecveiot H14.01.01 | #&
al0]0]0: 2| mEECER H14 30 4F | R14.12.31 | BEFE |zmmervexot H15.01.01 | #&
al0]0]0:2|mEECERH H15 30 A5 | R15.12.31 | BEZE |wmstrarve ot H16.01.01 | #&%
al0[0]0: 2|5 CER H16 30 45 | R16.12.31 | BEHE |mmstsreioh H17.01.01 | #%
al0]0]0: 2| mEEsCERH H17 30 A5 | R17.12.31 | BEZE |wmstrarve ot H18.01.01 | #&%
al0[0]0] 2|5 cER HI18 30 45 | R18.12.31 | BEHE |mmstrsreioh H19.01.01 | #&%
al0]0]0: 2| mEECERH H19 30 A5 | R19.12.31 | BEZE |wmstrerve ot H20.01.01 | #&%
al0[0]0; 2|5 cER H20 30 45 | R20.12.31 | BEHE |mmswsreioh H21.01.01 | #&%
al0f0f0: 2| miECER H21 30 45 | R21.12.31 | BEIE |wmstrerve ot H22.01.01 | #&%
al0[0]0;: 2|5 CER H22 30 4 | R22.12.31 | BEIE |wmtmcveiot H23.01.01 | #&%
al0f0f0:2|mECER H23 30 4= | R23.12.31 | BEIE |wmstrarve ot H24.01.01 | #&%
al0[0]0: 2|5 CER H24 30 45 | R24.12.31 | BEHE |wmwsveior| H24.01.01 [ H25.01.01 | #%
al0]0]0:2|mECER H25 30 4% | R25.12.31 | BEFE |wmswesrcior| H25.01.01 [ H26.01.01 | #K
al0[0]0; 2| CER H26 30 4F | R26.12.31 | BEHE |#mterveior| H26.01.01 [ H27.01.01 |  #&%
al0]0]0: 2| ECER H27 30 4F | R27.12.31 | BEZE |westervesor | H27.01.01 | H28.01.01 | #&
al0]0]0: 2| mEECER H28 30 4E | R28.12.31 | FE#E |wmweresor| H28.01.01 [ H29.01.01 | %%
al0f[0f0: 2| mECER H29 30 4E | R29.12.31 | FEZE |#sweverro| H29.01.01 | H30.01.01 | #%
al0f0]0: 2|5 cER H30 30 4 | R30.12.31 | BEZE |s#mwrrerio| H30.01.01 [ H31.01.01 | %
al0f[0f0:2|mECER RO1 30 4E | R31.12.31 | FgZE |#sweverro| H31.01.01 | RO2.01.01 | #%
alofof0:2|mErER R02 30 4F | R32.12.31 | BEFE |#swrrerra| RO2.01.01 | R03.01.01 | #%




0]0(0:2|FEECER RO3 30 4E | R33.12.31 | BEZE |#swercro| RO3.01.01 | RO4.01.01 | #&%
00|02 | & CER R04 30 4E | R34.12.31 | BEFE |emsrreiio| RO4.01.01 | RO5.01.01 | %K%
0]0(0:2|HEECER R05 30 4 | R35.12.31 | BEZE |#swercro| R05.01.01 | R06.01.01 | #&%
o[o]0 3|HEAIE H13 30 4F | R13.12.31 | BESE |ssmercito H14.01.01 | &
ofofo:3|mEAMR H17 30 4 | R17.12.31 | BEIE |#mierverio H18.01.01 | &
0[0]0: 3|HEAIE H18 30 4 | R18.12.31 | BESE |swsmsrcita H19.01.01 | &
0]0[0:3|HEAM H19 30 45 | R19.12.31 | BEHE |sptecciote H20.01.01 | &
0[0]0 3|HEAIE H20 30 45 | R20.12.31 | BEHE |#micvcito H21.01.01 | #&%
0]0[0:3|HEAM H21 30 45 | R21.12.31 | BEHE |sptxciote H22.01.01 | &
0]0[0:3|FEAM H22 30 4F | R22.12.31 | BEIE |sstrcrcioio H23.01.01 | &
0]0[0:3|HEAM H23 30 45 | R23.12.31 | BEHE |sptscciote H24.01.01 | &
0]0[0:3|HEAM H24 30 4F | R24.12.31 | BEIE |#sweccrro| H24.01.01 | H25.01.01 | #&
0]0[0:3|HEAME H25 30 4F | R25.12.31 | FEFE |#swrrosra| H25.01.01 | H26.01.01 | #%
ofofo:3|mEAMR H26 30 45 | R26.12.31 | BEHE |wswercwto| H26.01.01 [ H27.01.01 | #K
0]10]|0:3[FEARMR H27 30 4F | R27.12.31 | BEZE |wswscra| H27.01.01 | H28.01.01 |  #&
ofofo:3|mEAMR H28 30 45 | R28.12.31 | BEHE |wwirewto| H28.01.01 [ H29.01.01 | #K%
0]0[0:3|FEAME H29 30 4F | R29.12.31 | FEFE |#swrrorra| H29.01.01 | H30.01.01 | #%
o[of0:3|mEAMR H30 30 45 | R30.12.31 | BEHE |wswercwto| H30.01.01 [ H31.01.01 | #K%
0]0[0:3|HEAME RO1 30 4F | R31.12.31 | FEZE |esweexio| H31.01.01 | R02.01.01 | &
o[of0:3|mEAMR RO2 30 4E | R32.12.31 | JE#E |smeoecrio| R02.01.01 | R03.01.01 | %%
0]0[0:3|BEAME RO3 30 4E | R33.12.31 | FgZE |#sweverro| RO3.01.01 | RO4.01.01 | #%
o[of0:3|mEAMR RO4 30 4E | R34.12.31 | pE#E |smeocrio| R04.01.01 | R05.01.01 | %%
0]0[0:3|FEAME R05 30 4E | R35.12.31 | FEZE |#swrverro| R05.01.01 | R06.01.01 | #%
0 1[0 6|FIFEEER S47 30 4F | R13.12.31 | BEHE |emmsveioh H14.01.01 | %%




al0] 1|06 |fFIHEER S48 30 4 | R13.12.31 | BEIE |mmwecveiot H14.01.01 | &
al0] 1|0 6|fFIHEER S49 30 4E | R13.12.31 | BEHE |mtrrreton H14.01.01 | %%
al0] 1|0 6|fFIHEER S50 30 4 | R13.12.31 | BEIE |mmwecveiot H14.01.01 | #&
al0]1]0:6|fFIHEER S51 30 4F | R13.12.31 | BEHE |mtrrreion H14.01.01 | %%
al0]1]0: 6 |fFIHEER S52 30 4 | R13.12.31 | BEIE |wmwecveiot H14.01.01 | #&
al0] 1|06 |fFIHEER S53 30 4F | R13.12.31 | BEHE |mtrrreion H14.01.01 | %%
al0]|1]0: 6|fFIHEER S54 30 A5 | R13.12.31 | BEZE |wmstrarve ot H14.01.01 | #&%
al0]|1]0: 6|fFIHEER S55 30 4F | R13.12.31 | BEIE |#mstrerveioh H14.01.01 | &
al0]|1]0: 6 |fFIHEER S56 30 A5 | R13.12.31 | BEZE |wmstrarve ot H14.01.01 | #&%
al0]|1]0: 6 |fFIHEER S57 30 4F | R13.12.31 | BEIE |#mstrerveioh H14.01.01 | &
al0]|1]0: 6|fFIHEER S58 30 A5 | R13.12.31 | BEIE |wmstrarve ok H14.01.01 | #&%
al0]|1]0: 6|fFIHEER S59 30 4F | R13.12.31 | BEIE |#mstrerveioh H14.01.01 | &
al0]|1]0: 6|fFIHmEE S60 30 45 | R13.12.31 | BEIE |wmstrerve ot H14.01.01 | #&%
al0]1]0: 6|fFIHEER S61 30 4F | R13.12.31 | BEIE |#sstrerveioh H14.01.01 | &
al0] 1|06 |fFIHEER S62 30 45 | R13.12.31 | BEHE |wmswsreioh H14.01.01 | &
al0]1]0: 6|fFIHEER S63 30 4F | R13.12.31 | BEIE |#mstrerveioh H14.01.01 | &%
al0]|1]0: 6 |fFIHEER HO1 30 45 | R13.12.31 | BEIE |wmsterve ot H14.01.01 | #&%
al0]|1]0: 6 |fFIHEER HO02 30 4F | R13.12.31 | BEIE |#mstrerveioh H14.01.01 | &%
al0]|1]0: 6 |fFIHEE# HO3 30 4F | R13.12.31 | BEHE |smtrveioh H14.01.01 | #&%
al0f1[0:6|fFHEER HO04 30 4= | R13.12.31 | BEIE |t H14.01.01 | %%
al0]|1]0: 6|fFIHE# HO05 30 4F | R13.12.31 | BEHE |smtrveioh H14.01.01 | #&%
al0]|1]0: 6|fFIHEER HO06 30 45 | R13.12.31 | BEIE |emtwrveiot H14.01.01 | %%
al0]|1]0: 6|fFIHEEE HO7 30 4F | R13.12.31 | BEIE |wmterveioh H14.01.01 | #%
al0]1]|0:6 |BEmER HO08 30 4F | R13.12.31 | BEHE |#stwrrerot H14.01.01 | #&%
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al0] 1|06 |fFIHEER HO09 30 4 | R13.12.31 | BEIE |mmwecveiot H14.01.01 | &
al0] 1|0 6|fFIHEER H10 30 4E | R13.12.31 | BEHE |mtrrreton H14.01.01 | %%
al0] 1|0 6|fFIHEER H11 30 4 | R13.12.31 | BEIE |mmwecveiot H14.01.01 | #&
al0]1]0:6|fFIHEER H12 30 4F | R13.12.31 | BEHE |mtrrreion H14.01.01 | %%
al0]1]0: 6 |fFIHEER H13 30 4 | R13.12.31 | BEIE |wmwecveiot H14.01.01 | #&
al0] 1|06 |fFIHEER H14 30 4E | R14.12.31 | BEIHE |#mtrrreton H15.01.01 | &
al0]|1]0: 6|fFIHEER H15 30 A5 | R15.12.31 | BEZE |wmstrarve ot H16.01.01 | #&%
al0]|1]0: 6|fFIHEER H16 30 4F | R16.12.31 | BEIE |#wstrerveioh H17.01.01 | &
al0]|1]0: 6 |fFIHEER H17 30 A5 | R17.12.31 | BEZE |wmstrarve ot H18.01.01 | #&%
al0]|1]0: 6 |fFIHEER H18 30 4F | R18.12.31 | BEIE |#mstrerveioh H19.01.01 | &
al0]|1]0: 6|fFIHEER H19 30 A5 | R19.12.31 | BEZE |wmstrerve ot H20.01.01 | #&%
al0]|1]0: 6|fFIHEER H20 30 4F | R20.12.31 | BEIE |#mstrerveioh H21.01.01 | &
al0]|1]0: 6|fFIHmEE H21 30 45 | R21.12.31 | BEIE |wmstrerve ot H22.01.01 | #&%
alOf1[0:6|FHlmER H22 30 45 | R22.12.31 | BEIE |ewmtwrerreiot H23.01.01 | #&
al0] 1|06 |fFIHEER H23 30 45 | R23.12.31 | BEHE |wmstrsreioh H24.01.01 | &
alOf1[0:6|FHlmER H24 30 4 | R24.12.31 | BEFE |#wstrereaor | H24.01.01 | H25.01.01 | #K
al0f 1|06 |FIELEER H25 30 4% | R25.12.31 | BEFE |wmswesrcior| H25.01.01 [ H26.01.01 | #K
al0]|1]0: 6 |fFIHEER H26 30 4F | R26.12.31 | BEIE |wmswsvesor | H26.01.01 | H27.01.01 | #&
al0]1]|0:6 Bk EER H27 30 4E | R27.12.31 | FEZE |wmswrvesor | H27.01.01 | H28.01.01 | &
al0] 1|06 |fFIHmEH H28 30 4F | R28.12.31 | BEZE |wwsrveaor | H28.01.01 | H29.01.01 | #&
al0]1]0:6|FIEEER H29 30 4F | R29.12.31 | FEZE |wmswrvesor | H29.01.01 | H30.01.01 | &
al0] 1|06 |fFIHmE#H H30 30 4F | R30.12.31 | BEZE |wwstrvexor | H30.01.01 | H31.01.01 | #&
al0]1]|0:6|FIEEER RO1 30 4F | R31.12.31 | FEZE |wmwrvesor | H31.01.01 | R0O2.01.01 | %
alOf1[0:6|FHlmER R02 30 4F | R32.12.31 | FEFE |wmtrrvesor| R02.01.01 | R0O3.01.01 | %
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alol1]o 6|@FmEes RO3 30 4F | R33.12.31 | JEEE |wmstexvesob| R03.01.01 | R04.01.01 | &
alol1]o 7 |WEEE H26 10 45 | R06.12.31 | BEEE |=mtrrexor| H26.01.01 | H27.01.01 [ #%
al 0| 1| 0: 7 |BIHLEERK H27 10 4 | RO7.12.31 | BEHE |ssmcresor| H27.01.01 | H28.01.01 | &
alol1]o 7 WEEE H28 10 4E | R08.12.31 | BEIE |m#simrrexor| H28.01.01 | H29.01.01 | #&%
alo| 1|07 | meER H29 10 4E | R09.12.31 | BEEE |=mirrexor | H29.01.01 | H30.01.01 i
alol1]o 7 |WEEE H30 10 4£ | R10.12.31 | BEZE |wmteervexor [ H30.01.01 | H31.01.01 | #%
alol1]o: 7|1 mERE R02 10 4= | R12.12.31 | BEHE |#swrveor [ R0O2.01.01 | R03.01.01 |  #&
alol 1ol 7mmmses RO3 10 4F | R13.12.31 | BEZEE |[msmx+rraor| R03.01.01 | R04.01.01 A
alol 1o 7|EmEER R04 10 45 | R14.12.31 | BRIE |#mterexor| R04.01.01 | RO5.01.01 | #%
alol 1o 7 \wsmes RO5 10 4F | R15.12.31 | BEFHE |#smxvexor| R0O5.01.01 | R06.01.01 | #%
alol1|o:s| i@ H31 5 4 | R06.12.31 | BEZE |#mmeresor | H31.01.01 | RO2.01.01 | #%
alol1]o 8| —fmmEe RO2 5 4 | R07.12.31 | BEZFE |#mwrroxor | R0O2.01.01 | R03.01.01 | #%
alol 1o 8| —fmE RO3 5 4F | R08.12.31 | BEHE |#wmtrveror [ RO3.01.01 | R04.01.01 | #%
alol1]o 8| fumiE=e R0O4 5 4F | R09.12.31 | BEZE |=mmxroiot | R04.01.01 | R05.01.01 | %
alol 1ol 8| —fmEx R05 5 4F | R10.12.31 | BEHE @[ R05.01.01 | R06.01.01 | #%
alol1]o ol @z RO3 3 4F | R06.12.31 | BEHE |#wmstwrveror [ RO3.01.01 | RO4.01.01 | #K
alol 1o 9|l —fmmisEx R05 3 4F | R08.12.31 | PBEHE |#wmtrveror [ R05.01.01 | R06.01.01 | #%
ol il 4|=memme H13 30 4F | R13.12.31 | BEZE |mwsmerveaor H14.01.01 | #&
alol 1|1 4|ZREHEE H17 30 4E | R17.12.31 | BEsE |ssmererot H18.01.01 | #&
alol 1|1 4|ZrEgs H18 30 4E | R18.12.31 | FEHE |#mtrrreiot H19.01.01 | #&
alol 1|1 4|ZREHEE H19 30 4E | R19.12.31 | BFEsE |ssmererot H20.01.01 | #&
alol 1|1 4|ZrEg H20 30 4E | R20.12.31 | BB |#mtrrreiot H21.01.01 | #&
alol 1|1 4|ZNEHEE H21 30 4E | R21.12.31 | BFEsE |ssmererot H22.01.01 | #&
alol 1|1 4|ZREHR H22 30 4F | R22.12.31 | BEZE |wwwervexot H23.01.01 | #K




al0] 1] 14| BNEIHE H23 30 4 | R23.12.31 | BEIE |wmtecveiot H24.01.01 | #&
al 0| 1| 1:4|BAGIER H24 30 4F | R24.12.31 | BEIE |wssssvesor | H24.01.01 | H25.01.01 | &
alof 1| 1:4 BB H25 30 4E | R25.12.31 | FEZE |wmwrvesor | H25.01.01 | H26.01.01 |  #%
al 0| 1| 14| BAGIER H26 30 4F | R26.12.31 | BEIE |wmswsvesor | H26.01.01 | H27.01.01 | &
alof 1| 1:4|BAHIRRE H27 30 4E | R27.12.31 | BEZE |wmwervesor| H27.01.01 | H28.01.01 |  #%
al 0| 1| 14| BAGIER H28 30 4F | R28.12.31 | BEIE |wsswesvesor | H28.01.01 | H29.01.01 | #&
al 0| 1| 1:4|BABIERK H29 30 A% | R29.12.31 | BEFE |wmswexrcior| H29.01.01 [ H30.01.01 | #K
al 0| 1| 14| BAGIER H30 30 4 | R30.12.31 | BEHE |wmwrvesor| H30.01.01 [ H31.01.01 [ #K
al 0| 1| 1:4|BABIRKK RO1 30 A% | R31.12.31 | BEFE |wsswexrcior| H31.01.01 [ R02.01.01 | #K
al 0| 1| 1:4|BAGIER RO2 30 A5 | R32.12.31 | BEHE |wmwsveisor| R02.01.01 | R03.01.01 | #K
al 0| 1| 1:4|BABIEKK RO3 30 A% | R33.12.31 | BEFE |wmswexrcior| R03.01.01 [ RO4.01.01 | #K
al 0| 1| 14| BAGIER RO4 30 45 | R34.12.31 | BEHE |wmwsvesoh| R04.01.01 | R05.01.01 | #K%
al 0| 1| 1:4|BABIERK RO5 30 4% | R35.12.31 | BEHE |wmswexrcior| R05.01.01 [ R06.01.01 | #K
al0| 1] 1 5 |iAEIZEE RO1 5 4 | R06.12.31 | BEHE |#wstrvesor [ H31.01.01 | R02.01.01 | #&
al0]| 1|15 |EEER R02 54 | R0O7.12.31 | BgZE |#smrresor| R02.01.01 | R03.01.01 | #%
al0| 1] 1 5|iAEIZER RO3 5 4 | R08.12.31 | BEHE |##strveiok[ R03.01.01 | R04.01.01 | #&
alO| 1|15 [EAmEER R04 54 | R09.12.31 | BEZE |#m@mxrexoh| R04.01.01 | R05.01.01 | #&%
al0| 1] 1 5|iAEZEE R0O5 54 | R10.12.31 | BEHE |##strvcior [ R05.01.01 | R06.01.01 | #&
alof 1| 1:6|mansE RO3 3 4E | R06.12.31 | FE#E |#mimrcror | RO3.01.01 | RO5.01.01 | #%
alOf1]1]6]|@EmeEsR RO5 3 4F | R08.01.01 | BEZE |msswsrewor | R05.01.01 | R06.01.01 | %
al0]| 1|17 @R R05 1 45| R06.12.31 | BEZE |#mwsrexor| R0O5.01.01 | R06.01.01 | %
alof2]0:1|ngzEE H13 30 4F | R13.12.31 | BEZE |wmesevesot H14.01.01 | %
al0]2]0: 1 |REES H14 30 4F | R14.12.31 | BEFE |wmesevexot H15.01.01 | #&
alof2]0i1|/n%zEs H15 30 4 | R15.12.31 | BEZE |wmesevesot H16.01.01 | %




al0]2]0:1|pHEESE H16 30 4F | R16.12.31 | BEZE |mmmsveioh H17.01.01 | &
al0]2]0:1|REES H17 30 4F | R17.12.31 | BEZE |wmaxvcior H18.01.01 | &
al0]2]0:1|pHEESs H18 30 4F | R18.12.31 | BEZE |mmmsveioh H19.01.01 | &
al0]2]0:1|REES H19 30 4F | R19.12.31 | BEZE |wmaxvcior H20.01.01 | &
al0]2]0:1|inEsE H20 30 4 | R20.12.31 | BEIE |mmescveiot H21.01.01 | #&
al0]2]0:1|REES H21 30 4F | R21.12.31 | BEZE |wmasvcior H22.01.01 | &
alof2]0:1|AgzEE H22 30 4F | R22.12.31 | BEHE |mmesreion H23.01.01 | #&
al0[2]0} 1 |in&eEE H23 30 45 | R23.12.31 | BEHE |mmesreioh H24.01.01 | #%
al0]2]0:1|IREES H24 30 4F | R24.12.31 | BEFE |wmeservexor | H24.01.01 | H25.01.01 | #%
al0[2]0: 1 |inEEE H25 30 45 | R25.12.31 | BEHE |wmesveior| H25.01.01 [ H26.01.01 |  #K%
al0]2]0:1|REES H26 30 4F | R26.12.31 | BEFE |wmervexor | H26.01.01 | H27.01.01 | #%
al0]2]0:1|IpHEES H27 30 4F | R27.12.31 | BEIE |wmesvesor| H27.01.01 | H28.01.01 | #&
al0]2]0:1|IR5EES H28 30 4F | R28.12.31 | BEHE |wmesevexor | H28.01.01 | H29.01.01 | #%
al0[2]0% 1 |[indsE H29 30 45 | R29.12.31 | BEHE |wmesveior| H29.01.01 [ H30.01.01 | #K
al0]2]0:1|IR5EES H30 30 4F | R30.12.31 | BEHE |wmesevexor | H30.01.01 | H31.01.01 | #%
al0]2]0:1|REEs RO1 30 4 | R31.12.31 | FEZE |mmesvesor| H31.01.01 [ RO2.01.01 | #%
alof2]0i1|ngzs RO2 30 45 | R32.12.31 | BE#E |mmesreior| R02.01.01 | RO3.01.01 | #%
al0[2]0: 1 |indsE RO3 30 4 | R33.12.31 | BEHE |mmwsvriok| R03.01.01 [ R04.01.01 | &
al0f2[0:1|7nHE5E R04 30 4F | R34.12.31 | FEZE |wmwrvesor | RO4.01.01 | R05.01.01 | &
al0]2]0:1|ndsE R05 30 4E | R35.12.31 | FE#E |#mweresor| R05.01.01 | R06.01.01 | %%
al0]2]0 2| FBBERE RO3 3 4 | R06.12.31 | BEFE |mmesveior| RO3.01.01 | R04.01.01 | %
al0f2]0: 2| B RO4 34F | RO7.12.31 | BEZE |mswsrcwor| R04.01.01 | R05.01.01 | #%
al0f2[0: 2 |FEMILE R05 3 4 | R08.12.31 | FEZE |#mtxrexor| R05.01.01 | R06.01.01 |  #%
al0]2]0: 3|ATESERUIEFE RO3 3 4F | R06.12.31 | BEHE |#mtrrveior | R03.01.01 | R04.01.01 | #%
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X 2|7 7 )b i TR A7 WETH | o TRAES T wn | orEn |
al0]2]0: 3| ARSI R04 3 4F | R07.12.31 | BgZE |#mwsrexor| R04.01.01 | R05.01.01 | %%
alol2]0 3|AEgE i R05 3 4E | R08.12.31 | Fg#E |=#wsvcxor| R05.01.01 | R06.01.01 | %
alol2lofal=msmem RO5 1 /£ | R06.12.31 | BEIE |##trxrexsr| RO5.01.01 | R06.01.01 i
alo|l2|oi 5| ERELE H13 30 £ | R13.12.31 | BEZE |mmmrveioh H14.01.01 | #&
alol2]oi 5| EELE H14 30 4 | R14.12.31 | BEIE |mmescveiot H15.01.01 | &
alo|l2|ois|ERNEELE H15 30 4 | R15.12.31 | BEZE |mmmrveioh H16.01.01 | #&
alo|l2|oi5|ERNBEELE H16 30 4F | R16.12.31 | BEFE [mmerveioh H17.01.01 | #&
al0f2]0:5|/EEESHE H17 30 4 | R17.12.31 | BEIE |mmvesveiot H18.01.01 | %
alo|l2|oi5|ENBERELE HI18 30 4F | R18.12.31 | BEFE [mmerveioh H19.01.01 | #&
alol2lols|mrzesm H19 30 4F | R19.12.31 | BEZE [mmerrvesor H20.01.01 | #&
alo|l2|oi5|ERNBEELE H20 30 4F | R20.12.31 | BEFE [mmerveioh H21.01.01 | #&
alo|l2|ois|ERREELE H21 30 4 | R21.12.31 | BEZE |mmmrvexoh H22.01.01 | #&
al0]2|0:5|EREELHE H22 30 45 | R22.12.31 | BEHE |mmesreioh H23.01.01 | &
al0f2]|0:5|/EEESAHE H23 30 4 | R23.12.31 | BEFE |mmresveiot H24.01.01 | %
al0]2|0:5|EREELME H24 30 4E | R24.12.31 | BEHE |wmexvexor| H24.01.01 | H25.01.01 | #K
al0f2]|0:5|/EEESHE H25 30 4 | R25.12.31 | BEHE |mmwsveior| H25.01.01 [ H26.01.01 [ K
al0]2|0 5| EREELE H26 30 4E | R26.12.31 | BEHE |wmexvexor| H26.01.01 | H27.01.01 | #K
2lol2lo 5lErEES® H27 30 48 | R27.12.31 | BE#E |wmesvoxor| H27.01.01 | H28.01.01 | #%
alof2]|0:5|/ERERELHE H28 30 4F | R28.12.31 | BEZE |wsmesveaor| H28.01.01 | H29.01.01 | #%
2l ol2lol s ErEEsm H29 30 4E | R29.12.31 | FE#E |wmewesor| H29.01.01 | H30.01.01 | %%
alof2]|0:5|/ERERAHE H30 30 4F | R30.12.31 | BEZE |wsmesveaor| H30.01.01 | H31.01.01 | #%
alol2|ois|EBEELE RO1 30 4F | R31.12.31 | FE%E |wmewveior| H31.01.01 [ RO2.01.01 | #&%
alof2]|0:5|/ERERELHE R0O2 30 4F | R32.12.31 | BEZE |wmesveaor| R02.01.01 | R0O3.01.01 |
alol2lo 5|FErZEEL @ RO3 30 4F | R33.12.31 | BEFE |wmesvesor| R03.01.01 | R0O4.01.01 | %




al0]2|0 5 |/EREELHE RO4 30 4F | R34.12.31 | BEZE |wmesvexob| R04.01.01 | R0O5.01.01 | #&
alof2]|05|BINEESXE RO5 30 4E | R35.12.31 | BEZE |mmesvesor| R05.01.01 | R06.01.01 | #%
al0]2]0:6|XETFANVEHE AT A AT A BRI
al0|2] 12| HBILEHRERR RO3 3 4 | R06.12.31 | BEHE |#mtrvcsor [ R0O3.01.01 | R04.01.01 | #K
al0]2]1:2|HBAMERE RO4 34F | RO7.12.31 | BEZE |#wstisrexor| R0O4.01.01 [ R05.01.01 | #K
al0|2]1:2|HRBILEHERK R05 3 4 | R08.12.31 | BEHE |#wtxcior[ R05.01.01 | R06.01.01 | #K
al0| 2|1 5| 3CEHRE-BERE RO1 54 | R06.12.31 | BEIE |#wswrcsor | H31.01.01 | R02.01.01 | %
al0| 2|1 5|3CEREE-BERE R0O2 5 4F | RO7.12.31 | BEFE |#wwwrreor| R02.01.01 | R03.01.01 | %
al0| 2|1 5| 3CEHEE-BERE RO3 54 | R08.12.31 | BEIE |#wswrcsor| R0O3.01.01 | R0O4.01.01 | %
al0| 2|1 5|3CERERE-BERE R04 5 4F | R09.12.31 | BEFE |#wwrreor | R04.01.01 | R05.01.01 | %
al0| 2|1 5| 3CEHRE-BERE RO5 54 | R10.12.31 | BEIE |#wswrcsor| R05.01.01 | R06.01.01 | %
al0f3]0: 2 |HEHHE B RO5 1 4 | R06.12.31 | BEFE |#mtrvesor| R0O5.01.01 | R06.01.01 [ %
al 10|15 |8EsE PRRAMRER RO5 1 4 [ R06.12.31 | BEHE |wwresor[ RO5.01.01 | R06.01.01 |  #%
all]2]0 1|3CE=RMIFAE RO3 3 4E | R06.12.31 | BEHE |#H 7414 | R03.01.01 | R04.01.01 |mmrins
all]2]0 1|3CE=RELE RO4 3 4F | RO7.12.31 | BE#E |4 7404 [ R04.01.01 | R05.01.01 | #K
al 12|01 |3CE=H M4 E R0O5 3 4 | R08.12.31 | BEZE A7+ | R05.01.01 | R06.01.01 | &
al1]2]0: 2|5 cE Kxdicks AR BEHE | woh e
al2[0]0; 1| A shimanEi H14 30 4E | R14.12.31 | BEZE |wmeseveiot H15.01.01 | #&
al2]0]0: 1| NFREHHMER H15 30 4F | R15.12.31 | BEZE |wmasccior H16.01.01 | &
al2[0]0: 1| A ahimanEi H16 30 4 | R16.12.31 | BEZE |wmeseveiot H17.01.01 | %
al2]0]0: 1| NFHREHHMERH H17 30 4F | R17.12.31 | BEZE |wmasvcior H18.01.01 | &
al2[0]07 1| A ahimanEi H18 30 4 | R18.12.31 | BEZE |wmeseveiot H19.01.01 | %
al2]0]0: 1| NFREHHMER H19 30 4F | R19.12.31 | BEZE |wmarccior H20.01.01 | &
al2[0[0: 1| ANFEEu@EMmERR H20 30 4E | R20.12.31 | FEEE |mmervcioh H21.01.01 | &




al210]0: 1| NFEEHAMEFH H21 30 A5 | R21.12.31 | BEZE |mmesve it H22.01.01 | #K
al2]0]0: 1| NFREhHHMERE H22 30 4F | R22.12.31 | BEFE |wmerrvexot H23.01.01 | #&
al2]0]0: 1 | A\gEEhim R H23 30 4 | R23.12.31 | BEIE |mmrmscveiot H24.01.01 | #&
al2]0]0: 1| \FREEHHMERR H24 30 4F | R24.12.31 | BEZE |wmesveaor| H24.01.01 | H25.01.01 |  #&
al210]0: 1| NFEEHAMELH H25 30 4F | R25.12.31 | BEZE |mmesveaor | H25.01.01 | H26.01.01 | #%
al2[0|07 1| A dhimanEi H26 30 4E | R26.12.31 | BEFE |mmesvesor| H26.01.01 | H27.01.01 | %
al210]0: 1| NFHEEHAMERH H27 30 4F | R27.12.31 | BEZE |wmesveaor| H27.01.01 | H28.01.01 |  #&
al2]0]|0: 1 | ANSEEHRHER H28 30 4F | R28.12.31 | BEIE |wmesvesor| H28.01.01 | H29.01.01 | #&
al210]0: 1| NFHEEHHMELH H29 30 4F | R29.12.31 | BEZE |wmesvexor| H29.01.01 | H30.01.01 |  #&
al2[0]0; 1| A dmhimanEiH H30 30 45 | R30.12.31 | BEHE |wmesveixon| H30.01.01 [ H31.01.01 | #K%
al210]0: 1| NFEEHAMEL RO1 30 4F | R31.12.31 | BEZE |wmesvesor| H31.01.01 | R02.01.01 | #&
al2[0]0: 1| A dhimaEiz RO2 30 45 | R32.12.31 | BEHE |wmesveixor| R02.01.01 [ R03.01.01 | #K
al210]0: 1| NFHEHHMEFH RO3 30 4F | R33.12.31 | BEZE |wmesveaor| RO3.01.01 | R04.01.01 | #&
al2[0]07 1| A tshimanEi RO4 30 45 | R34.12.31 | BE#E |wmesveixoh| R04.01.01 [ R05.01.01 | #K%
al210]0: 1| NFHEHHMEFH R05 30 4F | R35.12.31 | BEZE |wmesveaor| R05.01.01 | R06.01.01 | #&
al2]0]0: 2| EE S47 30 4F | R13.12.31 | BEIE |mmmsveioh H14.01.01 | &%
al2[0]0} 2| EfEEHE S48 30 4F | R13.12.31 | BEHE |wmesreion H14.01.01 | #&%
al2(0]|0} 2| nEREHE 549 30 45 | R13.12.31 | BEHE |mmesreioh H14.01.01 | #%
al2]0]|0:2|nEfEERE S50 30 4F | R13.12.31 | BEFE |wmesreioh H14.01.01 | &
al2]0]|0:2|mEfEERE S51 30 4 | R13.12.31 | BEZE |wmesvesot H14.01.01 | %
al2]0]|0:2|nEfEERE S52 30 4F | R13.12.31 | BEHE |wmesrexoh H14.01.01 | &
al2]0]|0:2|nEEER S53 30 4F | R13.12.31 | BEIHE |mmmsveioh H14.01.01 | &
al2]0]|0:2|nEfEERE S54 30 4F | R13.12.31 | BEFE |wmesrexoh H14.01.01 | &
al2([0]|0: 2| nEfREH S55 30 45 | R13.12.31 | BEHE |mmesreioh H14.01.01 | %




2(0|0: 2| nEREHE S56 30 4E | R13.12.31 | BEEE |wmesereiot H14.01.01 | %%
2100 2|EfRERE S57 30 4E | R13.12.31 | BEZE [wmerveioh H14.01.01 | %%
2[00 2| nEfEERE S58 30 4F | R13.12.31 | BEHE |mmesrrioh H14.01.01 | #&
2[00 2| nEfEER S59 30 4F | R13.12.31 | JEHE |wmerveiob H14.01.01 | #&
2(0|0i 2| mEREHE S60 30 4E | R13.12.31 | BEEE |mmesereiot H14.01.01 | %%
2100 2|EfRERE S61 30 4E | R13.12.31 | BEZE [wmerveioh H14.01.01 | %%
2(0]0: 2| nEfREHE S62 30 4E | R13.12.31 | BEHE |mmesvcion H14.01.01 | %%
2(0]0: 2| nEfREHE S63 30 4F | R13.12.31 | BEIE |mmeseveiot H14.01.01 | #%
2(0]0: 2| nEfREHE HO1 30 4E | R13.12.31 | BEHE |mmesvcion H14.01.01 | %%
2100 2|oEfEERE H02 30 4F | R13.12.31 | BEFE |wmesveiot H14.01.01 | %%
2(0]0i 2| nEfREHE HO03 30 4E | R13.12.31 | BEHE |mmesvcioh H14.01.01 | %%
2[00 2| mEfEEH HO04 30 4F | R13.12.31 | BEZE [mmexveior H14.01.01 | %%
2[00 2| nEEEHE HO5 30 4F | R13.12.31 | BEIE |mmmscvesot H14.01.01 | #%
2[00 2| nEfEERE HO06 30 45 | R13.12.31 | BEHE |mmesreioh H14.01.01 | &
2[00 2| nEEERE HO7 30 4F | R13.12.31 | BEIE |mmmscvesot H14.01.01 | #%
2[00 2| nEfEERE HO08 30 45 | R13.12.31 | BEHE |mmesreioh H14.01.01 | &%
2[00 2| nEEEHE H09 30 4F | R13.12.31 | BEIE |mmmscvesot H14.01.01 | #&%
2(0]0i 2| nEfREHE H10 30 4E | R13.12.31 | BEIE |wmeeveiot H14.01.01 | %%
2(0]0: 2| nEfREHE H11 30 4F | R13.12.31 | BEFE |wmesreioh H14.01.01 | &
2[00 2| nEfEERE H12 30 4F | R13.12.31 | BEHE |wmervciob H14.01.01 | &
2(0|0: 2| nEfREHE H13 30 4F | R13.12.31 | BEHE |wmesrexoh H14.01.01| %%
2[00 2| nEfEERE H14 30 4F | R14.12.31 | BEHE |wmervciob H15.01.01 | &
2(0]0: 2| nEfREHE H15 30 4F | R15.12.31 | BEFE |wmesretoh H16.01.01 | %%
2[00 2| nEfEERE H16 30 4F | R16.12.31 | BEHE |wmervcior H17.01.01 | &
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al2lo]oi 2|y E H17 30 4 | R17.12.31 | BEIE |mmescveiot H18.01.01 | &
al2lolo 2|l Es H18 30 4F | R18.12.31 | BEFE [mwmesrveiot H19.01.01 [ #&
al2lo]oi 2|y E H19 30 4 | R19.12.31 | BEIE |marescveiot H20.01.01 | %
al2lolo 2|k H20 30 4F | R20.12.31 | BEFE [mwmesrveiot H21.01.01 [ #&
al2lo]oi 2|y E H21 30 4 | R21.12.31 | BEIE |marescveiot H22.01.01 | &
al2lolo 2|yl Es H22 30 4F | R22.12.31 | BEFE [wmesrveiot H23.01.01 [ #&
al2|o|o2|yEsEE H23 30 4F | R23.12.31 | BEFE [mmerveioh H24.01.01 | #&
al2[0]0;: 2| pEfREH H24 30 4 | R24.12.31 | BEFE |mmwsveior| H24.01.01 [ H25.01.01 | #K
al2[0]0} 2| EfEEHE H25 30 4F | R25.12.31 | BEZE |wmesvesor| H25.01.01 [ H26.01.01 | #&
al2lolol 2 lsyaesssm H26 30 4F | R26.12.31 | FEZE |wmerresor| H26.01.01 [ H27.01.01 | #&%
al2[0]0: 2| EfEEHE H27 30 4F | R27.12.31 | BEZE |wmesvesor| H27.01.01 [ H28.01.01 | #&
al2[0]0} 2| EfREH H28 30 4 | R28.12.31 | BEHE |mmwsveior| H28.01.01 [ H29.01.01 [ #K
al2[0]0: 2| EHE H29 30 4F | R29.12.31 | BEZE |wmesvesor| H29.01.01 [ H30.01.01 | #%
al2lolo 2|ptesm H30 30 4F | R30.12.31 | BEFE |wmesvesor| H30.01.01 | H31.01.01 | %
al2(0]0} 2| EfEEHE RO1 30 4F | R31.12.31 | BEZE |wmewvesor| H31.01.01 [ RO2.01.01 |  #&
al2[0]0} 2| nEfREHE RO2 30 4F | R32.12.31 | BEHE |#mewvrior| R02.01.01 [ RO3.01.01 | #&%
al2lolo 2|pterm RO3 30 4E | R33.12.31 | BEFE |wmewvrsor| R03.01.01 [ RO4.01.01 | #K%
al2lolo 2|t R04 30 4E | R34.12.31 | BFEsE |#mesresor| R04.01.01 | R05.01.01 | %%
al2lo0|oi2|EisEEs RO5 30 47 | R35.12.31 | BEZEE |#me=veior| R05.01.01 [ R06.01.01 1S
al2lolola| =t RO5 1 42| R06.12.31 | FE3E |#wme=vexor| R05.01.01 | R06.01.01 iin
al2lslo 1 |rEsTEEmE RO3 345 | R06.12.31 | BEZE |#wsmrcwor| R0O3.01.01 | R0O4.01.01 | &
al2lslo 1|srEsiEpmms RO4 3 4E | R0O7.12.31 | FEZE |wmrvesor| RO4.01.01 | R0O5.01.01 | %
al2|5]0i1 (=L TEEHRE RO5 3 4 | R08.12.31 | BE3E |#wwsrexor| R05.01.01 | R06.01.01 1S
a2l 71 0l 1 e RO5 1 48 | R06.12.31 | BE#E [wmervesor| R0O5.01.01 | R06.01.01 | %
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al2|9]|0: 1| Bk ~EE BIfRA% RO5 1 47 [ R06.12.31 | BEHE |wistwrvexor [ RO5.01.01 | R06.01.01 | #K
al2]|9|0 4 |fERSHRE Lk RO3 3 4 | R06.12.31 | BEIE [#wswxrcior| R03.01.01 | R0O4.01.01 | &
al 219l ol 4lpens: meme RO4 3 4FE | RO7.12.31 | FgZE |w#stwsvraor| RO4.01.01 | R05.01.01 i
al 21904 |pleEnt RassnikE R0O5 3 4 | R08.12.31 | BE3E |#mwrrexor| R05.01.01 | R06.01.01 1S
al219]0:5|BF~RMEREE—EHK R03 3 4 | R06.12.31 | BEIE |=mrrresor| R03.01.01 | R04.01.01 i
al219]0:5|BEH R EE —-EF R04 3 4 | R07.12.31 | BE3E |#mmrrexor| R04.01.01 | R05.01.01 1S
al2lolo:5|BEH s E gL R05 3 4F | R08.12.31 | FEFE |wmstwrrexor| R05.01.01 | R06.01.01 K
al3lolol 2 [msmpmme RO5 1 £ | R06.12.31 | BEFE |=#swxrexor| R05.01.01 | R06.01.01 | %%
al3lo]o 3|mpcsazsi: R05 1 4| R06.12.31 | BEHE |#stwcrexor| R05.01.01 | R06.01.01 | %
al 3| 1|07 2| ek e e R05 1 4| R06.12.31 | BESE |=s&r+exor | R05.01.01 | R06.01.01 K
al3l2]oil|EEs H17 30 4 | R17.12.31 | BEIE |wmwcveiot H18.01.01 | &
alsl2loli|mms H18 30 45 | R18.12.31 | BEFE |ssimsve ol H19.01.01 | #&
al3l2]loil|EEs H19 30 4E | R19.12.31 | BEsE |smmeresot H20.01.01 | #&
alsl2loli|mms H20 30 45 | R20.12.31 | BEFE |#smsve ot H21.01.01 | #&
al3l2]loil|EEs H21 30 4E | R21.12.31 | BEE |smmererot H22.01.01 | #&
alsl2]loil|E®Es H22 30 4F | R22.12.31 | BESE |wwmerreson H23.01.01 | #&
al3l2]loil|EEs H23 30 4E | R23.12.31 | BEsE |smmereson H24.01.01 | #&
al3l2loi1|EEs H24 30 4F | R24.12.31 | FE3E |#wmwsvexor| H24.01.01 | H25.01.01 | #&
al3l2loi1|EEs H25 30 4F | R25.12.31 | BEZE |#mmsvexor| H25.01.01 | H26.01.01 | #%
al3l2lo 1|xEaE H26 30 4F | R26.12.31 | BEFE |#smsrexor| H26.01.01 | H27.01.01 |  #%
al3l2loi1|EEs H27 30 4F | R27.12.31 | BEFE |#mwrrexor | H27.01.01 | H28.01.01 | #%
al3l2lol 1 |[zwaE 128 30 4E | R28.12.31 | FEZE |wwwerrosor | H28.01.01 | H29.01.01 |  #%
al3l2lo1|EEs H29 30 4F | R29.12.31 | BESE |wwmtmrrexor | H29.01.01 | H30.01.01 |  #%
a|3l2lol 1 |zwaE H30 30 4E | R30.12.31 | BFE3E |msteresor| H30.01.01 | H31.01.01 | %%




3[2]0:1|EXEAIE RO1 30 48 | R31.12.31 | FEZE |wmmrveson | H31.01.01 | R02.01.01 |  #%
320 1|FER R02 30 4 | R32.12.31 | BEFE |mwstwerexok| R02.01.01 | R03.01.01 | #K
3[2]0: 1 [EEAE RO3 30 4£ | R33.12.31 | FEZE |wwmrveron | RO3.01.01 | R0O4.01.01 |  #%
3201 |XEs R04 30 4£ | R34.12.31 | BE#E |#mwrroxor| R04.01.01 | RO5.01.01 | #%
3201 |XEs R05 30 4E | R35.12.31 | FEZE |#mwerresor| RO5.01.01 | R06.01.01 |  #%
32|02 |kEREI—F b3 T Go BEFE |emurreiot Giin
3210 3|REEKHK RO3 3 4E | R06.12.31 | BEZHE |#mtwrvcsor [ R0O3.01.01 | R04.01.01 | #%
3120 3 |FFRLGE RO4 3 4F | R07.12.31 | BEHE |#msvexor| R04.01.01 | R05.01.01 | #K%
32103 |REEKHK R05 3 4E | R08.12.31 | BEZHE |#smtwr+csor [ R05.01.01 | R06.01.01 | #%
4lo]1:0 Bﬁénaﬁﬁﬁwﬁ%i& RO5 1 4 | R06.12.31 | BEFE |#mtrvesor| R0O5.01.01 | R06.01.01 [ %
5(210: 6 [#AEARFHMS H26 10 4 | R06.12.31 | BEHE |mmersvexor | H26.01.01 | H27.01.01 | #K
5[2[0:6 %EE&%&%IEBEKiﬁﬁfﬁ H27 10 45 [ R07.12.31 | BE3E |mmexvesor| H27.01.01 | H28.01.01 | &
5(210: 6 [#ABARFHME H28 10 4F | R08.12.31 | BEHE |waexveaor| H28.01.01 | H29.01.01 [  #%
5[2[0 6 |#MAEREGEEES H29 10 45 [ R09.12.31 | FEHE [wmervesor| H29.01.01 | H30.01.01 | &
5[2]0: 6 |[HRAEBREFHEES H30 10 4F | R10.12.31 | BEFE |wme=veaor| H30.01.01 | H31.01.01 | %%
5[2[0 6 |#MAEREGEEES RO1 10 45 | R11.12.31 | BE3E [mmexvesor| H31.01.01 | R02.01.01 | %
5(2]0: 6 |[HRAEBREFHEIS R0O2 10 4F | R12.12.31 | BEFE |wme=veaor| R0O2.01.01 | R03.01.01 | %%
5[2[0 6 |#MAEREGFEEES RO3 10 45 | R13.12.31 | BE3E |wmexvesor| R03.01.01 | R0O4.01.01 | %
5[2]0: 6 |[HRAEBRFHEES RO4 10 4E | R14.12.31 | FEZE |mmesvesor| R04.01.01 | R05.01.01 | %%
5(2]0: 6 [ RFHMS R05 10 4 | R15.12.31 | BE#E |mmesvesor| R05.01.01 | R06.01.01 | #%
52|10 3|aiflRaESE H26 10 4F | R06.12.31 | BEZE |wmw=rexor | H26.01.01 | H27.01.01 | #%
52|10 3|aiflRaES s H27 10 4F | RO7.12.31 | BE#E |wmesveson | H27.01.01 | H28.01.01 | %
521 3|aiflRaESpE H28 10 4F | R08.12.31 | BEZE [wme=rexor| H28.01.01 | H29.01.01 | #%
5(2]1: 3 |AiFHRS 4 P H29 10 4F | R09.12.31 | BEEE [wmesvesror | H29.01.01 | H30.01.01 | #%




52| 1:3|niktRAEFE P& H30 10 4 | R10.12.31 | FEFE |mme=veaor| H30.01.01 | H31.01.01 | #%
521 3|aiRRaES G RO1 10 48 | R11.12.31 | BEZE [wmesvesor | H31.01.01 | R02.01.01 | #%
521 3 |AiktiaS EAE B RO2 10 4 | R12.12.31 | FEFE |#mexveaor| R0O2.01.01 | R03.01.01 | #%
52|13 |aiRRaES G RO3 10 48 | R13.12.31 | BEZE [wmesvesor | R0O3.01.01 | R04.01.01 | #%
52 1: 3 |AiktiAS EAE B RO4 10 4 | R14.12.31 | FEFE |#me=veaor| R04.01.01 | R05.01.01 | %
52|10 3|aiRlRaES G RO5 10 48 | R15.12.31 | BEZE [wmesvesor | R0O5.01.01 | R06.01.01 | #%
5215 |8 EFAA RS EAE B H26 10 4F | R06.12.31 | BEZE [wme=resor | H26.01.01 | H27.01.01 |  #E
5215 Lk EEE H27 10 4 | R07.12.31 | BESE |mmesvesor | H27.01.01 | H28.01.01 | #K
5215 |8 EFRA RS EAE B H28 10 4F | R08.12.31 | BEZE [wme=resor | H28.01.01 | H29.01.01 |  #E
521 5| EARSEEHRE H29 10 4F | R09.12.31 | BEFE [wmasresor | H29.01.01 | H30.01.01 | #%
5215 |8 EFAA RS EAE B H30 10 4F | R10.12.31 | BEZE [wme=resor | H30.01.01 | H31.01.01 |  #E
51215 |5 LA RESESHE RO1 10 45 | R11.12.31 | BE3E |mmexvesor| H31.01.01 | R02.01.01 | %
52|15 |5 LA RASESIRE RO2 10 4F | R12.12.31 | BEZE [wme=rexor| R02.01.01 | R03.01.01 | #%
521 5|5 LARSEEHE RO3 10 45 | R13.12.31 | BEZE [wmwsresor | R03.01.01 | R04.01.01 | #&
51215 |5 LA RASESIRE R04 10 4F | R14.12.31 | BEZE [wme=rexor| R04.01.01 | R05.01.01 | #%
512|155 LAERSEEIHE R0O5 10 45 | R15.12.31 | BE3E [mmexvesor| R05.01.01 | R06.01.01 | %
52 1:9|fhvEiiA Rtk F RS P H26 10 4F [ R06.12.31 | BEIE [wmwxveaok| H26.01.01 | H27.01.01 | %
5219 |fivEiHA IR FEIR S T PR H27 10 4E | R07.12.31 | BEZE |mmexvesor| H27.01.01 | H28.01.01 | %
5210 9|fhvEiHA MRS P H28 10 45 [ R08.12.31 | BEHE |mmeveior| H28.01.01 | H29.01.01 | &
5219 |fivEiHARMRFEM ST PR H29 10 4 | R09.12.31 | BE#E |mmesrvesor| H29.01.01 | H30.01.01 |  #%
521 9|fvEdA AR RS P H30 10 45 [ R10.12.31 | BEHE |mmevesor| H30.01.01 | H31.01.01 | &
521 9|fivEiHARMRFEM ST PLE RO1 10 4 | R11.12.31 | BE#E |mmervesor | H31.01.01 | R02.01.01 | #%
5219 |fhvEdA Rtk F RS P R02 10 45 [ R12.12.31 | BEFE |mmexveior| R02.01.01 | R03.01.01 | &
52| 19 |fivE A Bt F I R E 4 P RO3 10 48 | R13.12.31 | BEEE [wmesvexor| R0O3.01.01 | R04.01.01 | #%




L Ter| e SR D | e | G| R | e
al5(2]1:9|fyLEFHARERFHRSEEHE RO4 10 4F [ R14.12.31 | BEIE [wmuxvesok| R04.01.01 [ R05.01.01 | %
alb5[2]|1:9|fyLEHARRFHBESTEHE RO5 10 45 [ R15.12.31 | BEFE |mmexvesor| R05.01.01 | R06.01.01 | &
al5(2]2:0|<H0FHA B LRI IR o B H26 10 4F [ R06.12.31 | BEFE [wmusveiok| H26.01.01 | H27.01.01 | &
alb5[2]20|<ALTHARILRFH OB BE H27 10 45 [ R07.12.31 | BEFE |mmexvesor| H27.01.01 | H28.01.01 | &
al5(2]20|<HLFHABICRF IR o B H28 10 4F [ R08.12.31 | BEFE [wmusveaok| H28.01.01 | H29.01.01 | &
alb5(2]20|<ALTHARILRFH PO BE H29 10 48 | R09.12.31 | BEZE |wmesvesr | H29.01.01 | H30.01.01 | %
al 52| 2 0|<ALHHARIRF KA EE P H30 10 48 | R10.12.31 | BEZE |wmesvesor| H30.01.01 | H31.01.01 | ¢
al5|2]2: 0|<ALFABIRFTRKAEEE P E RO1 10 4F | R11.12.31 | BEFE [wmasvexor | H31.01.01 | R02.01.01 | #%
al5|2]2 0|<ALHHARIRFEKAEEE P R0O2 10 45 | R12.12.31 | BEZE |mme=vesor| R02.01.01 | R03.01.01 | %%
al5|2]2 0|<ALF AR FIKEEE PR E RO3 10 4F | R13.12.31 | BEFE [wmasveror| R03.01.01 | R04.01.01 | #%
al5|2]2: 0|<ALHHARIRF KA P RO4 10 4F | R14.12.31 | BEZE |wmasvesor| R04.01.01 | R05.01.01 | ¢
al5|2]2: 0|<ALF AR FTRKAEEE P E RO5 10 4F | R15.12.31 | BEFE [wmasrexor | R05.01.01 | R06.01.01 | #%
alb|2]2 1|5 LEREEE PRE (flik) H26 10 4F | R06.12.31 | BEHE |wmm=resor| H26.01.01 | H27.01.01 | %
al5]2]2 1| & L& EEIE (L) H27 10 45 | RO7.12.31 | BEZE |wmesveson| H27.01.01 | H28.01.01 |  #E
al5|2|2: 1|5 LRSS EEBE (k) H28 10 4F | R08.12.31 | BEHE |waexvesor| H28.01.01 | H29.01.01 [  #%
al5]2]2 1| & L& EEIE (L) H29 10 45 | R09.12.31 | BEZE |wmesresor| H29.01.01 | H30.01.01 |  #E
al5|2|2: 1|5 LRSS EEHE (k) H30 10 4F | R10.12.31 | BEHE |waexvesor | H30.01.01 | H31.01.01 | #%
al5|2|2 1|& LIRS EEHE (L) RO1 10 4F | R11.12.31 | B [wmesvesor | H31.01.01 | R02.01.01 | #%
al5|2]2 1|5 LiiERASEEEHE (k) R02 10 4F | R12.12.31 | BEFE |mmesvexor| R0O2.01.01 | RO3.01.01 | #%
alb|2]2 1|5 LA RSEE HE (Alk) RO3 10 4E | R13.12.31 | FE3E |smexvesor| R03.01.01 | R04.01.01 | %%
al5|2]2 1|5 LiERASEEEE (k) R04 10 4F | R14.12.31 | BESE |wmesveror | R04.01.01 | RO5.01.01 | #%
alb(2]2 1|5 LA RSEE HE (Blk) RO5 10 4E | R15.12.31 | BE3E |smexvesor| R05.01.01 | R06.01.01 | %%
al5]2]2: 2| LA REEEHE D) H26 10 4F | R06.12.31 | FEHE |wmesveaok | H26.01.01 | H27.01.01 | #%
al5|2]|2i2|H kRS EEIE I H27 10 4E | R07.12.31 | BEZE |mmexvesor| H27.01.01 | H28.01.01 | %%




alb5(2]|2: 2|5 FAMRSEEHE(IR) H28 10 4F [ R08.12.31 | BEIE [wmusveiok| H28.01.01 | H29.01.01 | &
al5|2]2 2| & EFAERESESHE (L) H29 10 48 | R09.12.31 | BEEE [wmesveror | H29.01.01 | H30.01.01 | #%
alb5(2]2: 2|5 FHAMRSEEHE () H30 10 45 | R10.12.31 | BEZE [wmwsvesor | H30.01.01 | H31.01.01 | #&
alb|2]2: 2| & EFAERESESHE(IL) RO1 10 48 | R11.12.31 | BEZE [wmesvesor | H31.01.01 | R02.01.01 | #%
alb5(2]2i2|5H FHAMRSEEHE () R02 10 4F [ R12.12.31 | BEFE [wmuxvesok| R0O2.01.01 [ R03.01.01 | %
al5|2]2: 2|y LA EE B (<I0) RO3 10 A | R13.12.31 | BEHE |wawsvesor| R03.01.01 | R04.01.01 [ #%
alb5(2]2 2|5 EIAMRSEEHE () RO4 10 45 | R14.12.31 | BEZE |mme=vesor| R04.01.01 | R05.01.01 | %
alb|2|2 2|5 il RaEEBE L) RO5 10 45 [ R15.12.31 | BE3E |mmexvessr| R05.01.01 | R06.01.01 | %
blO|1]|1:0|AFI&EME 304E A BREE |wawsvexob K
b1[3]0 1[&E%%MHhEERK H26 10 4F | R06.12.31 | BEFE [wmasveror | H26.01.01 | H27.01.01 | #%
b|1]3]0: 1[&%%EHiHRSBEGRH H27 10 4 | RO7.12.31 | BEHE |mmersvexor | H27.01.01 | H28.01.01 |  #K
b1[3[0 1[&E%%EH#ESERK H28 10 4F | R08.12.31 | BEFE [wmasveonr | H28.01.01 | H29.01.01 | #%
b| 13|01} 1 [Z22E Wik BRH& H29 10 4F | R09.12.31 | BEHE |wmervesor | H29.01.01 | H30.01.01 | #%
b[1[3[0:1 &5 HiEs bR H30 10 4F | R10.12.31 | BEFE [wmesvexor | H30.01.01 | H31.01.01 | #%
b| 13|01} 1 [E22E Wik BR& RO1 10 4F | R11.12.31 | BEHE |wmeveror | H31.01.01 | RO2.01.01 | #%
b|1]3]0: 1[5 HiHESBEREK R0O2 10 45 | R12.12.31 | BE3E |mmexvesor| R02.01.01 | R03.01.01 | %
b| 13|00} 1 [Z22E Wik PR RO3 10 4F | R13.12.31 | BEHE |wmesveror| RO3.01.01 | RO4.01.01 | #%
b[1[3[0:1 &5 ik BItRME RO4 10 4F | R14.12.31 | B [wmesvexor | R04.01.01 | R05.01.01 | #%
b|1]3|0} 1 [&22E Wik BItRE RO5 10 4F | R15.12.31 | BEFE |wmesvexor| R05.01.01 | R06.01.01 | #%
el2|{0f0: 1 |HEMFEESR H14 30 4F | R14.12.31 | BEHE |#stwrverot H15.01.01 | &
el2]0]0: 1 |HEMKEHEA H15 30 4F | R15.12.31 | BEZE |wwtmrvcior H16.01.01 | &
el2|o]0! 1 |EEMREHRA H16 30 4F | R16.12.31 | BEFE |mwmveior H17.01.01 | %
el2]0]0: 1 |HEMKEHEA H17 30 4F | R17.12.31 | BEZE |wwmtmrvcior H18.01.01 | &
el2|0|0: 1|REEMREIHE H18 30 45 | R18.12.31 | BEHE |wmmswsreioh H19.01.01 | %




2[00 1[HE@EMREHANRE H19 30 4 | R19.12.31 | BEE |wwstrrretoh H20.01.01 | &
2100 1 [BE & AR H20 30 45 | R20.12.31 | BEIE |wmstrerveion H21.01.01 | %%
2[00 1[HE@EMREHANR H21 30 4E | R21.12.31 | BEE |wmstrrretoh H22.01.01 | #&
2100 1 [BEHxRE AR H22 30 45 | R22.12.31 | BEFE |wmstrerveioh H23.01.01 | %%
2[00 1[HEEMREHAME H23 30 4FE | R23.12.31 | BEE |wmstrrre b H24.01.01 | #&
2[00 1[HEEMREERE H24 30 45 | R24.12.31 | BEHE |wmwrvesoh | H24.01.01 [ H25.01.01 | #K
2[00 1[HE@EMRE AN H25 30 4F | R25.12.31 | BEZE |wmswsresor | H25.01.01 | H26.01.01 |  #&
2[00 1[HEEMREHER H26 30 45 | R26.12.31 | BEHE |wmwrvesor| H26.01.01 [ H27.01.01 | #K
2[00 1[HE@EMRE AN H27 30 4F | R27.12.31 | BEZE |wmsswsreror | H27.01.01 | H28.01.01 |  #&
2[00 1[HEEMREHER H28 30 45 | R28.12.31 | BEHE |wmwrvesoh| H28.01.01 [ H29.01.01 | #K
2[00 1[HE@EMRE AN H29 30 4F | R29.12.31 | BEZE |wmsswsvesor | H29.01.01 | H30.01.01 | &
2[00 1[HEEMREHER H30 30 A5 | R30.12.31 | BEHE |smmwsveson| H30.01.01 [ H31.01.01 | #K%
20|01 |EEMRRE AR RO1 30 A% | R31.12.31 | BEFE |wmswesrcior| H31.01.01 [ RO2.01.01 | #K
2[00 2[HEMREHER H26 10 45 [ R06.12.31 | FEHE [mistervesor| H26.01.01 | H27.01.01 | %
20|02 |EENMHE AR H27 10 4F [ RO7.12.31 | BEIE [ssiwervesor| H27.01.01 | H28.01.01 | %
2[00 2[HEMREHER H28 10 45 [ R08.12.31 | FEHE [mistervesor| H28.01.01 | H29.01.01 | %
20|02 | EEHE AR H29 10 4F [ R09.12.31 | BEIE [ssiwervesor| H29.01.01 | H30.01.01 | %
2[00 2[HEMREHER H30 10 4F | R10.12.31 | BEHE [#wswxrexor | H30.01.01 | H31.01.01 | #%
20|02 |EEMRRE AR RO1 10 4F | R11.12.31 | BESE [#stwsresor | H31.01.01 | R02.01.01 | #%
2[00 2[HEEMREHEIR RO2 10 4 | R12.12.31 | BEHE |#smevexor [ R02.01.01 | R03.01.01 | #%
20|02 |EEMRHE AR RO3 10 4F | R13.12.31 | BESE [#wstwsreor | R0O3.01.01 | R04.01.01 | #&
2[00 2[HEEMREHER RO4 10 4F | R14.12.31 | FEFE |miswrveaok| R04.01.01 | R05.01.01 | %%
20|02 |HEEMRRE AR RO5 10 47 | R15.12.31 | BEIE [#siwrvesor| R0O5.01.01 [ R06.01.01 | %
2(0]10 3|HEHYEARE RO3 34 | R06.12.31 | BEZE |msterveior | R0O3.01.01 | R0O4.01.01 | %
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el2|0]0: 3|FEEMYE4E RO4 3 4£ | RO7.12.31 | BEZE |wmwrrowor | R04.01.01 | R05.01.01 | %
e|2]|0|0 3|REHLELE R05 3 4 | R08.12.31 | BEZE |wiswrresok| R05.01.01 | R06.01.01 | &%
el2]0|04|EsZmal(ZEST) H28 30 4F | R28.12.31 | BEZE |wmmarexor | H28.01.01 | H29.01.01 | %
el2lolo 5|®2EpmE RO1 5 4 | R06.12.31 | BEZE |#mwrrexor | H31.01.01 | R02.01.01 | #%
el2[0]0: 5 |REEBILRM RO2 54 | RO7.12.31 | BEZE |swswsrewor | R0O2.01.01 | RO3.01.01 | #%
el2]10|0:5|LEERE R03 5 4 | R08.12.31 | BE3E |#mmwrrexor| R03.01.01 | R04.01.01 ko
el2lo]o 5|82mEpaes R04 5 4 | R09.12.31 | FeE |#mtevexot | RO4.01.01 | R05.01.01 S
el210|0:5|LEBIRE R0O5 54 | R10.12.31 | FE3E |=#mwrrexor| R05.01.01 | R06.01.01 K
el2lo]o 6|82mEpaes RO3 3 4F | R06.12.31 | BESE |#msrreaor| R03.01.01 | R04.01.01 S
el2]0|0 6|82mEpaaE R0O4 34 | R07.12.31 | BEZFE |#mwrroxor | R04.01.01 | R05.01.01 | #%
el2lolo 6|®2mEpaes R05 3 4 | R08.12.31 | BEZE |#mimrrexot | R05.01.01 | R06.01.01 | #%
el2lolo: 7|HEEGEE RO5 1 | R06.12.31 | BEZE |=#mtrx+exor| R05.01.01 | R06.01.01 K
el2lo0]o0i9|¥sE iz RO3 3 4E | R06.12.31 | BEZE |#mmxroxor| R0O3.01.01 | RO4.01.01 | #%
el2]0]0:9|i5miEER R04 34E | RO7.12.31 | BEsE |=mmsrcaor| R04.01.01 | R05.01.01 #E
el2l0]o0i9|¥sEiEpiz R05 3 4E | R08.12.31 | BEZE |#mmxrexor| R05.01.01 | R06.01.01 | #%
el2lo]| 11 |HEa-f i S iER RO5 1 4| R06.12.31 | BESE |=smr+exor | R05.01.01 | R06.01.01 AN
el2lol| 15 |#Hs (2ERER) R05 1 4£ | R06.12.31 | BEHE |wmstexresor| RO5.01.01 | R06.01.01 | #%
el2lol 16| Eniz RO5 1 | R06.12.31 | BEZE |[=#mtrerexor| R05.01.01 | R06.01.01 K
el2lo]2iol|wzmsmz RO1 5 4 | R06.12.31 | BEZE |#msmxreaor | H31.01.01 | RO2.01.01 | #%
el2lo]2: o|urerEsEas R0O2 5 4F | R0O7.12.31 | Fg#E |=#mrvexor| R02.01.01 | R03.01.01 iin
el2l0]2:0|#rEeEEEI% R0O3 5 4F | R08.12.31 | BE3E |#mter+esor| R03.01.01 | R04.01.01 | #&
el2lo]2: 0wz R04 5 4F | R09.12.31 | Fg#E |=#mwrvexor| R04.01.01 | R05.01.01 iy
el2l0]2:0|#rEyEE A% RO5 54 | R10.12.31 | BE3E |#wmwsrrexor| R05.01.01 | R06.01.01 1S
el2lo] 22 |rgEseiiE RO1 54 | R06.12.31 | BEFE |wsmaresor | H31.01.01 | R02.01.01 AN




L Ter| e SR D | e | G| R | e
el2]0]2: 2R ELLEE R02 5 4F | R07.12.31 | BEFE |#mwsrexor| R02.01.01 | R03.01.01 | 4K
e|2]|0]2 2[BEREADIE R03 5 4 | R08.12.31 | BEHE [wwwsreror| RO3.01.01 | RO4.01.01 | 4%
e|2|0]|2: 2 |HkEEEZEE RO4 5 4F | R09.12.31 | BEZE |##stisrexor| R0O4.01.01 | R05.01.01 | #K
e|2|0f2 2|HEEEDHRE R05 5 4 | R10.12.31 | BEdE |wmterveron | R05.01.01 | R06.01.01 | %
el2]0]2: 3 |WL)yHAR Bk i R05 1 A | R06.12.31 | BEFE [#stmsrvesor| R0O5.01.01 | R06.01.01 [ %
e|2]|0]2 5B T HE RO1 5 4 | R06.12.31 | BEZE |wmssrcan | H31.01.01 | R02.01.01 | #%
el2|0]|2:5|FBTEBAGE R0O2 5 4F | R07.12.31 | BEZE |#wssrexor| R02.01.01 [ R03.01.01 | #K
el2|0|25|BEFEBEHGE RO3 5 4F | R08.12.31 | BEHE |#mssvexor| R03.01.01 | R04.01.01 |  #K%
el2|0]|2: 5| B TEBHGE RO4 5 4F | R09.12.31 | BEZE |#sssrexor| R0O4.01.01 [ R05.01.01 | #K
el2|0|2:5|EFEEHGE RO5 5 4F | R10.12.31 | BEZE |#mssvexor| R05.01.01 | R06.01.01 | #K%
el2]0]3:3|FnZEES MM E S BRI RO3 5 4F | R08.12.31 | BEZE |#sstsrexor| R03.01.01 [ R04.01.01 | #K
e|2(0] 33 |FphlEEES - YR & BIRHK RO4 5 4F | R09.12.31 | BEHE |#msvexoh| R04.01.01 | R05.01.01 |  #K%
e|2(0| 33| Fphl BT EF - [ B & A BARE RO5 5 4F | R10.12.31 | BEFE |#sssrexor| R05.01.01 [ R06.01.01 | #K
el2]0]3:5|BENEEHEEMGR RO3 3 4E | R06.12.31 | BEHE |#miwrvcior [ R0O3.01.01 | R04.01.01 |  #&%
e|2]|0]|3: 5| BN HLEILR RO4 34F | RO7.12.31 | BEFE |#wssrexor| R04.01.01 | R05.01.01 | #K
e|2]0]|3 5|BEERFER R05 3 4% | R08.12.31 | BEFE |wwresot| R05.01.01 [ R06.01.01 [ %
e|2|0]3 9| EEHIESHELR RO3 3 4F | R06.12.31 | PEHE |wsstesveaor| R03.01.01 [ RO4.01.01 |  #&
e|2|0] 39|58 EEHESSHERIR R04 3 4F | RO7.12.31 | BEFE |#wwwrresor| R04.01.01 | R05.01.01 | %
e[2]0]3 9 [BHEEHAHS 5B RO5 3 4F | R08.12.31 | Bgse [wmterreon | R05.01.01 | R06.01.01 | %
e| 2| 0|5 3|7 EEHMEIRE RO5 1 4F | R06.12.31 | BEHE |wmmrreaor| RO5.01.01 | R06.01.01 |  #E
ef2]1]0 2 [MXPIFR RO3 3 4% | R06.12.31 | BEsE [wmwrecrr]| RO3.01.01 | RO4.01.01 | 4%
e|2]| 1[0]2[#XRALR RO4 345 | RO7.12.31 | BEZE |wmimsvexor | RO4.01.01 | RO5.01.01 |
ef2|1]0] 2 [MXPIFR RO5 34 | R08.12.31 | BESE [wmwrrcrr]| R05.01.01 | R06.01.01 | 4%
el2]1]0: 3|AHMIAE R05 1 4| R06.12.31 | BEFE |#strerexor| R0O5.01.01 | R06.01.01 | #%




y|[7[0[0:1 [ EELpHEREHE RO3 34| R06.12.31 | BEHE |#stxresok| RO3.01.01 | R04.01.01 | &K
y|7]0]0: 1 [ER2LFEHEHE RO4 34| RO7.12.31 | BEFE [mwswresor| R04.01.01 | R05.01.01 | %
y|7[0[0:1 [ eHREHEE RO5 3 4 | R08.12.31 | BEZE |wiswrresok| R05.01.01 | R06.01.01 | &%
yv|7]0] 0} 2 | e R B R RO3 3 4E | R06.12.31 | BEFE [mszewrcer | R0O3.01.01 | R0O4.01.01 | %
v|7(0]0 2|22 EHEIREE R04 3 4E | R07.12.31 | BEHE |mszesmeior [ R04.01.01 | R05.01.01 | #%
v| 70|02 | a2 AR RBIR R RO5 3 4 | R08.12.31 | BEZE [mexeweir| R05.01.01 | R06.01.01 | &
yv|7]0]0: 5|82k IR bR B S BEIRM L | RO3 1 45| R04.12.31 | BEZE |wwzewcreor| RO3.01.01 | RO4.01.01 | &
yv|7]0]0: 5|5 Mk EhZ B bRk il | Ro4 1 4| R05.12.31 | BEHE [sszewrecior| R04.01.01 | R05.01.01 | %
v| 7[00 5 | R EE BB GCEE | RO5 1 45| R06.12.31 | BEZE |wwzewcreor| R0O5.01.01 | R06.01.01 | &




£2 (FR) ESEINT S
0| 1[0] 6 |FHmER H15 R15.12.31 N RN H16.01.01| %%
0] 1]0][6 |fBHmiEE H18 R18.12.31 SRR e R H19.01.01 | @&
0f1]0]|6 |fIHiEERE H19 R19.12.31 N RN H20.01.01 | &
0] 1]0][6 |fBHmiEE H22 R22.12.31 SRR e R H23.01.01 | @&
0] 1]0][6 |pHmEE H23 R23.12.31 LHIF e R H24.01.01 | %%
Of1]0]|6 |FIHimEE H24 R24.12.31 aftmrvexok | H24.01.01 [ H25.01.01 | %
0f1]0]|6 |BIHlEER H25 R25.12.31 adtmrreroh | H25.01.01 | H26.01.01 |
Of1]0]|6 |FIHimEE H26 R26.12.31 aftmrvexor | H26.01.01 [ H27.01.01 | %
0f1]0]|6 |BIHlEER H28 R28.12.31 adtmrveroh | H28.01.01 | H29.01.01 | &
Of1]0]|6 |FIHimEE H29 R29.12.31 aftmrvexor | H29.01.01 [ H30.01.01 | %
112|011 |3CFEZHMAE RO3 R06.12.31 aitmrveroh | R0O3.01.01 | R04.01.01 | #%
L|2|0] 1 |3CEI4 RO4 R07.12.31 aftmrvexok | R04.01.01 [ R05.01.01 | %
12|01 |3CFEZHMAE R05 R08.12.31 aitirvesok | R05.01.01 [ R06.01.01 | %




N ‘ Ar )& I e
LET A R R | AEE AR O R
0[0|0: 1 |EaHk H18 30 4F | R18.12.31 | BEFE |Hgkl= H19.01.01| #&
0[0|0: 1 |iEaHk H19 30 4 [ R19.12.31 | BEZE |HIF&Erl= H20.01.01 | %
0[0|0: 1 |iEaHk H20 30 4F [ R20.12.31 | BEFE |HIdgkl= H21.01.01| #&
0[0|0: 1 |iEaHkk H21 30 4 | R21.12.31 | BEZE |HIF&rl= H22.01.01 | %
0]10]0:2|[FECER S57 30 4 | R13.12.31 | BE3E |[MIFERI= H14.01.01 | #&
0[0]0: 2 |FECERE S58 30 4F [ R13.12.31 | BEZE |HIF&EEI= H14.01.01 | &
0[o]o: 2 /w\%jcif& S59 30 45 | R13.12.31 | B |FIF&Ekl= H14.01.01 [ %
0]0[0}2|FEE S60 30 4F [ R13.12.31 | BEZE |HIF&EEI= H14.01.01 | &
0[o]o 2 /ﬁ\i%jc%ﬁ%‘i S61 30 45 | R13.12.31 | B |FIF&Ekl= H14.01.01 [ %
0[0]0: 2 |FECERE S62 30 4F [ R13.12.31 | BEZE |HIF&EEI= H14.01.01 | &
0[0]0 2|5 CEH S63 30 45 | R13.12.31 | BE3#E |FIF@Ekl= H14.01.01 [ #%
0[0]0: 2 |FEcER HO1 30 4¢ | R13.12.31 | BEZE |RIgEigpla H14.01.01 [ #&
0[0]0; 2|5 CEH H02 30 4F | R13.12.31 | BEZE |FIEgkl= H14.01.01 [ #%
0]10]0:2|[FECER HO3 30 4F | R13.12.31 | BEZE |FIFEE= H14.01.01 | #&
0[0]0; 2|5 CEH HO04 30 45 | R13.12.31 | BE#E |HIF@Ekl= H14.01.01 [ #%
0]10]0:2|[FECER HO5 30 4F | R13.12.31 | BEZE |FIFEE= H14.01.01 | #&
0[0]0 2| FECERE HO06 30 45 | R13.12.31 | BE3#E |FIF@kl= H14.01.01 [ #%
0]0[0}2|FECER HO7 30 4F | R13.12.31 | FEZE |HE&k=E H14.01.01 | &
0[0]0 2| FECERE HO8 30 45 | R13.12.31 | BE3#E |FIF@kl= H14.01.01 | %
0]0[0}2|FECERH HO09 30 4F | R13.12.31 | BEZE |HE&k=E H14.01.01 | &
0[0]0 2| FECERE H10 30 45 | R13.12.31 | BE3E |FIF@kl= H14.01.01 [ #%
0]0[0: 2 |FECER H11 30 4F | R13.12.31 | BEZE |FIE&k=E H14.01.01 | &
0[0|0 2 |ECER H12 30 4 [ R13.12.31 | BEZE |FIF&rb= H14.01.01 | %




al0]0|0:2|FECER H13 30 4F [ R13.12.31 | BEIE |HIFEE= H14.01.01 | #&
al0]0]0i2|FEEsrER H14 30 45 | R14.12.31 | BEHE |FIF&k= H15.01.01 [ #&
al0]0|0: 2|FECER H15 30 4F [ R15.12.31 | BEZE |HIFEE=E H16.01.01 | #&
al0]0]0i2|AEEsrER H16 30 45 | R16.12.31 | BEHE |FIF&p= H17.01.01 [ #&
al0]0|0:2|mECER H17 30 4F [ R17.12.31 | BEZE |HIFEE= H18.01.01 | #&
al0]0]0}2|AEEsrER H18 30 45 | R18.12.31 | BEHE |FIF&p= H19.01.01 [ #&
al0|0]0}2|AEErERK H19 30 45 | R19.12.31 | B3 |FIF&kl= H20.01.01 | %
al0]0|0 2| mECER H20 30 4F [ R20.12.31 | BEZE |HIF&EEI= H21.01.01 | &
al0|1]0i6|fFIHEER S57 30 45 | R13.12.31 | B |FIF&Ekl= H14.01.01 [ %
al0] 1|0 6|fFIHEERH S58 30 4F [ R13.12.31 | BEZE |HIF&EEI= H14.01.01 | &
al0|1]0i6|fFIHEER S59 30 45 | R13.12.31 | B |FIF&Ekl= H14.01.01 [ %
al0] 1|0 6|fFIHEERH S60 30 4F [ R13.12.31 | BEZE |HIF&EEI= H14.01.01 | &
al0|1[0:6|pIHEER S61 30 45 | R13.12.31 | BE3E |[MIFERI= H14.01.01 | #&
al0] 1|06 |fFIHEERH S62 30 4F [ R13.12.31 | BEZE |HE&EEI= H14.01.01 | &
al0]| 1[0 6 |fFIHmER S63 30 45 | R13.12.31 | BE#E |HIF@Ekl= H14.01.01 | %
al0] 1|0 6|fFIHEERH HO1 30 4F [ R13.12.31 | BEIE |HFE&EEI= H14.01.01 | &
al0|1[0:6|pIHEER HO02 30 4 | R13.12.31 | BE3E |[MIFERI= H14.01.01 | #&
al0] 1[0 6|fFIHEERH HO03 30 4F [ R13.12.31 | BEIE |HFE&EEI= H14.01.01 | &
al0]| 1[0 6 |fFIHmER HO4 30 45 | R13.12.31 | BEZE |FIF&EE= H14.01.01 | %
al0]| 1|0 6|fFIHEERH HO05 30 45 | R13.12.31 | BE#E |HIE&k= H14.01.01 | &
al0[1]0:6|FIHEEE HO06 30 45 | R13.12.31 | BEZE |FIF&EE= H14.01.01 | %
al0] 1|06 |fFIHEERH HO7 30 45 | R13.12.31 | BE#E |HIE&= H14.01.01 | &
al0[1]0:6|fFIHEEE HO8 30 45 | R13.12.31 | BEZE |FIF&EE= H14.01.01 | %
al0] 1|0 6|fFIHEER H09 30 45 | R13.12.31 | BEHE |FIE&kl= H14.01.01 | &
al0] 1|0 6|fFIHEER H10 30 45 | R13.12.31 | BE3E |FIF&pl= H14.01.01 [ #&




o[1]0i6 H11 30 4F | R13.12.31 | BEFE |Hgkl= H14.01.01 [ %
of1]{0i6 H12 30 45 | R13.12.31 | BEHE |FIF&p= H14.01.01 [ #&
of1]0i6 H13 30 4F | R13.12.31 | BEFE |Hgkl= H14.01.01 [ %
0[1[{0:i6 H14 30 4= | R14.12.31 | BE3E |[FMIFEkl= H15.01.01 | #&
of[1]{0i6 H15 30 4F | R15.12.31 | BEFE |Hgkl= H16.01.01 [ %
0|1[{0i6 H16 30 4= | R16.12.31 | BE3E |[FIFEkl= H17.01.01 | #&
of1]{0i6 H17 30 45 | R17.12.31 | B3 |FIF&kl= H18.01.01 [ %
of1]0i6 H18 30 45 | R18.12.31 | BEHE |FIF&pl= H19.01.01 [ &
of1]{0i6 H19 30 45 | R19.12.31 | B3 |FIF&kl= H20.01.01 | %
of1]{0i6 H20 30 45 | R20.12.31 | BEHE |FIF&pl= H21.01.01 [ &
of1]{0i6 H21 30 45 | R21.12.31 | BEEE |FIF&Ekl= H22.01.01 | %
of1]{0i6 H22 30 45 | R22.12.31 | BEZE |FIF&p= H23.01.01 [ #&
o[1]{0:6 H23 30 45 | R23.12.31 | BE#E |HIF&Ekl= H24.01.01 [ #%
o|1[{0i6 H24 30 4 | R24.12.31 | BEHE |RI=E&Rl=| H24.01.01 | H25.01.01 | #K
o[1]{0i6 H25 30 4 | R25.12.31 | BEZE |FIFE&kl=| H25.01.01 [ H26.01.01 | #&
0|1[{0i6 H26 30 4 | R26.12.31 | BEHE |HI=E¥kl=| H26.01.01 | H27.01.01 | #K
of1]{0i6 H27 30 4 | R27.12.31 | BEZE |HIFE&kl=| H27.01.01 [ H28.01.01 | #&
0|1[{0i6 H28 30 4 | R28.12.31 | BEHE |RI=E¥kl=| H28.01.01 | H29.01.01 | #K
0[1[{0:6 H29 30 45 | R29.12.31 | BE3E |FIF&k=| H29.01.01 [ H30.01.01 | #&
of1]0i6 H30 30 45 | R30.12.31 | BE#E |FIE&@l=| H30.01.01 | H31.01.01 | #%
of1]{0:7 H26 10 45 | R06.12.31 | BEZE [FIF&el=| H26.01.01 | H27.01.01 | #&
of1]{0:7 H27 10 45 [ R07.12.31 | BEZE |Figrkt==| H27.01.01 [ H28.01.01 | &
of1]0 7 H28 10 4% | R08.12.31 | BE3E [Flgv&kl=2| H28.01.01 | H29.01.01 | #&
of1]0:i7 H29 10 45 [ R09.12.31 | BEZE |FFlgrgkt==| H29.01.01 [ H30.01.01 | &K
of1]{0:i7 H30 10 4F [ R10.12.31 | BEZE FiF&kl==| H30.01.01 [ H31.01.01 | &




al0| 1|0 7|fFIHEER RO1 10 & | R11.12.31 | BE3E [HI#E&Ri=| H31.01.01 | R02.01.01 | #K
al0|1]0i7|fFIHiEER R02 10 45 | R12.12.31 | BEZE [JIF&E=| R02.01.01 | R03.01.01 | #&
al0] 1|0 7| EER RO3 10 & | R13.12.31 | BE3E [HI#E&E=| R03.01.01 | R04.01.01 | #K
al0|1]0i8|—fkimiEHk RO1 54| R06.12.31 | BEZE FIF&hl=| H31.01.01 | R02.01.01 [ &
al0[1]0:9|—fiEEkH RO3 3 4E | R06.12.31 | BEZE |FIFEEIE| R03.01.01 | R04.01.01 | #&
alo|1]1i5[@ESs% RO1 54| R06.12.31 | BEZE FIF&hl=| H31.01.01 | R02.01.01 [ &
al0| 1|15 [mmnssii R02 5 4F | RO7.12.31 | BE3E |FIF&EEE| R02.01.01 | R03.01.01 | #&
al0|1]1:5[@EnseEi RO3 5 4F | R08.12.31 | BEZE |FIF&ERIE| R03.01.01 | R04.01.01 [ #K
alO0f1]1:6[MmEnZEHH R03 3| R06.12.31 | BEZE |FIE&E=| R03.01.01 [ R04.01.01 | &
al0f1]1:6[mEnsi R04 3 4F | RO7.12.31 | BEZE |FIFERIE| R04.01.01 | R05.01.01 [ #K
alo|1]1}6[@mmeEs RO5 3 4| R08.12.31 | BEZE [FIF&EE| R05.01.01 | R06.01.01 | #&
all1|2]0i 1 |[CEZFRMARE RO3 3 4F | R06.12.31 | BEHE |FIE&EE=[ R03.01.01 | R04.01.01 | #&
al 1|20 1 |sCEZRMA4E RO4 3 4 | R07.12.31 | BEZE |FFIF&EHIE| R04.01.01 | R05.01.01 [ &
all1|2]0 1 |[CEZRMA M RO5 3 4F | R08.12.31 | BEHE |FIF&E=| R05.01.01 | R06.01.01 | #K
al5(0]0}3LIeFMH= PR S61 30 45 | R13.12.31 | BE#E |HIF@Ekl= H14.01.01 | %
al5]0]0i3 LIRS PR S62 30 45 | R13.12.31 | BE#E |FIE&p= H14.01.01 [ #&
al5(0]0i3LIeFMH=PHiE S63 30 45 | R13.12.31 | BE#E |HIF@Ekl= H14.01.01 [ #%
al5]0]0i 3 [ALIRF{ PR HO1 30 45 | R13.12.31 | BE#E |FIE&p= H14.01.01 [ #&
al5]0(0: 3| LIEFZEE HO02 30 45 | R13.12.31 | BEZE |FIF&EE= H14.01.01 | %
al5]0]0i3 [ALI-F{~2 PR HO03 30 4F | R13.12.31 | BEZE |H#&kl= H14.01.01 [ %
al|5[0]0:3 LI FM PR HO4 30 45 | R13.12.31 | BEZE |FIF&EE= H14.01.01 | %
al|5(0]0:3 LI Bl HO05 30 4F [ R13.12.31 | BEIE |HEFEEI= H14.01.01 | &
al5(0]0}3LIeFEM= P& HO06 30 45 | R13.12.31 | BE3E |FIF@kl= H14.01.01 [ #%
al5]0]0i 3 [ALI-F{ PR HO7 30 4F [ R13.12.31 | BEZE |Hgpl= H14.01.01 [ %
al5(0]0i3ALIeFEM=PhE HO8 30 45 | R13.12.31 | BE3E |FIF&pl= H14.01.01 [ #&




al5]0(0 3|FLFRFMF=ZEEE H09 30 4 [ R13.12.31 | BEZE |HgERl= H14.01.01 [ %
al5(0]0i3BLIeEM=PRiE H10 30 45 | R13.12.31 | BEHE |FIF&p= H14.01.01 [ #&
al5|0(0: 3|LFRFFZEEE H11 30 4 [ R13.12.31 | BEZE |HgERl= H14.01.01 [ %
al5(0]0i3ALIeFEM= P& H12 30 45 | R13.12.31 | BEHE |FIF&p= H14.01.01 [ #&
al5]0(0: 3| LIRFFZEEE H13 30 45 [ R13.12.31 | BEZE |HgErl= H14.01.01 [ %
al5(0]0}3ALIeEM= P& H14 30 45 | R14.12.31 | BEHE |FIF&k= H15.01.01 [ #&
al5(0]0}3ALIeFi= PR H15 30 45 | R15.12.31 | B |FIF&kl= H16.01.01 | %
al5]0]0i3 [LIRE{2 PR H16 30 45 | R16.12.31 | BEHE |FIF&p= H17.01.01 [ #&
al5(0]0i3ALIeFi=PriE H17 30 45 | R17.12.31 | B3 |FIF&kl= H18.01.01 [ %
al5]0]0i 3 [ALIRF2 PR H18 30 45 | R18.12.31 | BEHE |FIF&pl= H19.01.01 [ &
al5(0]0i3ALIeFi= PR H19 30 45 | R19.12.31 | B3 |FIF&kl= H20.01.01 | %
al5]0]0i 3 [ALIRF PR H20 30 45 | R20.12.31 | BEHE |FIF&pl= H21.01.01 [ &
al5(0]0}3LIeFM= P H21 30 45 | R21.12.31 | BE#E |FIF&Ekl= H22.01.01 [ #&
al5|0|0; 3SR FF PR H22 30 4 | R22.12.31 | BEFE |kl H23.01.01 [ &
al5(0]0}3LIeFMH= PR H23 30 45 | R23.12.31 | BE#E |HIF&Ekl= H24.01.01 [ #&
al5|0|0 3LSRFFBRE H24 30 4 | R24.12.31 | BEHE R kl=| H24.01.01 [ H25.01.01 | #K
al5(0]0i3LIeFMH=PHiE H25 30 4 | R25.12.31 | BEZE |FIFE&kl=| H25.01.01 [ H26.01.01 | #&
al5|0|0 3ILSRFF R H26 30 4 | R26.12.31 | BEHE R kl=| H26.01.01 [ H27.01.01 | #K
al5(0]0i3LIeFEM= P& H27 30 4 | R27.12.31 | BEZE |HIF&kl=| H27.01.01 [ H28.01.01 | #&
al|5(0]0:3 LI Bl H28 30 4F [ R28.12.31 | BEZE |FIF&EkF=E| H28.01.01 | H29.01.01 | #&
al5(0]0}3LIeFEM= P& H29 30 4 [ R29.12.31 | BEZE |HIF&kb=| H29.01.01 [ H30.01.01 | #&
al|5(0]0:3 LI Bl H30 30 4F [ R30.12.31 | BEZE |FIF&EkF=E| H30.01.01 | H31.01.01 | #%
al5]0[0: 4| LFRFLFuLEEiE S58 30 45 | R13.12.31 | BE3E |FIF@kl= H14.01.01 [ #%
al|5[0]0:4 LI eriE S59 30 4F [ R13.12.31 | BEZE |HIFE&EEI= H14.01.01 | &
al5(0]0i4LIEFMpliE S60 30 45 | R13.12.31 | BE3E |FIF&pl= H14.01.01 [ #&




al5]0[0 4|FLFRFFuLEEiE S61 30 4F | R13.12.31 | BESE |HIF&kl= H14.01.01 [ %
al5(0]0i4LIEEMpriE S62 30 45 | R13.12.31 | BEHE |FIF&p= H14.01.01 [ #&
al5]0[0: 4|FLFRFOFuLEEiE S63 30 4F | R13.12.31 | BESE |HIF&kl= H14.01.01 [ %
al5[0]0i4LIeEMrriE HO1 30 45 | R13.12.31 | BEHE |FIF&p= H14.01.01 [ #&
al5]0[0: 4 LFRFOFLEEiE HO02 30 4F | R13.12.31 | BESE |HIF&kl= H14.01.01 [ %
al5]0]0}4LIEEMrriE HO03 30 45 | R13.12.31 | BEHE |FIF&p= H14.01.01 [ #&
al5[0]0}4FLIeFMrniE HO04 30 45 | R13.12.31 | B |FIF&Ekl= H14.01.01 [ %
al5]0]0i4[LIRF{LPRE HO05 30 45 | R13.12.31 | BEHE |FIE&p= H14.01.01 [ #&
al5[0]0i4FLIeFMeniE HO06 30 45 | R13.12.31 | B |FIF&Ekl= H14.01.01 [ %
al5]0]0i4[SLIRF{LPRE HO7 30 45 | R13.12.31 | BEHE |FIE&p= H14.01.01 [ #&
al5[0]0i4FLIeFMrniE HO8 30 45 | R13.12.31 | B |FIF&Ekl= H14.01.01 [ %
al5]0]0:4[LIRF{LPRE HO09 30 45 | R13.12.31 | BEHE |FIE&p= H14.01.01 [ #&
al5[0]0}4LIeFM0rRE H10 30 45 | R13.12.31 | BE3#E |FIF@Ekl= H14.01.01 [ #%
al5|0|0; 4 FL5RFFALERTE H11 30 4 | R13.12.31 | BEFE |kl H14.01.01 [ #&
al5(0]0}4LIEFM0rRE H12 30 45 | R13.12.31 | BE#E |HIF@Ekl= H14.01.01 [ #%
al5|0|0 4FL5RFFALERTE H13 30 4 | R13.12.31 | BEFE |HIFEkl= H14.01.01 [ #&
al5(0]0;i4[LIEFM0rRE Hi14 30 45 | R14.12.31 | BE3#E |HIF&Ekl= H15.01.01 [ #%
al5|0|0 4FL5RFFALERTE H15 30 4 | R15.12.31 | BEFE |kl H16.01.01 [ #&
al5]0[0: 4 |FLIRFLFuLEEiE H16 30 4F | R16.12.31 | BE3E |FIF@Ekl= H17.01.01 [ #%
al|5(0]0:4 LI et H17 30 4F [ R17.12.31 | BEZE |HEFEEI= H18.01.01 | &
al5]0[0: 4| FLIRFLFuLEEiE H18 30 4F | R18.12.31 | BE#E |FIF@Ekl= H19.01.01 [ #%
al|5(0]0:4 LI eriE H19 30 4F [ R19.12.31 | BEIE |HEFEEI= H20.01.01 | &
al5]0[0: 4| LFRFLFuLEEiE H20 30 45 | R20.12.31 | BEHE |FIF@Ekl= H21.01.01 [ #%
al|5[0]0:4 LI eriE H21 30 4F [ R21.12.31 | BEZE |HIEFEEI= H22.01.01 | &
al5(0]0i4LIEFMpliE H22 30 45 | R22.12.31 | BE3E |FIF&kl= H23.01.01 [ #&




al5]0[0 4|FLFRFFuLEEiE H23 30 4F [ R23.12.31 | BEFE |Hgkl= H24.01.01 | %
al5(0]0i4LIEEMpriE H24 30 45 | R24.12.31 | BEHE I | H24.01.01 | H25.01.01 | #&
al5]0[0: 4|FLFRFOFuLEEiE H25 30 45 | R25.12.31 | B Rl H25.01.01 | H26.01.01 | #&%
al5[0]0i4LIeEMrriE H26 30 45 | R26.12.31 | BEHE |FIF&@pi=| H26.01.01 | H27.01.01 | #&
al5]0[0: 4 LFRFOFLEEiE H27 30 45 | R27.12.31 | BEZEE Rl H27.01.01 | H28.01.01 |  #&%
al5]0]0}4LIEEMrriE H28 30 45 | R28.12.31 | BEHE |FIF&pl=| H28.01.01 | H29.01.01 | #K
al5[0]0}4FLIeFMrniE H29 30 4 | R29.12.31 | BEZE |FIF&Ekb==| H29.01.01 [ H30.01.01 [ &
al5(0]0i4|% “%@@fiﬁﬁ; H30 30 45 | R30.12.31 | BEZE |FIE&pl=| H30.01.01 | H31.01.01 | #&
z|5]0]0: 43Ik F - ALER H31 30 4 | R31.12.31 | BE3E |FIFE&E==| H31.01.01 [ R02.01.01 | &
al5[0]0i6 /ﬁ\ﬁzéﬁﬂz% H26 10 4F [ R06.12.31 | BEZE |FlEgkl==| H26.01.01 [ H27.01.01 | &
al5[0]0i6|mRFERE H27 10 4 [ RO7.12.31 | BE3E [RIF&Erb=| H27.01.01 [ H28.01.01 [ %
al5]0]0:6|mkiEkiE H28 10 45 [ R08.12.31 | BEZE |Fifgkl==| H28.01.01 [ H29.01.01| &
al5[0]0}6|mIkEEKE H29 10 45 | R09.12.31 | BEZE [FIF&el=| H29.01.01 | H30.01.01 | #&
al5[0]0%6|mkeEkiE H30 10 4% | R10.12.31 | BEZE [JF#&klEE| H30.01.01 | H31.01.01 |  #&
al5]0[0 6|mIkEER®E RO1 10 45 | R11.12.31 | BEZE [AiF&el=| H31.01.01 | R02.01.01 | #&
al5[0]0i6|mkeEkiE R0O2 10 4% | R12.12.31 | BEZE [JflF&klEE| R02.01.01 | R03.01.01 | #&
al5[0]0i6|mIREEKE RO3 10 45 | R13.12.31 | BEZE [FIF&El=| R03.01.01 | R04.01.01 | #&
al5[0]0i6|mkaEkiE RO4 10 4% | R14.12.31 | BEZE & klEE| R04.01.01 | R05.01.01 | #&
al5[0]0}6|mIkEEKE R05 10 4F | R15.12.31 | BEZE [ kl=| R05.01.01 | R06.01.01 | #&
al5|0]| 11 |FpHGE RO3 3 4E | R06.12.31 | BEZE HIF&EE| R03.01.01 | R04.01.01 | #&
al5(0]1:1|FEHEE R04 3 4E | RO7.12.31 | BEZE |FIF&rtE| R04.01.01 | R05.01.01 [ #&
al5|0]| 11 |FRHGE RO5 3 4E | R08.12.31 | BEZE FF&HE| R05.01.01 | R06.01.01 | #&
al5|0]1i2|BRFMHEERE S30 30 45 | R13.12.31 | BE3E |FIF@kl= H14.01.01 [ #%
al5|0|1 2|BEFEMIEEE S31 30 4¢ | R13.12.31 | BEZE |FIgEgpl= H14.01.01 [ %
al5|0|1 2|BEFMIEHERE S$32 30 45 | R13.12.31 | BE3E |FIF&pl= H14.01.01 [ #&




al5|0|1 2| BREFIIEERE S33 30 4F | R13.12.31 | BESE |HIF&kl= H14.01.01 [ %
al5|0|1 2| BEFIEHERE S34 30 45 | R13.12.31 | BEHE |FIF&p= H14.01.01 [ #&
al5|0|1 2|BREFIIEERE S35 30 4F | R13.12.31 | BESE |HIF&kl= H14.01.01 [ %
al5|0|1: 2| BEFMIEHERE S36 30 45 | R13.12.31 | BEHE |FIF&p= H14.01.01 [ #&
al5|0|1: 2| BREFIIEERE S37 30 4F | R13.12.31 | BESE |HIF&kl= H14.01.01 [ %
al5|0|1: 2| BEFMIEHERE S38 30 45 | R13.12.31 | BEHE |FIF&p= H14.01.01 [ #&
al5|0| 1 2| BREFMFEHEE S39 30 4F | R13.12.31 | BEFE |FEgkl= H14.01.01| #&
al5|0]1i2|EBEREIfEEE S40 30 4F | R13.12.31 | BEHE |FE@hl= H14.01.01 [ #&
al5|0]1i2|BRFMHHER S41 30 45 | R13.12.31 | B |FIF&Ekl= H14.01.01 [ %
al5|0]1i2|EREIIfREE S42 30 4F | R13.12.31 | BEHE |FE@hl= H14.01.01 [ #&
al5|0|1 2|BEFMIEHEE S43 30 4F | R13.12.31 | BEFE |FEgkl= H14.01.01| #&
al5|0]1i2|EREIFEE S44 30 4F | R13.12.31 | BEHE |FE@hl= H14.01.01 [ #&
al5|0]1}2|BRFHHER S45 30 45 | R13.12.31 | BE3#E |FIF@Ekl= H14.01.01 [ #%
al5|0|1: 2| BREEMIEEE 546 30 4¢ | R13.12.31 | BEZE |RIgEigpla H14.01.01 [ #&
al5|0]1]2|BRFHHER 547 30 45 | R13.12.31 | BE#E |HIF@Ekl= H14.01.01 [ #%
alb|0|1 2|BEFMIEEE 548 30 4¢ | R13.12.31 | BEZE |RIgEigpla H14.01.01 [ #&
al5|0]1i2|BRFHHER S49 30 45 | R13.12.31 | BE#E |HIF@Ekl= H14.01.01 [ #%
al5|0|1 2|BREFMIEEE S50 30 4¢ | R13.12.31 | BEZE |RIgEigpla H14.01.01 [ #&
al5|0]1}2|BERFMHHEEE S51 30 45 | R13.12.31 | BE3#E |FIF@kl= H14.01.01 [ #%
al5|0|1: 2|BREEMIEERE S52 30 4¢ | R13.12.31 | BEZE |FIgEgpla H14.01.01 [ %
al5|0]1]2|BERFMHHEEE S53 30 45 | R13.12.31 | BE3#E |FIF@kl= H14.01.01 [ #%
al5|0|1: 2| BREEMIEERE S54 30 4¢ | R13.12.31 | FEZE |RIggpla H14.01.01 [ %
al5|0]1i2|BRFMHEERE S55 30 45 | R13.12.31 | BE3E |FIF@kl= H14.01.01 [ #%
al5|0|1 2|BEFEMIEEE S56 30 4¢ | R13.12.31 | BEZE |FIgEgpl= H14.01.01 [ &
al5|0|1 2|BEFMIEHERE S57 30 45 | R13.12.31 | BE3E |FIF&pl= H14.01.01 [ #&




al5|0|1 2| BREFIIEERE S58 30 4 [ R13.12.31 | BEZE |HgERl= H14.01.01 [ %
al5|0|1 2| BEFIEHERE S59 30 45 | R13.12.31 | BEHE |FIF&p= H14.01.01 [ #&
al5|0|1 2|BREFIIEERE S60 30 4 [ R13.12.31 | BEZE |HgERl= H14.01.01 [ %
al5|0|1: 2| BEFMIEHERE S61 30 45 | R13.12.31 | BEHE |FIF&p= H14.01.01 [ #&
al5|0|1: 2| BREFIIEERE S62 30 45 [ R13.12.31 | BEZE |HgErl= H14.01.01 [ %
al5|0|1: 2| BEFMIEHERE S63 30 45 | R13.12.31 | BEHE |FIF&p= H14.01.01 [ #&
al5|0]1]2|BRFHfHEER HO1 30 45 | R13.12.31 | B |FIF&Ekl= H14.01.01 [ %
al5|0]1i2|EBEREIfEEE HO02 30 4 | R13.12.31 | BEZE |HIF&rl= H14.01.01 [ #&
al5|0| 1 2|BEFMIEHEE HO3 30 4F | R13.12.31 | BEFE |FEgkl= H14.01.01| #&
al5|0]1i2|EREIIfREE HO4 30 4 | R13.12.31 | BEZE |HIF&rl= H14.01.01 [ #&
al5|0|1 2|BEFMIEHEE HO5 30 4F | R13.12.31 | BEFE |FEgkl= H14.01.01| #&
al5|0]1i2|EREIFEE HO06 30 4 | R13.12.31 | BEZE |HIF&rl= H14.01.01 [ #&
al5|0|1:2|BEFHEHEHE HO7 30 4 | R13.12.31 | BE3E |MIFE&ER= H14.01.01| #&
al5|0|1: 2| BREEMIEEE HO8 30 4¢ | R13.12.31 | BEZE |RIgEigpla H14.01.01 [ #&
al5|0|1i2|BEFHEHEE HO09 30 4 | R13.12.31 | BE3E |HIFE&ER= H14.01.01| #&
alb|0|1 2|BEFMIEEE H10 30 4¢ | R13.12.31 | BEZE |RIgEigpla H14.01.01 [ #&
al5|0|1:2|BEFMHEHEHE H11 30 4 | R13.12.31 | BE3E |HIFE&ER= H14.01.01| #&
al5|0|1 2|BREFMIEEE H12 30 4¢ | R13.12.31 | BEZE |RIgEigpla H14.01.01 [ #&
a|5|0|1: 2|BRFHIEERE H13 30 45 | R13.12.31 | BE3E |[HIFERI= H14.01.01 | #&
al5|0|1: 2|BREEMIEERE H14 30 4¢ | R14.12.31 | BEZE |RIgEgpla H15.01.01 [ %
a|5|0|1 2|BRFMHIEERE H15 30 45 | R15.12.31 | BE3E |[HIFERI= H16.01.01 | &
al5|0|1: 2| BREEMIEERE H16 30 4¢ | R16.12.31 | BEZE |FIgEg kb H17.01.01 [ %
a|5|0|1: 2|BRFHIEERE H17 30 45 | R17.12.31 | BE3E |[HIFERI= H18.01.01 | &
al5|0|1 2|BEFEMIEEE H18 30 4¢ | R18.12.31 | FEZE |FIgEgpl= H19.01.01 [ &
al5|0|1 2|BEFMIEHERE H19 30 45 | R19.12.31 | BE3E |FIF&kl= H20.01.01 [ &




al5|0|1 2| BREFIIEERE H20 30 45 [ R20.12.31 | BEZE |HFgERl= H21.01.01 | %
al5|0|1 2| BEFIEHERE H21 30 45 | R21.12.31 | BEHE |FIF&k= H22.01.01 [ &
al5|0|1 2|BREFIIEERE H22 30 4 [ R22.12.31 | BEZE |HF&ERl= H23.01.01 [ %
al5|0|1: 2| BEFMIEHERE H23 30 45 | R23.12.31 | BEHE |FIF&k= H24.01.01 [ #&
al5|0|1: 2| BREFIIEERE H24 30 45 | R24.12.31 | BEZEE HI¥&l=| H24.01.01 | H25.01.01 |  #&%
al5|0|1: 2| BEFMIEHERE H25 30 45 | R25.12.31 | BEHE |FIF&pl=| H25.01.01 | H26.01.01 | #&
al5|0|1 2[BERFMFEHEHE H26 30 45 | R26.12.31 | BEZE |FIsgrle| H26.01.01 | H27.01.01 | #&
al5|0]1i2|BEFMIfEE H27 30 4 | R27.12.31 | BEZE |HI&kb=| H27.01.01 [ H28.01.01 | #%
al5|0|1: 2 BRFMFEHEHE H28 30 45 | R28.12.31 | BEZE |FIggrles| H28.01.01 | H29.01.01 | #&
al5|0]1i2|EREIIfREE H29 30 4% | R29.12.31 | BEFE |MIsF&kl=| H29.01.01 | H30.01.01 | #K
al5|0|1: 2 [BRFMFEHEHE H30 30 45 | R30.12.31 | BEZE |FI%grle| H30.01.01 | H31.01.01 | #&
al5|0|1: 2| BRFEMIEERE RO1 30 45 | R31.12.31 | BEZE I kiE| H31.01.01 | R02.01.01 | #&
al5|0]1i2|FERFHHEHERE R02 30 4 | R32.12.31 | BEZE |HIFE&EEI=| R02.01.01 [ R03.01.01 | #&
al5|0|1: 2| BREEMIEEE RO3 30 4% | R33.12.31 | BEFE |MIF&kl=| R03.01.01 | R04.01.01 | #K
al5|0]1i2|BREFMHEHEE RO4 30 45 | R34.12.31 | BEZE &k R04.01.01 | R05.01.01 | #%
alb|0|1 2|BEFMIEEE RO5 30 4% | R35.12.31 | BEFE |MIF&kl=[ R05.01.01 | R06.01.01 | #K
al5(0|1 6 KR RO3 34 [ R06.12.31 | BE#E [RIF&Ht=[ R03.01.01 [ R04.01.01 | &%
al5]0|1;6|[KRCHkE RO4 34F | RO7.12.31 | BEZE |FIF&E=| R04.01.01 | R05.01.01 | #K
a|5|0|1:6|&RCEE RO5 3 4| R08.12.31 | BEZE |MIF&ki=| R05.01.01 [ R06.01.01 | #&
alb| 1|07 1 |#eEeE s E (FETIHk) & RO3 34 [ R06.12.31 | BE3E [HIFkt=| R03.01.01 [ R04.01.01 [ #%
alb5[1[0 1|#k5 %%I(E(%#%I#L)if& RO4 3 4F | R07.12.31 | BE#E |FIE&EE=[ R04.01.01 | R05.01.01 | #&
alb| 1|07 1 |#eEedE s (FaEg k) Ei RO5 34| R08.12.31 | PBEZE [lF&AlE| R05.01.01 | R06.01.01 | #&
al5|2]0;i2|GEL I IRAFTE S57 30 4F [ R13.12.31 | BEZE |FIEgkl= H14.01.01 | %
al5|2]0i2 Gl RA7 S58 30 4¢ | R13.12.31 | BEZE |FIgEgpl= H14.01.01 [ &
alb5|2|0: 2 |GEUIEIRAETE S59 30 45 | R13.12.31 | BE3E |FIF&pl= H14.01.01 [ #&




al5|2|0 2 |FEHULERAr S60 30 4F | R13.12.31 | BEFE |Hgkl= H14.01.01| #&
al5|2]0} 2RI RAEE S61 30 45 | R13.12.31 | BEHE |FIF&p= H14.01.01 [ #&
al5|2|0 2 |G LEA7 S62 30 4F | R13.12.31 | BEFE |Hgkl= H14.01.01| #&
al5|2]0}2 Rl RAEE S63 30 45 | R13.12.31 | BEHE |FIF&p= H14.01.01 [ #&
al5|2|0 2 |FEHU A7 HO1 30 4F [ R13.12.31 | BEFE |Hgkl= H14.01.01| #&
al5|2]0i2 Rl RAEE HO02 30 45 | R13.12.31 | BEHE |FIF&p= H14.01.01 [ #&
alb5|2|0 2 |FEILELRAETE HO03 30 45 | R13.12.31 | B |FIF&Ekl= H14.01.01 [ %
al5|2]0i2 Gl IRA7 HO4 30 4F | R13.12.31 | BEHE |FE@hl= H14.01.01 [ #&
alb5|2|0: 2 |FEHLIECRA 7 & HO05 30 45 | R13.12.31 | B |FIF&Ekl= H14.01.01 [ %
al5|2]0}2 Gl IRA7 HO06 30 4F | R13.12.31 | BEHE |FE@hl= H14.01.01 [ #&
alb|2|0: 2 |FEILELCRA 7 & HO7 30 45 | R13.12.31 | B |FIF&Ekl= H14.01.01 [ %
al5|2]0i2 Gl IIRA7 HO8 30 4F | R13.12.31 | BEHE |FE@hl= H14.01.01 [ #&
al5|2|0: 2GR ERAT HO09 30 4F | R13.12.31 | BEZE |FIEgkl= H14.01.01 | %
al5|2]0i 2GR IARA7 H10 30 4¢ | R13.12.31 | BEZE |RIgEigpla H14.01.01 [ #&
al5|2|0: 2 |FEIU R H11 30 4F | R13.12.31 | BEZE |FIEgkl= H14.01.01 | %
al5|2]0i 2GR RA7 H12 30 4¢ | R13.12.31 | BEZE |RIgEigpla H14.01.01 [ #&
al5|2|0 2GR ERAT H13 30 4F | R13.12.31 | BEZE |FIEgkl= H14.01.01 | %
al5|2]0} 2GR IRA7 H14 30 4E | R14.12.31 | BEZE |FIgEig kb= H15.01.01 [ #&
al5]|2|0; 2 |GEUIFIRAETE H15 30 45 | R15.12.31 | BE3#E |FIF@kl= H16.01.01 [ #%
al5|2]0i 2GR RA7 H16 30 4¢ | R16.12.31 | FEZE |FIgEg ke H17.01.01 [ %
al5|2|0 2 |FEUIEIRAETE H17 30 45 | R17.12.31 | BE3E |HIF@Ekl= H18.01.01 [ #%
al5|2]0i 2 FELRA7 H18 30 4¢ | R18.12.31 | FEZE |FIgigpla H19.01.01 [ %
al5|2]0;i2|GEL I IRAFTE H19 30 4F | R19.12.31 | BEZE |FIEigkl= H20.01.01 | %
al5|2]0i2 Gl RA7 H20 30 4¢ [ R20.12.31 | BEZE |RIgEgpla H21.01.01 [ &
alb5|2|0: 2 |GEUIEIRAETE H21 30 4F | R21.12.31 | BE3E Ikl H22.01.01 [ #&




al5|2|0 2 |FEHULERAr H22 30 4F | R22.12.31 | BEFE |Hgkl= H23.01.01 | #&
al5|2]0} 2RI RAEE H23 30 45 | R23.12.31 | BEHE |FIF&k= H24.01.01 [ #&
al5|2|0 2 |G LEA7 H24 30 4F | R24.12.31 | BEFE |FI#F&kl==| 124.01.01 [ H25.01.01 [ &
al5|2]0}2 Rl RAEE H25 30 45 | R25.12.31 | BEHE |FIF&pl=| H25.01.01 | H26.01.01 | #&
al5|2|0 2 |FEHU A7 H26 30 4F | R26.12.31 | BEFE |FI#F&kla=| 1126.01.01 [ H27.01.01 [ %
al5|2]0i2 Rl RAEE H27 30 45 | R27.12.31 | BEHE |FIE&@pli=| H27.01.01 | H28.01.01 | #&
alb5|2|0 2 |FEILELRAETE H28 30 4 | R28.12.31 | BEZE |FIF&Ekb==| H28.01.01 [ H29.01.01 [ &
al5|2]0i2 Gl IRA7 H29 30 45 | R29.12.31 | BEZE FIE&pl=| H29.01.01 | H30.01.01 | #&
alb5|2|0: 2 |FEHLIECRA 7 & H30 30 4 [ R30.12.31 | BEZE |FIF&kb==| H30.01.01 [ H31.01.01 [ &
al5]|2|0 3|FEHL A B GE H12 30 4F | R13.12.31 | BEHE |FE@hl= H14.01.01 [ #&
alb|2|0: 3 |G E P& H13 30 45 | R13.12.31 | B |FIF&Ekl= H14.01.01 [ %
al5|2|0 3|FEIL A B H14 30 4F | R14.12.31 | BEHE |FIE@kl= H15.01.01 [ &
al5|2]0]3|GEIL I PRIE H15 30 45 | R15.12.31 | BE3#E |HIF&Ekl= H16.01.01 [ #%
al5]|2|0: 3|FEILY A B H16 30 4¢ [ R16.12.31 | BEZE |FIgEigpla H17.01.01 [ #&
alb5|2]0i3|GEIL I PRIE H17 30 45 | R17.12.31 | BE3E |HIF&Ekl= H18.01.01 [ #&
al5|2|0 3 |FEILY A B H18 30 4E | R18.12.31 | BEZE |FIgigpla H19.01.01 [ &
al5|2]0i 3 |GEHLY I PRIE H19 30 45 | R19.12.31 | BE3#E |FIF&Ekl= H20.01.01 [ #%
al5]|2|0 3|FEILY A B H20 30 4E [ R20.12.31 | BEZE |FIgigpla H21.01.01 [ &
alb5|2]0}3|GEHLY I BRIE H21 30 45 | R21.12.31 | BE#E |FIF@kl= H22.01.01 [ #%
al|b5|2|0: 3 |REHL 1S PR H22 30 4F | R22.12.31 | BEZE |HFEE= H23.01.01 | #&
al5|2]0]3|GEHLY I BRIE H23 30 45 | R23.12.31 | BEHE |FIF@Ekl= H24.01.01 [ #%
al|5(2]0: 3 |GEAHE B H24 30 45 | R24.12.31 | BEZ#E Rl | H24.01.01 | H25.01.01 |  #&%
al5|2]0i 3 |FEILY I BRIE H25 30 47 | R25.12.31 | BEFE |FIF&EI=| H25.01.01 [ H26.01.01 | &
al5|2]0} 4RIl i S57 30 4¢ | R13.12.31 | BEZE |FIgEgpl= H14.01.01 [ &
alb|2|0 4|FEMUIESE kR S58 30 45 | R13.12.31 | BE3E |FIF&pl= H14.01.01 [ #&




al5|2|0 4|FEIESE ki S59 30 4 [ R13.12.31 | BEZE |HgERl= H14.01.01 [ %
al5|2]0i 4RI iR i S60 30 4 | R13.12.31 | BEZE |HIF&rl= H14.01.01 | %
al5|2|0 4 |FEIESE kR S61 30 4 [ R13.12.31 | BEZE |HgERl= H14.01.01 [ %
alb|2|0: 4 |FEIESE kR S62 30 45 | R13.12.31 | BEHE |FIF&p= H14.01.01 [ #&
alb5|2|0 4 |FEIESE kR S63 30 45 [ R13.12.31 | BEZE |HgErl= H14.01.01 [ %
alb|2|0 4 |FEUIESE kR HO1 30 45 | R13.12.31 | BEHE |FIF&p= H14.01.01 [ #&
al5|2]0] 4RIl 55 kR i H02 30 45 | R13.12.31 | B |FIF&Ekl= H14.01.01 [ %
alb|2|0 4|FEHUIESE SR HO03 30 45 | R13.12.31 | BEHE |FIE&p= H14.01.01 [ #&
al5|2]0i 4RIl kR iE HO04 30 45 | R13.12.31 | B |FIF&Ekl= H14.01.01 [ %
alb|2|0: 4 |FEHUIESE SR HO05 30 45 | R13.12.31 | BEHE |FIE&p= H14.01.01 [ #&
al5|2]0: 4 |FEIU L R HO06 30 4F | R13.12.31 | BEFE |FEgkl= H14.01.01| #&
alb|2|0; 4 |FEHUIESE SR i HO7 30 45 | R13.12.31 | BEHE |FIE&p= H14.01.01 [ #&
alb|2|0; 4 |GEMIESE kR HO8 30 45 | R13.12.31 | BE3#E |FIF@Ekl= H14.01.01 [ #%
al|5(2]0:4|GFERIHSE R TE HO09 30 4F [ R13.12.31 | BEZE |FIF& k= H14.01.01 | &
alb|2|0 4 |GEUIESE Sk H10 30 45 | R13.12.31 | BE#E |HIF@Ekl= H14.01.01 [ #%
al|5(2]0:4|GFERIHSE R TE H11 30 4F [ R13.12.31 | BEZE |FIF& k= H14.01.01 | &
al5|2|0 4 |FEUIESE kT H12 30 4F | R13.12.31 | BEZE |FIEgkl= H14.01.01 [ #%
al|5(2]0:4|GFERIHSE R TE H13 30 4F [ R13.12.31 | BEZE |FIF& k= H14.01.01 | &
alb|2|0 4R IESE Sk H14 30 4 [ R14.12.31 | BEZE |HF&ERl= H15.01.01 [ #%
alb|2|0; 4 |FEHLIFSE S H15 30 45 | R15.12.31 | BE#E |HIE&= H16.01.01 [ %
alb|2|0; 4GRS SRR H16 30 4 | R16.12.31 | BEZE |FIF&rb= H17.01.01 [ #%
alb|2|0; 4 |FEHLIFSE SR H17 30 45 | R17.12.31 | BE#E |HIE&E= H18.01.01 [ %
alb|2|0 4 |FEMUIESE SRR H18 30 4 | R18.12.31 | BEZE |FIF&rl= H19.01.01 [ #%
alb|2|0 4 |FEHLIESE SR H19 30 45 | R19.12.31 | BEHE |FIE&pl= H20.01.01 [ &
alb|2|0 4|FEMUIESE kR H20 30 45 | R20.12.31 | BE3E |FIF&pl= H21.01.01 [ &




al5|2|0 4|FEIESE ki H21 30 4 [ R21.12.31 | BEZE |HFgERl= H22.01.01 [ %
alb|2|0 4 |FEUIESE kR H22 30 45 | R22.12.31 | BEHE |FIF&k= H23.01.01 [ #&
al5|2|0 4 |FEIESE kR H23 30 45 [ R23.12.31 | BEZE |HFgERl= H24.01.01 | %
alb|2|0: 4 |FEIESE kR H24 30 45 | R24.12.31 | BEHE I | H24.01.01 | H25.01.01 | #&
alb5|2|0 4 |FEIESE kR H25 30 45 | R25.12.31 | B Rl H25.01.01 | H26.01.01 | #&%
al5|2]0} 4RI R H26 30 4 | R26.12.31 | BEZE |HIF&kl=| H26.01.01 [ H27.01.01 | #%
al5|2]0] 4RIl 55 kR i H27 30 4 | R27.12.31 | BEZE |FIF&kb==| H27.01.01 [ H28.01.01 [ &
alb|2|0 4|FEHUIESE SR H28 30 45 | R28.12.31 | BEHE |FIE&pl=| H28.01.01 | H29.01.01 | #&
al5|2]0i 4RIl kR iE H29 30 4 | R29.12.31 | BEZE |FIF&Ekb==| H29.01.01 [ H30.01.01 [ &
alb|2|0: 4 |FEHUIESE SR H30 30 45 | R30.12.31 | BEZE |FIE&pl=| H30.01.01 | H31.01.01 | #&
al5|2|0: 5 |FEHLLEHNE H12 30 45 | R13.12.31 | B |FIF&Ekl= H14.01.01 [ %
a|5|(2]0:5 |GERUMH: HARE H13 30 4F | R13.12.31 | BEZE |FIF&EE= H14.01.01 | &
al5|2|0 5|GEHLEHIINE Hi14 30 4 | R14.12.31 | BEZE |FIF&Ekb= H15.01.01 [ #%
al5|2|0 5|FEHLIEHHNTE H15 30 4F [ R15.12.31 | BEZE |HIF&EEI= H16.01.01 | &
al5|2|0: 5|GEHLEHIINE H16 30 45 | R16.12.31 | BE3E |FIF&Ekl= H17.01.01 [ #&
a|5|[2]0:5 |FERUH: R H17 30 4 | R17.12.31 | BE3E @ p= H18.01.01 | &
al5|2|0: 5 |GEHIEHIINE H18 30 45 | R18.12.31 | BE#E |HIF&Ekl= H19.01.01 [ #%
al5|2|0 5 |FEHLAIE RN TE H19 30 4F [ R19.12.31 | BEZE |HF&EEI= H20.01.01 | &
al5|2|0 5 |GEHAIEHIANE H20 30 45 | R20.12.31 | BE3HE |FIF@Ekl= H21.01.01 [ #%
al5|2|0 5 |FEHLLE AN H21 30 45 | R21.12.31 | BE#E |FIE&k= H22.01.01 | &
al5|2|0 5|GEHIEHIINE H22 30 4F | R22.12.31 | BE3E |FIF&kl= H23.01.01 [ #%
al5|2|0 5 |FEHLLEHHNTE H23 30 45 | R23.12.31 | BEHE |FIE&= H24.01.01 | #&
al5|2|0 5|GEHAIEHIANE H24 30 4 | R24.12.31 | BEZE |HIZ&kI=E| H24.01.01 [ H25.01.01 | #K
al5|2|0 5 |GEHLLE RN H25 30 4F [ R25.12.31 | BEZFE |MIE&kF=| H25.01.01 [ H26.01.01 | &
al5|2|0: 5 |GEHAIEHIINE H26 30 45 | R26.12.31 | BE#E |FIF&pl=| H26.01.01 | H27.01.01 | #&




al5|2|0: 5|FEHLLE HNTE H27 30 45 | R27.12.31 | BEZEE Rl H27.01.01 | H28.01.01 |  #&%
al5|2|0 5 |FEILLE H28 30 4 | R28.12.31 | BEZE |HIF&kt=| H28.01.01 [ H29.01.01 | #%
al5|2|0: 5 |FEHLALE HANTE H29 30 A5 | R29.12.31 | BEZEE Rl H29.01.01 | H30.01.01 |  #&%
alb5|2|0: 5 |FEILE H30 30 4 [ R30.12.31 | BEZE |HI&kt=| H30.01.01 [ H31.01.01 | #%
alb|2]0]7|HEMRFHBEERME H26 10 4 | R06.12.31 | BEZE [RIFEkt=| H26.01.01 | H27.01.01 | &
al5[2|0 7(HEAERRFHBESETRIE H27 10 4F [ R07.12.31 | BEZE FiFgkl==| H27.01.01 [ H28.01.01 | &
alb|2]0;7|HERRFHBEERME H28 10 45 | R08.12.31 | BEZE [FIF&fl=E| H28.01.01 | H29.01.01 | #&
alb5|2|0 7|HEPRFHMSTRME H29 10 4F [ R09.12.31 | BEZE |FiEgkl==| H29.01.01 [ H30.01.01| &
alb|2]0i7|HERRFHBEERME H30 10 45 | R10.12.31 | BEZE [FFIF&HE=E| H30.01.01 | H31.01.01 | #&
alb5|2|0 7|HERRFHMSTRME RO1 10 45 [ R11.12.31 | BEZE |FiEgkl==| H31.01.01 [ R02.01.01 | &
al5[2|0 7(HARRFHERSER | R0O2 10 4 [ R12.12.31 | g [RIF&Erb=| R02.01.01 [ R03.01.01 [ #%
alb5|2|0; 7|HEPRFHMSTRME RO3 10 45 [ R13.12.31 | BEZE |FiE&kl=| R03.01.01 [ R04.01.01 | &
al5|2]0]7|HERRFHREERME RO4 10 45 | R14.12.31 | BEZE [AIF&Ei=| R04.01.01 | R05.01.01 | #&
alb5|2|0 7 (HERRFHHMSERME R05 10 45 | R15.12.31 | BEZE A& EE| R05.01.01 | R06.01.01 | #&
al5|2]0}8|EEFHIAREE RO3 3 4E | R06.12.31 | PE3E |FIE&HE| R03.01.01 | R04.01.01 [ %
alb5|2|0 8|EEFMR ARG RO5 3 4F | R08.12.31 | BEHE |FIE&E=[ R05.01.01 | R06.01.01 | #&
alb|2|0 9|EEFMFHRERER RO3 3 4| R06.12.31 | BEZE |FIF&EH=E| R03.01.01 | R04.01.01 [ &
alb|2|0: 9|EEFEIMmEEHRER RO4 3 4F | RO7.12.31 | BEHE |FIEEE=([ R04.01.01 | R05.01.01 | #&
alb|2|0 9 |EEFMFHRERER R05 3 4F | R08.12.31 | BE#E |FIF&E=[ R05.01.01 | R06.01.01 | #%
alb|2]1]0|#IRLoFhahd EHik H26 10 45 [ R06.12.31 | BEZE |FlFr&kl==| H26.01.01 [ H27.01.01 | &
alb5|2(1 0By FiFH s H27 10 4 [ RO7.12.31 | BEIE [FAIFgkb=| H27.01.01 [ H28.01.01 | &
alb5|2] 10T Ffhat EHik H28 10 45 [ R08.12.31 | BEZE |FiFrkt==| H28.01.01 [ H29.01.01 | &
alb5|2(1: 0 WERLyFiFH s H29 10 4 [ R09.12.31 | BEIE [FHIF&kb=| H29.01.01 [ H30.01.01 | %
alb|2]1i0|PIRLoFihahd EHik H30 10 45 [ R10.12.31 | BEZE g kt==| H30.01.01 [ H31.01.01| &
alb5|2|1: 0SB y FFohs Eh4 RO1 10 4F [ R11.12.31 | BEZE FlF&kl==| H31.01.01 [ R02.01.01 | %




al5|2|1 0IRL D FihHE ERE R02 10 4 | R12.12.31 | BEZE [REErt=]| R02.01.01 | R03.01.01 | &
alb5|2|1; 0 |PRAy FFo EhE RO3 10 4F [ R13.12.31 | BEZE FiF&kl=| R03.01.01 [ R04.01.01 | &
alb5|2|1 0IRLyFihHE ERE R04 10 4 | R14.12.31 | BEZE [RIEEkt=E| R04.01.01 | R05.01.01 [ &
alb5|2|1; 0 |SRAy FFo FhE R05 10 4F [ R15.12.31 | BEZE FIF&kl=| R05.01.01 [ R06.01.01 | %
als5|2|1: 2 |WEmE H26 10 4 | R06.12.31 | BEZE [RIFEkt=| H26.01.01 | H27.01.01 | &
al5|2|1:2|HeEmik H27 10 45 | RO7.12.31 | BEZE [FiF&El=| H27.01.01 | H28.01.01 | #&
alb5|2]1:2|#EmE H28 10 4= | R08.12.31 | BE3E |lFghl=| H28.01.01 | H29.01.01 | #&
al5|2]|1:2|#Em% H29 10 A% | R09.12.31 | BEZE HIFgki=E| H29.01.01 | H30.01.01 [  #%
alb5|2]|1:2|#EmE H30 10 4 | R10.12.31 | BE3E FlFE&Ekl=| H30.01.01 | H31.01.01 | #K
al5|2|1i2|#Em%K RO1 10 A | R11.12.31 | BE3E RIEgst=E| H31.01.01 | R02.01.01 [ #K
als5|2|1 2 |WEmkE R02 10 45 | R12.12.31 | BEZE [FFIF&EE| R02.01.01 | R03.01.01 | #&
al5(2|1:2|#Em% RO3 10 A% | R13.12.31 | BE3E HIF&HIE| R03.01.01 | R04.01.01 [ #X%
als5|2|1 2 |WEEREK RO4 10 45 | R14.12.31 | BEZE [AIF&Ei=| R04.01.01 | R05.01.01 | #&
al5|2|1:2|#FEmEK R05 10 4F [ R15.12.31 | BEZE |FlH&k=| R05.01.01 [ R06.01.01 | %
alb|2]|1i4|ATFRSERIE H26 10 45 | R06.12.31 | BEZE [FIF&el=| H26.01.01 | H27.01.01 | #&
alb|2|1 4|F1FRSERME H27 10 4F [ R07.12.31 | BE3E g k=] H27.01.01 [ H28.01.01 | &
alb|2]|1i4|ATFRSERME H28 10 45 | R08.12.31 | BEZE [FIF&el=| H28.01.01 | H29.01.01 | #&
alb|2|1: 4|A1FRSZERME H29 10 4% | R09.12.31 | BEZE [FlF#klas| H29.01.01 | H30.01.01 |  #&
alb|2|1 4|ATFHRSERM#E H30 10 45 | R10.12.31 | BEZE [FiF&el=| H30.01.01 | H31.01.01 | #&
alb|2|1:4AIFRSZRME RO1 10 4F [ R11.12.31 | BEZE |FlF& k=] H31.01.01 [ R02.01.01 |  #&
alb|2|1;4|A1TFRSERME RO2 10 45 | R12.12.31 | BEZE [FF&el=| R02.01.01 | R03.01.01 | #&
alb5|2]| 14 |ATFHRS B RO3 10 45 [ R13.12.31 | BEZE A& ki=| R03.01.01 [ R04.01.01 | #&%
alb|2|1 4|R1TFHRSERME RO4 10 4F | R14.12.31 | BEZE [HF&kl=E| R04.01.01 | R05.01.01 | #&
alb|2|1 4|A1FRSERME R05 10 4F [ R14.12.31 | BE3E |FlF&ki=| R05.01.01 [ R06.01.01 | %
alb|2]1i6|5 AR ERIE H26 10 4F [ R06.12.31 | BEHE |FlF&kl==| H26.01.01 [ H27.01.01 | &




al5|2|1 6| FFERESERIE H27 10 4F | RO7.12.31 | B3 [F#rgpi=| H27.01.01 | H28.01.01 | #%
al5|2]1i6|H EFAEMSERIE H28 10 4F [ R08.12.31 | BEZE |FFiF&kl==| H28.01.01 [ H29.01.01| &
al5|2|1 6|H LiRERESERME H29 10 4 | R09.12.31 | BEZE [RIFErt=| H29.01.01 | H30.01.01 [ &
al5|2]1i6|H EFAAEMSERIE H30 10 4F [ R10.12.31 | BEZE FiF&kl==| H30.01.01 [ H31.01.01 | &
al5|2|1 6|H LiRERESERME RO1 10 4 | R11.12.31 | BEZE [REErt=| H31.01.01 | R02.01.01 | &
al5|2]1}6|H EFAAEMSERIE R02 10 4F [ R12.12.31 | BEZE FiF&kl=| R02.01.01 [ R03.01.01 | &
al5|2|1: 6|H LiRERESERME RO3 10 45 | R13.12.31 | BEZE [FFIF&EE| R03.01.01 | R04.01.01 | #&
al5|2|1:6|H LAERSTRME RO4 10 45 [ R14.12.31 | BEZE |FiE&kl=| R04.01.01 [ R05.01.01 | &
al5|2|1 6|H LiRERESERME R05 10 45 | R15.12.31 | BEZE [FFIF&EE| R05.01.01 | R06.01.01 | #&
al5|2] 17 |RIAK H26 10 4% | R06.12.31 | BEZE [JFlF&E=| H26.01.01 | H27.01.01 | #&
al5|2| 1 7|&EIA#RK H27 10 4 [ RO7.12.31 | BE3E [RIF&Erb=| H27.01.01 [ H28.01.01 [ %
al5|2] 17 |RIAK H28 10 4% | R08.12.31 | BEZE [JFiF&El=| H28.01.01 | H29.01.01 | #&
a|b|2|1: 7|EIARE H29 10 4F [ R09.12.31 | BEZE [RIFE&ERIE| H29.01.01 | H30.01.01 | #K
al5|2] 17 |RIAK H30 10 4= [ R10.12.31 | BE3E [JF&kt==| H30.01.01 [ H31.01.01 [ &
al5(2] 107 |BIAR RO1 10 4 | R11.12.31 | BE3E [FIZgel=| H31.01.01 | R02.01.01 | #&
al5|2] 17 |RIAK R0O2 10 4= [ R12.12.31 | BE3E [HF&kt=| R02.01.01 [ R03.01.01 [ #&K
a|b|2| 1 7|EIARR RO3 10 4F | R13.12.31 | BEZE [RIFEERIE| R03.01.01 | R04.01.01 | #K
al5|2] 17 |RIAK RO4 10 4= [ R14.12.31 | BE3E [JHF&kt=| R04.01.01 [ R05.01.01 [ &K
al5|2|1 7 |EIARH RO5 10 4F | R15.12.31 | BEZE [ kl=| R05.01.01 | R06.01.01 | #&
alb|2|1;8HESHE AT LG RO1 5 4F | R06.12.31 | BEZE A& Ei=| H31.01.01 [ R02.01.01 | #&
al5|2]|1}8 (& AT LBRK R02 54F | R07.12.31 | BE#E FIF&E=[ R02.01.01 | R03.01.01 | #&
alb|2|1 8[HESHE AT LG RO3 5 4F | R08.12.31 | BEZE A& EI=| R03.01.01 [ R04.01.01 | &%
alb|2|1: 8[HEIIEL AT LBMRKR RO4 5 4E | R09.12.31 | BEZE |FIE&HE| R04.01.01 | R05.01.01 [ %
alb|2|1 8[HESHE AT LG R05 5 4F | R10.12.31 | BE#E |FIE&EE=([ R05.01.01 | R06.01.01 | #&%
al5|2|2 3(HE-H &R B RO1 54| R06.12.31 | BEZE FIF&hi=| H31.01.01 | R02.01.01 [ &




alb|2|2 3|ME-HyEREHE R02 5 4F | R07.12.31 | BEZE FIF&EE=| R02.01.01 [ R03.01.01 | &%
alb|2]2i3 |- H &k HE RO3 5 4F | R08.12.31 | BEHE |FIE&EE=([ R03.01.01 | R04.01.01 | #&
alb|2|2 3|ME-HyEREHE R04 5 4F | R09.12.31 | BEZE |FIF&EE=| R04.01.01 [ R05.01.01 | #&%
alb|2]|2 5B (RE) EHE RO1 54F | R06.12.31 | BEZE |FIE&E=([ H31.01.01 | R02.01.01 | #&
al5|2]|25|HITERZRf (RE) EHLHE RO2 54 | RO7.12.31 | BE3E FIF&EE| R02.01.01 | R03.01.01 | #&
alb|2]|2]5|HAERRSM (RE) EHE RO3 5 4F | R08.12.31 | BEHE |FIE&EE=([ R03.01.01 | R04.01.01 | #&
alb|2]|2i5 |G () EHLE RO4 54| R09.12.31 | BEZE [FIF&EE| R04.01.01 | R05.01.01 | #&
alb|2]3i9(HERMRIEHMET AT DI H27 10 45 [ R07.12.31 | BEZE |Fifgkl==| H27.01.01 [ H28.01.01 | &
alb5|2]3i9|HERRFHBES AT LIITE H28 10 4 | R08.12.31 | BEZE |JHIZ& kb= | H28.01.01 | H29.01.01 |  #K
alb|2]319(HERMRIEHME AT DI H29 10 4F [ R09.12.31 | BEZE |FiEgkl==| H29.01.01 [ H30.01.01| &
alb5|2]39|HERRFEHBES AT LIITE H30 10 45 | R10.12.31 | BEZE [FFIF&HE=E| H30.01.01 | H31.01.01 | #&
alb|2|4 1|85 BREGLEE PEE RO1 5 4F | R06.12.31 | BEZE |FIF&RI=E| H31.01.01 | R02.01.01 [ #X
alb5 (2401 [T SREFLekE PR R02 5 4| R07.12.31 | BEZE |FIFE&k=| R02.01.01 [ R03.01.01 | #&
alb|2|4 1|85 BREGLEE PLE RO3 5 4F | R08.12.31 | BEHE |FIF&EI=([ R03.01.01 | R04.01.01 | #K
alb|2] 4] 1|8k GRimiLakE HE RO4 54 [ R09.12.31 | BE#E [RIF&Ht=[ R04.01.01 [ R05.01.01 | &%
alb|2|4 1|85 BREGLEE FE R05 5 4F | R10.12.31 | BEZE |FIF&E=| R05.01.01 | R06.01.01 | #K
alb|2|4: 2 |8kE -GkmECEk L RO1 5 4F | R06.12.31 | BE#E |FIF&E=| H31.01.01 | R02.01.01 | #&
alb|2|4 2|85 -BREFLENE R02 5 4F | R07.12.31 | BEZE |FIF&E=| R02.01.01 | R03.01.01 | #K
al|5|2]41 2|8k SRilFLek RO3 5 4F | R08.12.31 | BEZE |FIF&rtE| R03.01.01 | R04.01.01 | #&
alb|2|4 2|85 BREFLETNE R04 5 4F | R09.12.31 | BEZE |FIEEkIE| R04.01.01 | R05.01.01 | #&
al|5|2] 42 |8kF - SRilFLek R05 5 4F | R10.12.31 | BE3E |FIF&EE=([ R05.01.01 | R06.01.01 | #&
al|5[2]4:3|8E - BRI FLE S RTE RO1 5 4| R06.12.31 | BEFE |FlF&ki==| H31.01.01 [ R02.01.01 | #&
al5|2]4] 3|8k SR FLER AR R02 54F | R07.12.31 | BE#E FIFE&EE=[ R02.01.01 | R03.01.01 | #%
al|5[2]4:3|8kE - SR FLE SR E RO3 5 4 | R08.12.31 | BEFE |FlF&kl==| R03.01.01 [ R04.01.01 | #K
alb|2|4 3|[8kE Bk FLER AR E RO4 54F | R09.12.31 | BE#E |FIF&EE=([ R04.01.01 | R05.01.01 | #&
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alb|2|4 3|85 BREFLER SRS R05 5 4F | R10.12.31 | BE3E |FIFEkE| R05.01.01 | R06.01.01 | #&
@] 1] 0| 1:0|ILIRHaTH H22 30 45 | R22.12.31 | BEHE |FIF&k= H23.01.01 [ #&
@|1{0]1:0/|JLIEHEE H23 30 A5 | R23.12.31 | BEHE |FIF&k= H24.01.01 | #%
@] 1] 0|10 |LIRHaTH H24 30 45 | R24.12.31 | BEHE I | H24.01.01 | H25.01.01 | #&
@10 1:0FLFRMEE H25 30 4F [ R25.12.31 | BEZE |FIF&E k| H25.01.01 | H26.01.01 | #&
@ 1] 0|10 |LIRHaH H26 30 45 | R26.12.31 | BEHE |FIF&@pi=| H26.01.01 | H27.01.01 | #&
@ 10| 1:0FLF-HEE H27 30 4F | R27.12.31 | BEZE |FIFE k| H27.01.01 | H28.01.01 | #&
@| 1|01 0| IEHFE H28 30 45 | R28.12.31 | BEHE |FIE&pl=| H28.01.01 | H29.01.01 | #&
@ 1]0|1:0FLF-HEE H29 30 4F [ R29.12.31 | BEZE |FIFE k| H29.01.01 | H30.01.01 | #&
@|1{0]1:0[JLFEHFE H30 30 4F [ R30.12.31 | BEZFE |MIFE& k=] H30.01.01 [ H31.01.01 | &
k|3]3]0: 1 [Z3REFRH S30 30 4F [ R13.12.31 | BEZE |HIF&EE= H14.01.01 | #%
k|3[3]0:1|Z&sCEIRH S31 30 4F [ R13.12.31 | BEZE |HIF&EEI= H14.01.01 | &
k|3]3[0% 1 |Z5REFR S$32 30 4F | R13.12.31 | BEZE |FIF&EE= H14.01.01 | &
k|3[3]0:1|ZsEEIRE S33 30 4F [ R13.12.31 | BEZE |HE&EEI= H14.01.01 | &
k{3]3[0]1|Z5REFR% S34 30 4F | R13.12.31 | BEZE |FIF&EE= H14.01.01 | &
k|3[3]0:1|ZsCEIRE S35 30 4F | R13.12.31 | FEZE |HE&k=E H14.01.01 | &
k{3]3[071|Z5REFR S36 30 4F | R13.12.31 | BEZE |FIF&EE= H14.01.01 | &
k|3[3]0:1|ZsCEIRE S37 30 4F [ R13.12.31 | BEIE |HFE&EEI= H14.01.01 | &
k|3]3[0:1|Z5REFR% S38 30 45 | R13.12.31 | BEZE |FIF&EE= H14.01.01 | %
k|3[3]0:1|ZsCEIRE S39 30 4F | R13.12.31 | FEZE |HE&k=E H14.01.01 | &
k{3]3[07 1 |Z5REFR% 540 30 45 | R13.12.31 | BEZE |FIF&EE= H14.01.01 | %
k|3[3]0:1|ZsCEIRER S41 30 4F | R13.12.31 | BEZE |HE&k=E H14.01.01 | &
k|3]3[071|Z3REFR 542 30 45 | R13.12.31 | BEZE |FIF&EE= H14.01.01 | %
k|3[3]0:1|Z&sCEIRER 543 30 4F | R13.12.31 | BEZE |FIE&k=E H14.01.01 | &
k{3]3[071[ZE5REFRH S44 30 45 | R13.12.31 | BE3E |FIF&pl= H14.01.01 [ #&




k|3[3]0:1|ZsCEIREHR 545 30 45 | R13.12.31 | B |FIF&k= H14.01.01 | #%
k|3]3[071[Z£3EEFRH S46 30 45 | R13.12.31 | BEHE |FIF&p= H14.01.01 [ #&
k|3[3]0:1|&sCEIREHR S47 30 45 | R13.12.31 | B |FIF&k= H14.01.01 | #%
k{3]3[0:1[ZE5REFRH S48 30 45 | R13.12.31 | BEHE |FIF&p= H14.01.01 [ #&
k|3[3]0: 1|3 S49 30 45 | R13.12.31 | B |FIF&k= H14.01.01 | #%
k{3]3[0%1[Z3REFRHR S50 30 45 | R13.12.31 | BEHE |FIF&p= H14.01.01 [ #&
k|3]3[071[Z3REFR M S51 30 4F [ R13.12.31 | BEZE |HIF&EE= H14.01.01 | #%
k|3[3]0:1|Z&sCEIREH S52 30 4F [ R13.12.31 | BEZE |HIF&EEI= H14.01.01 | &
k|3]3[07 1 [Z3REFR M S53 30 4F [ R13.12.31 | BEZE |HIF&EE= H14.01.01 | #%
k|3[3]0:1|Z&sCEIR S54 30 4F [ R13.12.31 | BEZE |HIF&EEI= H14.01.01 | &
k|3]3]0: 1 [Z3REFRH S55 30 4F [ R13.12.31 | BEZE |HIF&EE= H14.01.01 | #%
k|3[3]0:1|Z&sCEIRH S56 30 4F [ R13.12.31 | BEZE |HIF&EEI= H14.01.01 | &
k|3]3[0% 1 |Z5REFR S57 30 4F | R13.12.31 | BEZE |FIF&EE= H14.01.01 | &
k|3[3]0:1|ZsEEIRE S58 30 4F [ R13.12.31 | BEZE |HE&EEI= H14.01.01 | &
k{3]3[0]1|Z5REFR% S59 30 4F | R13.12.31 | BEZE |FIF&EE= H14.01.01 | &
k|3[3]0:1|ZsCEIRE S60 30 4F [ R13.12.31 | BEIE |HFE&EEI= H14.01.01 | &
k{3]3[071|Z5REFR S62 30 4F | R13.12.31 | BEZE |FIF&EE= H14.01.01 | &
k|3[3]0:1|ZsCEIRE S63 30 4F [ R13.12.31 | BEIE |HFE&EEI= H14.01.01 | &
k|3]3[0:1|Z5REFR% HO1 30 45 | R13.12.31 | BEZE |FIF&EE= H14.01.01 | %
k|3[3]0:1|ZsCEIRE HO02 30 4F | R13.12.31 | FEZE |HE&k=E H14.01.01 | &
k{3]3[07 1 |Z5REFR% HO03 30 45 | R13.12.31 | BEZE |FIF&EE= H14.01.01 | %
k|3[3]0:1|ZsCEIRER HO4 30 4F | R13.12.31 | BEZE |HE&k=E H14.01.01 | &
k|3]3[071|Z3REFR HO05 30 45 | R13.12.31 | BEZE |FIF&EE= H14.01.01 | %
k|3[3]0:1|Z&sCEIRER HO06 30 4F | R13.12.31 | BEZE |FIE&k=E H14.01.01 | &
k{3]3[071[ZE5REFRH HO7 30 45 | R13.12.31 | BE3E |FIF&pl= H14.01.01 [ #&
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k|3[3]0:1|ZsCEIREHR HO08 30 45 | R13.12.31 | B |FIF&k= H14.01.01 | #%
k|3]3[071[Z£3EEFRH HO09 30 45 | R13.12.31 | BEHE |FIF&p= H14.01.01 [ #&
k|3[3]0:1|&sCEIREHR H10 30 45 | R13.12.31 | B |FIF&k= H14.01.01 | #%
k{3]3[0:1[ZE5REFRH H11 30 45 | R13.12.31 | BEHE |FIF&p= H14.01.01 [ #&
k|3[3]0: 1|3 H12 30 45 | R13.12.31 | B |FIF&k= H14.01.01 | #%
k{3]3[0%1[Z3REFRHR H13 30 45 | R13.12.31 | BEHE |FIF&p= H14.01.01 [ #&
k[3]3]0:1|Z£sERE H15 30 45 | R15.12.31 | B |FIF&kl= H16.01.01 | %
k|3[3]0:1|Z&sCEIREH H16 30 4F [ R16.12.31 | BEZE |HIF&EEI= H17.01.01 | &
k[3]3]0:1|ZEsEREE H17 30 45 | R17.12.31 | B3 |FIF&kl= H18.01.01 [ %
k|3[3]0:1|Z&sCEIR H18 30 4F [ R18.12.31 | BEIE |HIF&EkI= H19.01.01 | &
k[3]3]0:1|EsEREE H19 30 45 | R19.12.31 | B3 |FIF&kl= H20.01.01 | %
k|3[3]0:1|Z&sCEIRH H20 30 4F [ R20.12.31 | BEZE |HIF&EEI= H21.01.01 | &
k|3]3[0% 1 |Z5REFR H21 30 4F | R21.12.31 | BEZE |FIF&EE= H22.01.01 | &
k|3[3]0:1|ZsEEIRE H22 30 4F | R22.12.31 | BEZE |HEFEEI= H23.01.01 | &
k{3]3[0]1|Z5REFR% H23 30 4F [ R23.12.31 | BEIE |FIF&EE= H24.01.01 | &
k|3[3]0:1|ZsCEIRE H24 30 4 | R24.12.31 | BEHE |RI=E&Rl=| H24.01.01 | H25.01.01 | #K
k[3]3]0:1[ZsEHREE H25 30 4 | R25.12.31 | BEZE |FIFE&kl=| H25.01.01 [ H26.01.01 | #&
k|3[3]0:1|ZsCEIRE H26 30 4 | R26.12.31 | BEHE |HI=E¥kl=| H26.01.01 | H27.01.01 | #K
k|3]3[0:1|Z5REFR% H27 30 4F | R27.12.31 | BEZE |FIF&EF=| H27.01.01 [ H28.01.01 | &
k|3[3]0:1|ZsCEIRE H28 30 4 | R28.12.31 | BEHE |FMI=E%kl=| H28.01.01 | H29.01.01 |  #K
k{3]3[07 1 |Z5REFR% H29 30 4F [ R29.12.31 | BEZE |FIF&EEF=| H29.01.01 [ H30.01.01 | &
k|3[3]0:1|ZsCEIRER H30 30 4F [ R30.12.31 | BEZE |FIF&EkF=E| H30.01.01 | H31.01.01 | #%
k|3]3[0} 3 [HtdRatR% H26 10 4 | R06.12.31 | BEZE [FlFgfl=| H26.01.01 | H27.01.01 | &%
k|3[3]0: 3 |[HtBEAMRE H27 10 47 [ RO7.12.31 | BEZE |FlF&ki==| H27.01.01 [ H28.01.01 | #K
k[3]3]0:3|[mtiEaMRE H28 10 4F [ R08.12.31 | BEHE |FlF&kl==| H28.01.01 [ H29.01.01| &
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k|3]3]0} 3 [#AREFRH H29 10 4 | R09.12.31 | BEZE [RIFErt=| H29.01.01 | H30.01.01 [ &
k[3]3]0:3|[miEAFRKE H30 10 45 | R10.12.31 | BEZE [FiF&E=| H30.01.01 | H31.01.01 | #&
k|3]3]0: 3 [#ARELRH RO1 10 4 | R11.12.31 | BEZE [REErt=| H31.01.01 | R02.01.01 | &
k{4]0]0: 2 [FeBRILFH1FEIMREE H26 10 45 | R06.12.31 | BEZE [JIF&E=| H26.01.01 | H27.01.01 | #&
k{4]0]0: 2 [FepkalFFEatRER H27 10 4 | RO7.12.31 | BEZE [RIEkt=| H27.01.01 | H28.01.01 | &
k{4]0]0: 2 [FeBRILFH1FEAMREE H28 10 45 | R08.12.31 | BEZE [JiF&kl=| H28.01.01 | H29.01.01 | #&
k{4]0]0;: 2 [FeERALF0FEAMRER H29 10 45 | R09.12.31 | BEZE [FIF&Hl=E| H29.01.01 | H30.01.01 | #&
k|4]10(0: 2 [FFERALFEEIMRER H30 10 45 [ R10.12.31 | BEZE Figgkl==| H30.01.01 [ H31.01.01 | &
k{4]0]0:2[FepRALFIFEAMRER RO1 10 45 | R11.12.31 | BEZE [FFIF&EE| H31.01.01 | R02.01.01 | #&
k|4]10(0} 2 [FFERALFIEEIMRER R0O2 10 45 [ R12.12.31 | BEZE FiE&kl==| R02.01.01 [ R03.01.01 | &
k{4]0]0: 2[RRIl FIFEAMRER RO3 10 45 | R13.12.31 | BEZE [FFIF&EE| R03.01.01 | R04.01.01 | #&
k|4]10(0} 2 [FFERALFEEIMRER RO4 10 45 [ R14.12.31 | BEZE |FiE&kl=| R04.01.01 [ R05.01.01 | &
k14[1]10: 1 [KEFEARE T H26 10 4 | R06.12.31 | BE3E [FIZ&pl=| H26.01.01 | H27.01.01 | #&
k{4]1]0: 1 [REFARE TR H27 10 45 | RO7.12.31 | BEZE [AIF&EE| H27.01.01 | H28.01.01 | #&
k14[1]10: 1 [KEIFEARE T H28 10 4 | R08.12.31 | BE3E [FlZ&pl==| H28.01.01 | H29.01.01 | #&%
k{4]1]0: 1 [KEFARE TR H29 10 45 | R09.12.31 | BEZE [HIF&E=E| H29.01.01 | H30.01.01 | #&
k14[1]10: 1 [KEIFEARE T H30 10 & | R10.12.31 | BE3E [FIZ&fl=| H30.01.01 | H31.01.01 | #&
k(4] 1]0:1 [REFARE TR RO1 10 45 | R11.12.31 | BEZE [AIF&E=E| H31.01.01 | R02.01.01 | #&
k{41071 [RSFEAEHREERE R02 10 4% | R12.12.31 | BE3E [Flg&kl=| R02.01.01 | R03.01.01 | #&
k{4]1]0: 1 [REFAREERE RO3 10 45 [ R13.12.31 | BEZE |FiF&kt=| R03.01.01 [ R04.01.01 | &%
k{41071 [KSFREEREERE R04 10 4% | R14.12.31 | BE3E [Flg&kl=| R04.01.01 | R05.01.01 | #&
k{4]1]0: 1 [REFARE TR R05 10 45 [ R15.12.31 | BEZE A& ki=| R05.01.01 [ R06.01.01 | &%
k|15[0]0: 1 [ZILBAMRE RO3 3 4 | R06.12.31 | BEZE |FIF&rtE| R03.01.01 | R04.01.01 [ #&
k|5[0]0: 1 [%I0EIGR%H% R04 3 4F | RO7.12.31 | BEZE |FIFERIE| R04.01.01 | R05.01.01 [ #K
k{5[0[0 1[&ILBIRER RO5 3 45 | R08.12.31 | BEZE FIF&kt=E| R05.01.01 | R06.01.01 [ &




k|15[0]0: 2 [0 B #x RO3 3 4E | R06.12.31 | BEZE |FIFEEIE| R03.01.01 | R04.01.01 | #&
k[{5]0]|0:2|[ZI0 B Hix R04 3 4 | R07.12.31 | BEZE FIF&EHI=E| R04.01.01 | R05.01.01 [ &
k|5[0]0: 2 [0 B WA R05 3 4E | R08.12.31 | BEZE |FIFEEIE| R04.01.01 | R05.01.01 | #&
k6] 1]0:3 |shfilfidAm & RO3 3 4 | R06.12.31 | BEZE FIF&HI=E| R05.01.01 | R06.01.01 [ &
k| 6|10 3 |fhfikfdAm R04 3 4E | RO7.12.31 | BEZE |FIFEEE| R04.01.01 | R05.01.01 | #&
@| 2|00 3|HE T E RO3 3 4| R06.12.31 | BEZE FIF&Hl=E| R03.01.01 | R04.01.01 [ &
@[2]0[0: 3 |Hl] AL R04 3| R07.12.31 | BEZE |FIE&E=| R04.01.01 [ R05.01.01 | &
@| 3|00 7|F 10 Aokl B RO1 5 4F | R06.12.31 | BEZE |FIE&E=[ H31.01.01 | R02.01.01 | #&
@| 3|00 7|FHFaRIERE HE R0O2 54 [ RO7.12.31 | BE3E [RIF&Ert=| R02.01.01 [ R03.01.01 [ #%
@| 3|00 7|F 10 Aokl s B RO3 5 4F | R08.12.31 | BEHE |FIE&EE=([ R03.01.01 | R04.01.01 | #&
@| 3|00 7|F 10 FLaRIERE HE R04 54 [ R09.12.31 | e [RIF&Ert=| R04.01.01 [ R05.01.01 [ #%
@[ 3|00 8|#eEFLEAERE BLE RO1 5 4F | R06.12.31 | BEZE |FIE&E=[ H31.01.01 | R02.01.01 | #&
@[ 3|00 8|#eEFLERNERE PLE R02 54| R07.12.31 | BEZE |FIFE&Et=E| R02.01.01 | R03.01.01 [ &
@] 3] 0|0 8|#eFERIRNEAE PR RO3 5 4F | R08.12.31 | BEHE |FIF&E=| R03.01.01 | R04.01.01 | #K
@[ 3|00 8|#eEFLENEAE PLE RO4 54| R09.12.31 | BEZE |FIF&EH=E| R04.01.01 | R05.01.01 [ &
alb|2|4 0|5 CGE) B4 H26 10 4% | R06.12.31 | BEZE [JlH¥klas| H26.01.01 | H27.01.01 |  #&
al|5[2]410/|&ik(G8) F1FH H27 10 4 | R07.12.31 | BE3E [FlZ&pl=| H27.01.01 | H28.01.01 | #&
al|5[2]4:0|&k () FLH H28 10 4% | R08.12.31 | BEHE |FlFigklaE| H28.01.01 | H29.01.01 [  #K
alb|2|4: 0&FF ) FEH H29 10 45 | R09.12.31 | BEZE [FIFgel=s| H29.01.01 | H30.01.01 | #&
alb|2|4: 0|5 CGE) L H30 10 4% | R10.12.31 | BEZE [FFlF&klEE| H30.01.01 | H31.01.01 | #&
alb|2|4:0|&FF G FEH RO1 10 45 | R11.12.31 | BEZE [FiFgel=| H31.01.01 | R02.01.01 | #&
alb|2|4: 0|5 CGE) L R02 10 4% | R12.12.31 | BEZE [FFlF&EIE| R02.01.01 | R03.01.01 | #&
alb|2|4 0|&FFF ) FHEH RO3 10 45 | R13.12.31 | BEZE [FIF&kl=| R03.01.01 | R04.01.01 | #&
alb|2|4 0|5 CGE) FLEHE RO4 10 45 [ R14.12.31 | BEZE |Flgr&kl==| R04.01.01 [ R05.01.01 | &
alb|2]4:0|5Fk G FE#E RO5 10 45 | R15.12.31 | BEZE [IF&E=E| R05.01.01 | R06.01.01 | #&




LI E w il R i LN EARA R gl Bt B L nt
1{4]6]0:3|&NHMAR H21 30 4F | R21.12.31 | BEZE |FIEEkl=E H22.01.01 | #&




SCET ANV BE il E’ - M%% SF0 5 4R
RGR) | BT RER CEIELZ21R)
al 0| 1| 1|6 |mmnsE RO3 3 4F | R06.12.31 | &3 |4maekisx| R03.01.01 | R04.01.01 | %
al0f1]1|6[mEnssk R04 3 4E | RO7.12.31 | JEZE |4omaest=| R04.01.01 | R05.01.01 | #%
al 0| 1| 1|6 |mmnsE R05 3 4F | R08.12.31 | FE3E |4mapeektsx| R05.01.01 | R06.01.01 | %
al0|3]0]|3|AFIRLARMZILE RO3 3 4 | R06.12.31 | BEIE |mexeweeor| R03.01.01 | R0O4.01.01 [ &
al0|3]0]|3|AFIRMLAMRMSAE RO4 34 | R07.12.31 | BEHE |sexescrcwt | H23.01.01 [ R05.01.01 | #i%
al0|3]0]|3[AFIREAHMSAE R05 3 4F | R08.12.31 | BEHE |wexsmcess [ R05.01.01 | R06.01.01 [ #&%
al0|4]0]1|&i&EBARK RO3 3 4F | R06.12.31 | BEHE |=exescvewt| R03.01.01 [ R04.01.01 | &%
al0[4]0]| 1 |=EBEMRE R04 3 4E | R0O7.12.31 | BEHE |wezsmcess [ R0O4.01.01 | R05.01.01 [ #&
al0|4]0]1|&i&EBARK RO5 3 4F | R08.12.31 | BEHE |=exesevcwt| R05.01.01 [ R06.01.01 | %
al5]0]0]|5 [ DHFLPRE H14 30 4 | R14.12.31 | BEZE |Ailapgki= H15.01.01 [ &
al5(0]0]|5 | EMuerE H15 30 45 | R15.12.31 | BEHE |4k H16.01.01 [ %
al|5(0]|0]|5 [ aLetiE H16 30 4 | R16.12.31 | BEIE |Amaniikis H17.01.01 | #&
al5(0]0]|5 | FEMnenE H17 30 A5 | R17.12.31 | BEEE |4k H18.01.01 | %
al|5(0]|0]|5 [ aLetiE H18 30 4 | R18.12.31 | BEIE |Amaniiki= H19.01.01 | #&
al5(0]0]|5 | FEMnenE H19 30 A5 | R19.12.31 | BEEE |4k H20.01.01 | %
al|5(0]|0]|5 [ aLetiE H20 30 4 | R20.12.31 | BEIE |Amaniikis H21.01.01 | #&
al5(0]0]|5|HFEM0IRE H21 30 4F | R21.12.31 | BEHE |kt H22.01.01 | %
al5]|0|0]|5 | FEFIRABRE H22 30 4F | R22.12.31 | BEEE |4k H23.01.01 [ %
al5(0]0]|5|HFEM0IRE H23 30 45 | R23.12.31 | BEHE |kt H24.01.01 | %
al|5(0]0]|5 [ uLetiE H28 30 4F | R28.12.31 | FEZE |4ommasl=| H28.01.01 | H29.01.01 | #%
al5(0]0]|5|DFEMLIRE H29 30 45 | R29.12.31 | BE#E |4umapasi=| H29.01.01 | H30.01.01 | #&%
al5]|0|0]|5 | FEFEIFAERE H30 30 4F | R30.12.31 | BEFE |4mawst=s| H30.01.01 | H31.01.01 | #%
al5|0]0]|5|HFFEM0PE RO1 30 4F | R31.12.31 | BE#E |4omsgsi==| H31.01.01 | R02.01.01 | #%




5(0(0|5 [ DHFiluenE RO2 30 4F | R32.12.31 | BEZE |4mamwsi=| R02.01.01 | RO3.01.01 |  #&
5(0]0|5 | RO3 30 45 | R33.12.31 | BE#E |ammasi=| R03.01.01 | R04.01.01 |  #&%
5(0]0(5 |0 R04 30 4F | R34.12.31 | FEZE |4omaasl=| R04.01.01 | R05.01.01 | #%
5(0]0|5 | R05 30 4£ | R35.12.31 | BEZE |Amasvests| R05.01.01 [ R06.01.01 | #&%
90|01 [ELL AR E RO3 34F | R06.12.31 | FEZE |#msrexor| R03.01.01 [ RO4.01.01 | #&
90|01 [EELPHRNIE RO4 34 [ RO7.12.31 | BgZE [smmsrresor| RO4.01.01 [ R05.01.01 | %
90|01 [ELLe HRNHE RO5 3 4F | R08.12.31 | BEHE |=exesevewt| R05.01.01 [ R06.01.01 | %
82|02 |HhiE%sFas i RO3 3 4F | R06.12.31 | BEZHE |wezsmcress [ R03.01.01 | R04.01.01 [ #&%
82|02 |HiEesFal i R04 3 4E | R07.12.31 | BEFE [mexewrecer | R04.01.01 | R05.01.01 | #&
82|02 |HhiE%sFas i R05 3 4F | R08.12.31 | BEHE |wexsmcess [ R05.01.01 | R06.01.01 [ #&%
8| 2] 0|3 |FFrl MR HE RO3 3 4E | R06.12.31 | BEHE |swsesswcwr| R03.01.01 [ R04.01.01 | #&%
8| 20| 3|FFrr R B RO4 34E [ RO7.12.31 | BEHE [sezewcreer [ RO4.01.01 [ R05.01.01 | #%
al8|2]0]|3|FFrl MR RO5 3 4F | R08.12.31 | BEHE |wsxewevewor [ R05.01.01 | R06.01.01 | #%
h{1]2]0]|4|fRERHKEIRE RO3 3 4F | R06.12.31 | BEHE |wswewevewr [ RO3.01.01 | R04.01.01 | #%
h|1[2]|0]4|fRETKEEREE R04 3 4 | R07.12.31 | BEHE |msxewereior [ R04.01.01 | R05.01.01 | #%
h{1]2]0]|4|fRERHKEIRE RO5 3 4F | R08.12.31 | BEHE |wswewwvewr [ R05.01.01 | R06.01.01 | #%
h|1[2|0]5|fR#ED—RE RO3 3 4F | R06.12.31 | BEHE |msxeweveior [ RO3.01.01 | R04.01.01 | #%
hl1|2|0]5|R~#EL—RE RO4 3 4E | R07.12.31 | BEZE |swwswecer | R0O4.01.01 | R05.01.01 [ %
h|1|2]|0]|5|Ri#ED—Ki& RO5 34 [ R08.12.31 | BEHE [sszewcr | R0O5.01.01 [ R06.01.01 | #%
h|3|2|0]2|&¥E LT ramk H13 30 4 | R13.12.31 | BEHE [swsewmvein H14.01.01| #&
h{3]|2]|0|2|fEREFTFAIAIR H14 30 4E | R14.12.31 | BRHE |smueworcrn H15.01.01 | %
h|3|2|0]2|&¥E LT ramk H15 30 4 | R15.12.31 | BEHE [swsewmvin H16.01.01 | #&
h{3]2]|0|2|fEREFTFAIAIR H16 30 45 | R16.12.31 | BEHE |smxewmecion H17.01.01 [ #%
h|3|2|0]2|&eE T ramk H17 30 4 | R17.12.31 | BEHE [swsewmvein H18.01.01 | %
h{3]|2]|0|2|fEZETTBEIR H18 30 4 [ R18.12.31 | BEHE |smxswmcvet H19.01.01 | %




h|3|2|0]2|d¥eE T ahR H19 30 A5 | R19.12.31 | BEHE |wwxtwmoaior H20.01.01 | #&
h{3]2]|0|2 e rranE H20 30 4 [ R20.12.31 | BEHE |smxsmcvent H21.01.01 | %
h|3|2|0]2|d¥eE T ahR H21 30 A5 | R21.12.31 | BEFE |wextwmoaion H22.01.01 | #&
h{3]2]|0|2 e rranE H22 30 4 [ R22.12.31 | BEZE |smxswmcvcnt H23.01.01 | %
h|3|2|0]2|d¥eE T ahR H23 30 A5 | R23.12.31 | BEHE |wmxtwmoaion H24.01.01 | #&
h{3]2]|0|2 e rranE H24 30 4 | R24.12.31 | BEZE |swxewcent | H24.01.01 [ H25.01.01 | #%
hi3|2fof2|d®EEirran H25 30 4F | R25.12.31 | BEFE |wmesewrer| H25.01.01 [ H26.01.01 [ %
hi3|2|0]2|deEEdrnamR H26 30 4F | R26.12.31 | BEFE |wswewvvenr | H26.01.01 [ H27.01.01 | &
hi3|2fof2|d®EEirran H27 30 4F | R27.12.31 | BEFE |wesewrer| H27.01.01 [ H28.01.01 [ %
hi3|2|0]2|deEEdrnamR H28 30 4F | R28.12.31 | BEFE |wswewvver | H28.01.01 [ H29.01.01 | &
hi3|2fof2|d®EEirran H29 30 4F | R29.12.31 | BEFE |wesewrer| H29.01.01 [ H30.01.01 [ %
hi3|2|0]2|deEEdrnamR H30 30 4F [ R30.12.31 | BEFE |wswewvver | H30.01.01 [ H31.01.01 | &
hi3f2|of2|dWEEiFranR RO1 30 45 | R31.12.31 | BEHE |ssweweccior [ H31.01.01 | R02.01.01 | #&
h|3[2]0]2|&WE AR R02 30 4F [ R32.12.31 | BEFE |wmzesvvenr| R02.01.01 [ R0O3.01.01 | &
hi3|2|of2|dWEEirrank RO3 30 4 [ R33.12.31 | BEHE |swxewsvewor| R03.01.01 [ RO4.01.01 | #&
h|3[2]0]2|&WE AR RO4 30 4F | R34.12.31 | BEFE |wmwesvvenr| R04.01.01 [ R0O5.01.01 | &
h|3|2|0]|2|&¥E Ak R05 30 45 | R35.12.31 | BEHE |sswewecior [ R05.01.01 | R06.01.01 | #%
h{3]2]|0|4|deE T HEER RO3 3 4F | R06.12.31 | BEHE |wswewevewr [ RO3.01.01 | R04.01.01 | #%
h|3|2|0]4|d¥eEZEdr vl HiEm% RO4 3 4E | R07.12.31 | BEIE |swwswceer | R0O4.01.01 | R05.01.01 [ %
B RA G ZE Sl A RO5 3 4F | R08.12.31 | BEHE |swsmesswcwt| R05.01.01 [ R06.01.01 |  #&%
h{3]2]1|0|&F5EmHEGEY) 22 Gk H30 30 4E [ R30.12.31 | BEHE |wwsewsveor | H30.01.01 [ H31.01.01 | #%
h{3|2|1]0|[&miEdEGEY) R H0R RO1 30 4 | R31.12.31 | BEHE |wsweweccwr [ H31.01.01 | R02.01.01 | #%
h{3]2]|1|0&FmiElE YY) 226 R02 30 4F | R32.12.31 | BEHE |wwsewsvewt | R02.01.01 [ RO3.01.01 |  #%
hi3|2|1]0|&miEdE YY) 6 RO3 30 4 | R33.12.31 | BEHE |ssweweccior [ R03.01.01 | R04.01.01 | #%
h{3]2]|1|0FmiEAE YY) 26 RO4 30 4 | R34.12.31 | BEFE |mmwswrccior [ R0O4.01.01 | R05.01.01 | #K




h{3|2]1]|0|H5m7itE (fH) 2Bk R05 30 4= | R35.12.31 | BEHE |wezewewor| R05.01.01 [ R0O6.01.01 | &
h3[3[0|7[HEEME EFEHEERE AR H25 30 4 | R25.12.31 | BEHE |wwzewsreor| H25.01.01 [ H26.01.01 | #K
h{3]3]|0|7|[BEELE (G EHETERE B H26 30 4F | R26.12.31 | BEZE |sewewocer| H26.01.01 [ H27.01.01 [ #%
h3[3[0|7[HEEME EFEHEERE AR H27 30 4 | R27.12.31 | BEHE |wwzewsreor| H27.01.01 [ H28.01.01 | #K
h{3]3]|0|7|[BEELE (G EHETERE B H28 30 4F | R28.12.31 | BEZE |sewewocrr| H28.01.01 [ H29.01.01 [ #%
h|3[3[0|7[HEEME EFEHEERE BR H29 30 4 [ R29.12.31 | BEHE |wwzewsreor | H29.01.01 [ H30.01.01 | #K
h3[3[0|7[HBEEMLE EFEHEERE AR H30 30 4F [ R30.12.31 | BEFE |wesewreer| 130.01.01 [ H31.01.01 [ %
h{3]3]|0|7|[BEEMLE - EFEHETERET AR RO1 30 4£ | R31.12.31 | BEZE |sswswercror | H31.01.01 | R02.01.01 | #%
h3[3[0|7[HBEEMLE EFEHEERE AR R02 30 4F | R32.12.31 | BEFE |wmexewrer| R02.01.01 [ RO3.01.01 [ %
h{3]3]|0|7|[BEEMLE - EFEHETERET AR RO3 30 4£ | R33.12.31 | BEZE |ssxswcrcior | RO3.01.01 | R0O4.01.01 | #%
h3[3[0|7[HBEEMLE EFEHEERE AR RO4 30 4F | R34.12.31 | BEFE |wexewrer| R0O4.01.01 [ RO5.01.01 [ %
h|3[3|0]7|HEEME - EBEHEEKE AR RO5 30 4F | R35.12.31 | BEFE |=ssewcvcir | R05.01.01 | R06.01.01 | #%
h{3]3]|0|9|[REGKESR H25 30 4F | R25.12.31 | BEHE |wesewsvewot | H25.01.01 [ H26.01.01 | #%
h|3]3|0]9[MmEAHKERE H26 30 4F | R26.12.31 | BEHE |wsweweccior [ H26.01.01 | H27.01.01 | #%
h{3]3]|0|9[MEGKERIE H27 30 4F | R27.12.31 | BEHE |wesewvent | H27.01.01 [ H28.01.01 | #%
h|3]3|0]9[MmEAHKERE H28 30 4F | R28.12.31 | BEHE |wwweweccior [ H28.01.01 | H29.01.01 | #%
h{3]3]|0|9[MEGKERIE H29 30 4F | R29.12.31 | BEHE |wesewsvewt | H29.01.01 [ H30.01.01 | #%
h|3]3|0]9[MmEAHKERE H30 30 4F | R30.12.31 | BEHE |wsweweccior [ H30.01.01 | H31.01.01 | #%
h|{3]3|0]9[MEAHKEENE RO1 30 4£ | R31.12.31 | BEHE |sswewecror [ H31.01.01 | RO2.01.01 | #%
h|3|3[0]|9[MmEASHKESR R02 30 4F | R32.12.31 | BEHE |ssweweccnr [ R02.01.01 | R0O3.01.01 | #%
h|{3]3[0]|9[mEEHKER RO3 30 4£ | R33.12.31 | BEHE |sswewrcror [ R03.01.01 | R04.01.01 | #%
h|3|3[0]|9[MmEAKESR RO4 30 4F | R34.12.31 | BEHE |weweweccwr [ R04.01.01 | R0O5.01.01 | #%
h|3[3|0]|9|REAKEE R0O5 30 4F | R35.12.31 | BEFE |swzewererr | R05.01.01 [ RO6.01.01 |  #%
h{3|3|1|7|HmaEELRME H30 30 4 | R30.12.31 | BEHE |wsweweccior [ H30.01.01 | H31.01.01 | #%
h|3[3|1|7|HmEAERf G RO1 30 % | R31.12.31 | BEHE |mmwswreesor [ H31.01.01 | RO2.01.01 | #K




h{3|3|1]|7HPiEAELSE R02 30 4F [ R32.12.31 | BEFE |wsxescerr| R02.01.01 | R0O3.01.01 | %
h{3]3|1|7|HmREHELRME RO3 30 4 | R33.12.31 | BEZE |swxewcent| R03.01.01 [ RO4.01.01 | #%
h{3|3|1]|7HPiEAELSE R04 30 4F | R34.12.31 | BEFE |wsxescerr| R04.01.01 | R0O5.01.01 | %
h|3[3|1]7|&HmitAERMA RO5 30 4 [ R35.12.31 | BEZE |swxewcent| R05.01.01 [ RO6.01.01 | #%
h{3]3|2]0 [ E&x RO1 5 4F | R06.12.31 | JFEFE |wsxemoers | H31.01.01 | R02.01.01 | #E
h{3]3]2|0 |43 SR R0O2 54 | R07.12.31 | BEZE |zexsweeor| R02.01.01 | R03.01.01 [ &
h{3]3|2]0 |2 HEH# RO3 5 4F | R08.12.31 | BEHE |=exesevcwt| R03.01.01 [ R04.01.01 | &%
h{3]3]2|0 |43 FEER RO4 54 | R09.12.31 | BEIE |mexswer| R04.01.01 | R05.01.01 [ %
h(3]3]2|0|&H3ERFEEH R05 5 4F | R11.12.31 | BEHE |=exesvwt| R05.01.01 [ R06.01.01 | %
h| 3|3 2] 1 |0 B EsE L G A% R | RO5 1 4£ | R06.12.31 | BEEE [smsswsveror [ R0O5.01.01 | R06.01.01 | #&%
h{3]3]2|4[MEGHKEREPGER RO3 3 4E | R06.12.31 | PEFE [mexewreer | R0O3.01.01 | R04.01.01 | #&
h| 33| 2|4 |EEHE TR RO4 34E [ RO7.12.31 | BEZE [reswsworcrn K
h|3|3]| 2|4 |MEGHE A PHEK RO5 3 4E | R08.12.31 | PEIE |wwwswreeer | R05.01.01 | R06.01.01 [ %
h|7[0]0] 1 [ERFa%EFTRRT Al AR H17 30 4F | R17.12.31 | BEFE [smxswencin H18.01.01 [ &
h|{7]0]|0]|1 |BEiRERTErRT Al 1R H18 30 A5 | R18.12.31 | BEHE |smxtwmvcion H19.01.01 [ #%
h|7[0]0] 1 [ERFa%EFTRRT Al AR H19 30 4F [ R19.12.31 | BEFE [smxsmencin H20.01.01 [ &
h|{7]0]|0]|1 |BEiRERTErRT Al 1R H20 30 A5 | R20.12.31 | BEHE |smxewmccion H21.01.01 [ #&
h|7[0]0] 1 [ERFa%EFTRRT Al AR H21 30 4F [ R21.12.31 | BEFE [smxemercin H22.01.01 [ &
h|{7]0]|0]|1 |BEaERTEraT Al AR H22 30 4F | R22.12.31 | BEHE |smxewmecion H23.01.01 [ #%
h|7[0]0] 1 [ERFa%EpTReaT rl AR H23 30 4F [ R23.12.31 | BEFE [smxsmevcin H24.01.01 [ %
h|{7]0]0]|1 |BEiaERTEraT Al AR H24 30 45 | R24.12.31 | BEHE |wmweweccior [ H24,01.01 | H25.01.01 | #K
h|7[0]0] 1 [ERFa%EpTReaT rl AR H25 30 4F [ R25.12.31 | BEFE |wsxescerr| H25.01.01 | H26.01.01 | &
h|{7]0]|0]|1 |BEfa%EpTEraT Al AR H26 30 4F | R26.12.31 | BEHE |wmweweccior [ H26.01.01 | H27.01.01 | #K
h|7[0]0] 1 [ERFa%EATRET Al AR H27 30 4F | R27.12.31 | BEFE |wswesvvenr | H27.01.01 [ H28.01.01 | &
h|{7]0]|0]| 1 |Befa%EprErT Al Bk H28 30 4 | R28.12.31 | BEZE |swxewcrewot | H28.01.01 [ H29.01.01 |  #&%




h|7[0]0] 1 [ERFa%EATEET Al AR H29 30 4F [ R29.12.31 | BEIE |wsweswwewr| H29.01.01 | H30.01.01 | #&
h|{7]0]|0]|1 |BthaEpTErT Al Bk H30 30 4£ [ R30.12.31 | BEZE |wwsewsveor | H30.01.01 [ H31.01.01 | #%
h|7[0]0] 1 [ERFa%EATEET Al AR RO1 30 4F [ R31.12.31 | BEIE |wsweswwwr| H31.01.01 | R0O2.01.01 | #&
h|{7]0]|0]|1 |BthaEpTErT Al Bk R0O2 30 4E | R32.12.31 | BEZE |swsewsveor| R02.01.01 [ RO3.01.01 |  #&%
h|7[0]0] 1 [ERFa%EATEET Al AR RO3 30 4F | R33.12.31 | BEZE |4omaast=| R03.01.01 | R04.01.01 | #&%
h|{7]0]|0]|1 |BthaEpTErT Al Bk RO4 30 4E | R34.12.31 | FgZE |ammwri=| R04.01.01 | R0O5.01.01 | &%
h|7[0|0] 1 |$Ra%EaTRET AR R05 30 ¢ | R35.12.31 | FEZE |Amipisls| R05.01.01 [ R06.01.01 [  #%
h|7[0[0[4 FrE g SRR Fhd T E 6 H14 30 45 | R14.12.31 | BEZE |Aaigi=s H15.01.01 [ &
h{7[0[0[4 PSR SRR FhLTFA E H15 30 A5 | R15.12.31 | BEEE |4kt H16.01.01 | &
h|7[0[0[4 FrE g SRR Fhd T E 6 H16 30 45 | R16.12.31 | BEZE |Aglapiais H17.01.01 [ #&
h{7[0[0[4 PSR SRR FhLTFA E H17 30 A5 | R17.12.31 | BEEE |4kt H18.01.01 | &
h|7[0[0[4 FrE g SRR Fhd T E 6 H18 30 45 | R18.12.31 | BEZE |Amapiaei=s H19.01.01 [ &
h|7[0[0[4[Fr7EABIER SRR Fid 0 Fi5 H19 30 A5 | R19.12.31 | BEEE |4k H20.01.01 | %
h{7]0]0]|4 [FT7EARBISRARSEAER T TRl % H20 30 4F | R20.12.31 | BEZE |Ammpakis H21.01.01 | &
h|7[0[0[4|Fr7EABIERR SRR Fid A Fi5 H22 30 45 | R22.12.31 | BEEE |4kt H23.01.01 | %
h{7]0]0]|4 [FT7EARBISRARSEAER T TRl % H24 30 4F | R24.12.31 | BEZE |amamwes| H24.01.01 | H25.01.01 |  #&
h|7[0[0[4|Fr7EABIERR SRR Fid A Fi5 H25 30 4¢ | R25.12.31 | BE%E |Amapwets| H25.01.01 [ H26.01.01 |  #%
h{7]0]0]|4 [FT7EARBISRARSEAER T TRl % H26 30 4F | R26.12.31 | BEZE |amamwes| H26.01.01 | H27.01.01 | #&
h|7]0] 0|9 |BihussArEearal B ahEm RO3 3 4F | R06.12.31 | BEZE |4mmiri=| R03.01.01 | R04.01.01 | %
h|710[0]9 [BEMaSERTRIET AT H Gl E6% RO4 3 4E | RO7.12.31 | BEZE [4maei=| R04.01.01 | R05.01.01 | #&
h|7[0|0]|9|8msprirnl H =% RO5 34 | R08.12.31 | BEZE |smmeir=| R05.01.01 | R06.01.01 | %
h|7]0] 1|0 SEhaSEATFERT Al S8 H 5 E6% RO3 3 4E | R06.12.31 | BEZE [Amazei=| R03.01.01 | R04.01.01 | #%
h|7[0[ 1[0 [HehaEprHest T 58T H EE RO4 3 4E | RO7.12.31 | FEZE |4omamvest=| R04.01.01 | R05.01.01 [ #%
h|7[0| 1] 0 |Sha%EprResT nl B8 H aE Eik RO5 3 4E | R08.12.31 | BEZE |4omaizets| R05.01.01 | R06.01.01 [ %
h| 70| 1|1 (S5 JREEFTFFF Al REE RS &% | RO3 3 4F | R06.12.31 | BEHE |4omamasi=| R03.01.01 | R04.01.01 | #&%




h(7]0] 1|1 |Beha%E JRBEPT R AT RESE RN m HE 6% | RO4 3 4£ | RO7.12.31 | & |4omaast=| R04.01.01 | R05.01.01 | #%
h| 70| 1] 1Sk I RIFEFTREF ATRES &M HHEER | RO5 3 4F | R08.12.31 | BEIE |4ommpasi==| R05.01.01 | R06.01.01 | #%
h| 70| 1] 2|FFr SRl i aEE RO3 3 4E | R06.12.31 | BEZE |swsxesswwr | R03.01.01 | R04.01.01 | %%
h| 710 1] 2[FFrHEEkiH B RE s RO4 34| RO7.12.31 | BEFE |mswesereor [ R0O4.01.01 | R05.01.01 | #K
h{ 70| 1|2 |FF] FIEEEE B REEE R05 3 4E | R08.12.31 | BEHE |swsesswwr | R05.01.01 | R06.01.01 | %%
h|7(0[1[3 |Heha s JRIEEFTRT P REEHL H RE 5% RO3 34| R06.12.31 | BEFE |mswesereior [ RO3.01.01 | R04.01.01 |  #K
h|7]0] 1|3 |Beha%E IJRIEPTEFRT Al RE S5 A S 6 RO4 3 4E | R07.12.31 wezerreees | R04.01.01 | R05.01.01 |
h{7]0]| 1|3 |&eha%E JRIEPTRET Al REE A 55 4 RO5 3 4£ | R08.12.31 sissieveror | R05.01.01 | R06.01.01 | #%
h|7]0] 1|7 [JHEREEE L IA TR RO3 3 4E | R06.12.31 spzersveor [ R03.01.01 | R04.01.01 [ #%
h{7]0] 1|7 [JHERSEREE 2R A TR RO4 3 4F | R07.12.31 sisieveror | R04.01.01 | R05.01.01 | %
h| 70| 1] 7 |EEHRE <A IATHRD RO5 3 4E | R08.12.31 spzswsveor [ R05.01.01 | R06.01.01 [ #%
h{7]0] 2|7 |Biha% (TIRIKE) FEI R RO3 3 4F | R06.12.31 sssieveror | R03.01.01 | R04.01.01 | #%
h|7]0] 2|7 |Btta%E JIRIE) BEEmE RO4 3 4E | R07.12.31 rezeiree et | R04.01.01 | R05.01.01 | %
h|7]0]|2|7|8ha%E TR FEFEmiE RO5 3 4F | R08.12.31 sasseveror | R05.01.01 | R06.01.01 | #%
h|7]0] 3|5 [FBEEERER A RETRAR RO4 3 4E | R07.12.31 rezeireeet | R04.01.01 | R05.01.01 | %
h|7]|0] 3|5 |F8EnH&RERR A RELRHE R05 3 4F | R08.12.31 simssiest | R05.01.01 | R06.01.01 | &
h|7[0[4]3 |HaEsEE 25 HIAEE RO3 3 4E | R06.12.31 szereveor [ R03.01.01 | R04.01.01 | #%
h|7]0(4]3 gk =i IA TR RO4 3 4F | R07.12.31 siasseveror | R04.01.01 | R05.01.01 | %
h{7]0]| 4|3 |HrEEE 5 HIAEFKY R05 3 4£ | R08.12.31 wsewrerr | R05.01.01 | R06.01.01 | #%
h|710|5] 3 [MEnLeta 82 B RERHK RO3 3 4£ | R06.12.31 saeseeror | R03.01.01 | R04.01.01 | %
h|7[0[5][3 [HsteetagZ BB RO4 3 4E | R07.12.31 sissieveror | R04.01.01 | R05.01.01 | #%
h|7]0]|5]| 3 |FsieeteaZ: B BARE R05 3 4£ | R08.12.31 saeseveror | R05.01.01 | R06.01.01 | %
h{ 7] 1]|0]|3 [l KEIERES () 7F AT H 55 RO3 3 4F | R06.12.31 sissieverot | R03.01.01 | R04.01.01 | #%
h{ 7] 1|03 [FHERH K FHERES () FF AT H5E R04 3 4E | R07.12.31 sisseveror | R04.01.01 | R05.01.01 | #%
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3[5]0] 2| e EEERE H28 30 4F | R28.12.31 | BEHE |wwsewsvent | H28.01.01 [ H29.01.01 | #%
3502 EEiELEH H29 30 4F | R29.12.31 | BEHE |wwweweccior [ H29.01.01 | H30.01.01 | #%
3[5]0] 2| EmE R H30 30 4F [ R30.12.31 | BEHE |wesewsvewor | H30.01.01 [ H31.01.01 | #%
3502 EEiELEH RO1 30 4F | R31.12.31 | BEHE |wsweweccor [ H31.01.01 | R02.01.01 | #%
3[5]0] 2| EmE R R02 30 4F | R32.12.31 | BEHE |wessewsvent | R02.01.01 [ RO3.01.01 | #%
3502 EEiELEH RO3 30 4F | R33.12.31 | BEHE |wswewecior [ R03.01.01 | R04.01.01 | #%
3[5]0] 2| s ERE RO4 30 4F | R34.12.31 | BEHE |wwsewsveor | R04.01.01 [ RO5.01.01 | #%
3502 EEiELEH RO5 30 4F | R34.12.31 | BEHE |wwweweccwr [ R05.01.01 | R0O5.01.01 | #%




e S 4L Pﬁ:@l ‘ /Jiﬁ%:f?;% P
£2 (FR) ATE L AN SRR (R AR)
al0]1|0]6|fFIHEER H10 30 4F | R13.12.31 | BEIE |maussretot H14.01.01 | #%
al0|1]0]6|fFIHiEER H11 30 4 [ R13.12.31 | BEZE |matrerveioh H14.01.01 | %
al0]1|0]6|fFIHEER H12 30 4F | R13.12.31 | BEIE |maussreiot H14.01.01 | #%
al0|1]0]6|fFIHiEER H13 30 4 [ R13.12.31 | BEZE |matrerveioh H14.01.01 | %
al0|1]0]|6|fFHEER H14 30 4F [ R14.12.31 | BEIE |mswssre it H15.01.01 | #%
al0]1|0]6|fFIHmEERH H15 30 45 | R15.12.31 | BEHE |matrcre ok H16.01.01 [ &
al0|1]0]6|fFIHiEER H16 30 A5 | R16.12.31 | BEHE |matecre ok H17.01.01 | %
al0]1|0]6|fFIHmEERH H17 30 A5 | R17.12.31 | BEHE |matrcreroh H18.01.01 [ &
al0|1]0]6|fFIHiEER H18 30 A5 | R18.12.31 | BEHE |materre ok H19.01.01 [ %
al0]1|0]6|fFIHmEERH H19 30 A5 | R19.12.31 | BEHE |matere ok H20.01.01 [ &
al0|1]0][6|FIHEEE H20 30 4F [ R20.12.31 | BEIE |mswsss v iot H21.01.01 | &
al0]1|0] 6 |fFIHEE#H H21 30 45 | R21.12.31 | BEHE |mautere ok H22.01.01 | &
al0|1]0][6|FIHEEE H22 30 4F | R22.12.31 | BEFE |mswssreiot H23.01.01 | &
al0]1|0] 6 |fFIHEE#H H23 30 45 | R23.12.31 | BEHE |mautereroh H24.01.01 | &
al0|1]0][6|FIHEEE H24 30 4F | R24.12.31 | BEFE |mswsreior| H24.01.01 [ H25.01.01 | &
a| 0| 1|06 fFilHEER H25 30 4F | R25.12.31 | FETE |mamssreior | H25.01.01 | H26.01.01| %%
a|0|1|0]|6|FIHEE# H26 30 4= | R26.12.31 | BEHE |msurrvexor| H26.01.01 [ H27.01.01 | #&
al0|1]0]6|fFlEEER H27 30 4 | R27.12.31 | BEHE |mmwereson [ H27.01.01 | H28.01.01 | #%
a|0|1|0]|6|FIHEE# H28 30 4= | R28.12.31 | BEHE |msurrvexor| H28.01.01 [ H29.01.01 |  #&
al0|1]0]6|fFlEEER H29 30 4 | R29.12.31 | BEHE |mmureresor [ H29.01.01 | H30.01.01 | #%
al0|1]0]|6|fFHEERH H30 30 45 | R30.12.31 | BEHE |mmtrrroxor [ H30.01.01 | H31.01.01 | #%
al0|1]0]6|fFlEEER RO1 30 4F | R31.12.31 | BEHE |mmuweresor [ H31.01.01 | R02.01.01 |  #%
al0]1|0]6|fFIHEEER R02 30 4 [ R32.12.31 | BEZE |masrvcior| RO2.01.01 [ RO3.01.01 | #&




al0]1|0]6|fFIHEER RO3 30 4F | R33.12.31 | BEZE |mmursveaor| RO3.01.01 | R04.01.01 | %
al0|1]0]6|fFIHiEER RO4 30 4£ | R34.12.31 | BEZE |mmsrvexoh| R04.01.01 [ RO5.01.01 | #&%
al0]| 1|07 |fFIHEER H26 10 4E | R06.12.31 | BE3E [mammrvexor | H26.01.01 | H27.01.01 | #&
al0|1]0]7|—fiEEk RO5 10 45 | R15.12.31 | BEZE [mswssresor| R05.01.01 | R06.01.01 | #&
al0]1|0]8|—fmeEkH RO1 5 4F | R06.12.31 | BEZE |mamss+raor| H31.01.01 [ R02.01.01 | %%
al0|1]0]8|—fkiEEk R0O2 54 | R07.12.31 | BEZE |mawscresor| R02.01.01 | R03.01.01 [ &
al0|1]0]8| ki@ RO3 5 4F | R08.12.31 | FEHE |mmssrexor| R03.01.01 [ R04.01.01 | #&
al0|1]0]|8|—fximEk R04 5 4F | R09.12.31 | BEZHE |msusrvesoh [ R04.01.01 | R05.01.01 [ #&%
al0]|1|0]8|—fmeEk R05 54 | R10.12.31 | FEZE |massrexor| R05.01.01 [ R06.01.01 | #&
alo|1]1]5[@EssH RO1 54 | R06.12.31 | BEZE |maurcresor| H31.01.01 | R02.01.01 [ %
alo|1]1]5[EmEs R02 54 | RO7.12.31 | FEZE |massrexor| R02.01.01 [ R03.01.01 | #&
alO0| 1] 1|5 [@EnssEsk RO3 5 4| R08.12.31 | BEZE |wawrerciorh| RO3.01.01 [ RO4.01.01 | #&
al0| 1] 1|5 |imE%E R04 5 4F | R09.12.31 | BEFE |masmrvesor [ R04.01.01 | R05.01.01 [ #&%
alO0f 1] 1|5 [@Ensei R05 5 4| R10.12.31 | BEZE |mswrercior| R05.01.01 [ R06.01.01 | &
all|2]|0]1|CEZRMAE RO3 3 4E | R06.12.31 | PEIE |mawsx+esor| RO3.01.01 | R0O4.01.01 [ %
all[2]|0] 1 [3CER M4 RO4 3 4F | R07.12.31 | BEHE |mawsrxreioh[ R04.01.01 | R05.01.01 | #&
all|2]0]1|sCEZHMA4E R05 3 4F | R08.12.31 | BEHE |mswssrexoh[ RO5.01.01 | R06.01.01 | #%
all[3]|0|1[ATHBERE RO3 3 4F | R06.12.31 | BEHE |mawsrxreior[ R03.01.01 | R04.01.01 |  #&
al1|3]0]| 1 [ATHBE R RO4 3 4E | R07.12.31 | PEIE |mawsx+esor| R0O4.01.01 | R05.01.01 [ %
al5|5|0]| 1 |HEREBHERCCLERE 528 30 45 | R13.12.31 | BEHE |mautere ok H14.01.01 | &
al5|5]|0]| 1 |HFEEHERLEEE S29 30 4F [ R13.12.31 | BEHE |mamweroeiol H14.01.01 | %
al5|5|0]| 1 |HEREBHERCCLERE S30 30 45 | R13.12.31 | BEHE |matere ok H14.01.01 | &
al5|5]|0]| 1 |HFEEHERLEEE S31 30 A5 | R13.12.31 | BEHE |mautsscre ok H14.01.01 [ #%
al5|5|0]| 1 |HEREBHERCCLERE S32 30 A5 | R13.12.31 | BEHE |mautesre ok H14.01.01 | &
al5|5|0] 1 [HEFREEHER LR S33 30 4 | R13.12.31 | BEZE |matrerveioh H14.01.01 | %




al5|5|0] 1 [BEFREBHERC LR S34 30 4F | R13.12.31 | BEIE |maussretot H14.01.01 | #%
al5|5|0] 1 [HEFREEHERLIRE S35 30 4 [ R13.12.31 | BEZE |matrerveioh H14.01.01 | %
al5|5|0] 1 [BEFREBHERC LR S36 30 4F | R13.12.31 | BEIE |maussretot H14.01.01 | #%
al5|5|0] 1 [HEFREEHERLIRE S37 30 4 [ R13.12.31 | BEZE |matrerveioh H14.01.01 | %
al5|5|0] 1 [BEFREBHERC LR S38 30 4F | R13.12.31 | BEIE |maussreiot H14.01.01 | #%
al5|5|0] 1 [HEFREEHERLIRE S39 30 4 [ R13.12.31 | BEZE |matrerveioh H14.01.01 | %
al5|5]|0]| 1 |HBEFkEEHER LI 540 30 A5 | R13.12.31 | BEHE |matecre ok H14.01.01 [ %
al|5|[5| 0|1 |HFkEEHERLELE S41 30 A5 | R13.12.31 | BEHE |matesre ok H14.01.01 [ #&
al5|5]|0]| 1 |HBEFkEEHER LI 542 30 4F | R13.12.31 | BEFE |mmmerveiol H14.01.01 [ %
al|5|[5| 0|1 |HFkEEHERLELE 543 30 A5 | R13.12.31 | BEHE |matesre ok H14.01.01 [ #&
al5|5]|0]| 1 |H#EFkEEHER LI S44 30 4F | R13.12.31 | BEFE |mmmerveiol H14.01.01 [ %
al5|5|0]| 1 |[HRREBHERCLER 545 30 A5 | R13.12.31 | BEHE |matesre ok H14.01.01 [ #&
alb5|5[0] 1 [HEFREEHERLIRE 546 30 A5 | R13.12.31 | BEHE |mautcre ok H14.01.01 [ #%
a|5(5]|0| 1 |HFkEEHER LB 547 30 45 | R13.12.31 | BEHE |matereoh H14.01.01 | &
al5|5[0] 1 [HEFRERHERLIRE S48 30 4F | R13.12.31 | BEHE |mamwerveiol H14.01.01 [ #%
al5|5|0]| 1 |HEREBHERCCLEE 549 30 45 | R13.12.31 | BEHE |matereoh H14.01.01 | &
al5|5[0] 1 [HEFRERHERLIRE S50 30 45 | R13.12.31 | BEHE |mauswcreoh H14.01.01 [ #%
a|5(5]|0| 1 |HFkEEHER LB S51 30 45 | R13.12.31 | BEHE |matereoh H14.01.01 | &
al5|5]|0]| 1 |HFEEHERLEEE S52 30 4£ | R13.12.31 | BEHE |mumtrereon H14.01.01 | %
al5|5|0]| 1 |HEREBHERCCLERE S53 30 45 | R13.12.31 | BEHE |mautere ok H14.01.01 | &
al5|5]|0]| 1 |HFEEHERLEEE S54 30 4£ | R13.12.31 | BEHE |mumtrereon H14.01.01 | %
al5|5|0]| 1 |HEREBHERCCLERE S55 30 45 | R13.12.31 | BEHE |matere ok H14.01.01 | &
al5|5]|0]| 1 |HFEEHERLEEE S56 30 4E | R13.12.31 | BEHE |mumtrereon H14.01.01 [ %
al5|5|0]| 1 |HEREBHERCCLERE S57 30 4F | R13.12.31 | BEFE |mammerveiol H14.01.01 [ &
al5|5|0] 1 [HEFREEHER LR S58 30 4 | R13.12.31 | BEZE |matrerveioh H14.01.01 | %




al5|5|0] 1 [BEFREBHERC LR S59 30 4F | R13.12.31 | BEIE |maussretot H14.01.01 | #%
al5|5|0] 1 [HEFREEHERLIRE S60 30 4 [ R13.12.31 | BEZE |matrerveioh H14.01.01 | %
al5|5|0] 1 [BEFREBHERC LR S61 30 4F | R13.12.31 | BEIE |maussretot H14.01.01 | #%
al5|5|0] 1 [HEFREEHERLIRE S62 30 4 [ R13.12.31 | BEZE |matrerveioh H14.01.01 | %
al5|5|0] 1 [BEFREBHERC LR S63 30 4F | R13.12.31 | BEIE |maussreiot H14.01.01 | #%
al5|5|0] 1 [HEFREEHERLIRE HO1 30 4 [ R13.12.31 | BEZE |matrerveioh H14.01.01 | %
al5|5]|0]| 1 |HBEFkEEHER LI H02 30 A5 | R13.12.31 | BEHE |matecre ok H14.01.01 [ %
al|5|[5| 0|1 |HFkEEHERLELE HO03 30 A5 | R13.12.31 | BEHE |matesre ok H14.01.01 [ #&
al5|5]|0]| 1 |HBEFkEEHER LI HO4 30 4F | R13.12.31 | BEFE |mmmerveiol H14.01.01 [ %
al|5|[5| 0|1 |HFkEEHERLELE HO05 30 A5 | R13.12.31 | BEHE |matesre ok H14.01.01 [ #&
al5|5]|0]| 1 |H#EFkEEHER LI HO06 30 4F | R13.12.31 | BEFE |mmmerveiol H14.01.01 [ %
al5|5|0]| 1 |[HRREBHERCLER HO7 30 A5 | R13.12.31 | BEHE |matesre ok H14.01.01 [ #&
alb5|5[0] 1 [HEFREEHERLIRE HO8 30 A5 | R13.12.31 | BEHE |mautcre ok H14.01.01 [ #%
a|5(5]|0| 1 |HFkEEHER LB H09 30 45 | R13.12.31 | BEHE |matereoh H14.01.01 | &
al5|5[0] 1 [HEFRERHERLIRE H10 30 4F | R13.12.31 | BEHE |mamwerveiol H14.01.01 [ #%
al5|5|0]| 1 |HEREBHERCCLEE H11 30 45 | R13.12.31 | BEHE |matereoh H14.01.01 | &
al5|5[0] 1 [HEFRERHERLIRE H12 30 45 | R13.12.31 | BEHE |mauswcreoh H14.01.01 [ #%
a|5(5]|0| 1 |HFkEEHER LB H13 30 45 | R13.12.31 | BEHE |matereoh H14.01.01 | &
al5|5|0]| 1 [HRkEBHERALHE H14 30 4E | R14.12.31 | BEHE |mumtrercon H15.01.01 | %
al5|5|0]| 1 |HEREBHERCCLERE H15 30 45 | R15.12.31 | BEHE |matereoh H16.01.01 | &
al5|5|0]| 1 [HRkEBHERALHE H16 30 4F | R16.12.31 | BEHE |mmwerce ol H17.01.01 | %
al5|5|0]| 1 |HEREBHERCCLERE H17 30 A5 | R17.12.31 | BEHE |matecre ok H18.01.01 | &
al5|5]|0]| 1 |HFEEHERLEEE H18 30 4£ | R18.12.31 | BEHE |mumtrereon H19.01.01 | %
al5|5|0]| 1 |HEREBHERCCLERE H19 30 4F [ R19.12.31 | BEFE |mamrerveion H20.01.01 [ &
al5|5|0] 1 [HEFREEHER LR H20 30 4 [ R20.12.31 | BEIE |matrerveioh H21.01.01 | %




al5|5|0] 1 [BEFREBHERC LR H21 30 4E | R21.12.31 | BEHE |mmtrereron H22.01.01 [ %
al5|5|0] 1 [HEFREEHERLIRE H22 30 4 | R22.12.31 | BEZE |matrerveioh H23.01.01 | %
al5|5|0] 1 [BEFREBHERC LR H23 30 4E | R23.12.31 | BEHE |mmtrereron H24.01.01 | %
al5|5|0] 1 [HEFREEHERLIRE H24 30 4 | R24.12.31 | BEZE |mawsrveior| H24.01.01 [ H25.01.01 |  #%
al5|5|0] 1 [BEFREBHERC LR H25 30 4 | R25.12.31 | BE#E |mmssrcwor | H25.01.01 | H26.01.01 | #%
al5|5|0] 1 [HEFREEHERLIRE H26 30 4 | R26.12.31 | BEZE |mawsrveior| H26.01.01 [ H27.01.01 | #%
al5|5]|0]| 1 |HBEFkEEHER LI H27 30 5 | R27.12.31 | BEHE |mamwerreson [ H27.01.01 | H28.01.01 |  #&%
al|5|[5| 0|1 |HFkEEHERLELE H28 30 4F | R28.12.31 | BEFE |mswssveior| H28.01.01 [ H29.01.01 | &
al5|5]|0]| 1 |HBEFkEEHER LI H29 30 A5 | R29.12.31 | BEHE |mamwerresor [ H29.01.01 | H30.01.01 | #%
al|5|[5| 0|1 |HFkEEHERLELE H30 30 4F [ R30.12.31 | BEZE |mswssveior| H30.01.01 [ H31.01.01 | &
al5|5]|0]| 1 |H#EFkEEHER LI RO1 30 A5 | R31.12.31 | BEHE |mamwerreson [ H31.01.01 | R02.01.01 |  #%
al|5|[5| 0|1 |HFkEEHERLELE RO2 30 4F [ R32.12.31 | BEFE |mswssveior| RO2.01.01 [ RO3.01.01 | &
alb5|5[0] 1 [HEFREEHERLIRE RO3 30 45 | R33.12.31 | BEHE |msusrresor [ RO3.01.01 | R04.01.01 | #%
a|5(5]|0| 1 |HFkEEHER LB R04 30 4F | R34.12.31 | BEZFE |mmuszrrexor| R04.01.01 | R0O5.01.01 | %
al5|5[0] 1 [HEFRERHERLIRE R05 30 45 | R35.12.31 | BEHE |msusrresor [ R05.01.01 | R06.01.01 | #%
al5|5]0]|2 |8 ENEitE (%) # S45 30 45 | R13.12.31 | BE#E |FIE&p= H14.01.01 [ #&
al5|5]0]|2 |8 ENEIEE (1) & 546 30 45 | R13.12.31 | BE#E |HIF@Ekl= H14.01.01 [ #%
alb5|5(0]2 |8 ERETE (5 # 547 30 4F [ R13.12.31 | BEIE |HFE&EEI= H14.01.01 | &
alb|5|0]| 2|8 ERTE (1) % S48 30 45 | R13.12.31 | BE3#E |FIF@kl= H14.01.01 [ #%
a|b5|5|0]|2|HEREItE (2% 549 30 4 | R13.12.31 | BE3E |[ME&ER= H14.01.01 | #&
alb|5|0]| 2|8 ERTE (1) % S50 30 45 | R13.12.31 | BE3#E |FIF@kl= H14.01.01 [ #%
al|b5|5(0]2|#EEFEE (352 & S51 30 4F | R13.12.31 | BEZE |HE&k=E H14.01.01 | &
al5|5]|0]|2|#ENEiEE (352) % S52 30 45 | R13.12.31 | BE3E |FIF@kl= H14.01.01 [ #%
alb5|5(0]2|HEETE (%) # S53 30 4F [ R13.12.31 | BEZE |Hgpl= H14.01.01 [ &
al5|5]0]|2 |8 ENEIEE (%) k# S54 30 4 [ R13.12.31 | BEZE |FIF&rb= H14.01.01 | %




al5|5]|0]|2 |8 ENRIEE () # S55 30 4 [ R13.12.31 | BEZE |HgERl= H14.01.01 [ %
al5|5]0]|2 |8 ENEIEE (%) k# S56 30 4 | R13.12.31 | BEZE |HIF&rl= H14.01.01 | %
al5|5]0]|2 |8 EmiEE 3% % S57 30 45 | R13.12.31 | BEZE |HE&EE= H14.01.01| #&
al5(5|0]|2|[HEEETE () & S58 30 4 | R13.12.31 | BEZE |HIF&rl= H14.01.01 | %
al5|5]0]|2 |8 ENEEEJE) S59 30 45 | R13.12.31 | BEZE |HE&EE= H14.01.01| #&
al5(5|0]|2|[HEEETE () & S60 30 4 | R13.12.31 | BEZE |HIF&rl= H14.01.01 | %
al5|5]0]|2 |8 ENRIEE (5 # S61 30 45 | R13.12.31 | B |FIF&Ekl= H14.01.01 [ %
al5|5]0]|2 |8 ENEEE (%) S62 30 45 | R13.12.31 | BEHE |FIE&p= H14.01.01 [ #&
al5|5]0]|2 |8 ENRIEE (5 # S63 30 45 | R13.12.31 | B |FIF&Ekl= H14.01.01 [ %
al5|5]0]|2 |8 ENEEE (%) HO1 30 45 | R13.12.31 | BEHE |FIE&p= H14.01.01 [ #&
al5|5]0]|2 |8 ENRIEE (5 # H02 30 45 | R13.12.31 | B |FIF&Ekl= H14.01.01 [ %
al5|5]0]|2 |8 ENEEE (%) HO03 30 45 | R13.12.31 | BEHE |FIE&p= H14.01.01 [ #&
al5|5]0]|2 |8 ENEIEE (1) & HO04 30 45 | R13.12.31 | BE3#E |FIF@Ekl= H14.01.01 [ #%
alb5|5(0]2 |8 ERETE (5 # HO05 30 4F [ R13.12.31 | BEZE |HE&EEI= H14.01.01 | &
al5|5]0]|2 |8 ENEIEE (1) & HO06 30 45 | R13.12.31 | BE#E |HIF@Ekl= H14.01.01 [ #%
alb5|5(0]2 |8 ERETE (5 # HO7 30 45 | R13.12.31 | BE#E |FIE&p= H14.01.01 [ #&
al5|5]0]|2 |8 ENEIEE (1) & HO8 30 45 | R13.12.31 | BE#E |HIF@Ekl= H14.01.01 [ #%
alb5|5(0]2 |8 ERETE (5 # HO09 30 45 | R13.12.31 | BE#E |FIE&p= H14.01.01 [ #&
alb|5|0]| 2|8 ERTE (1) % H10 30 45 | R13.12.31 | BE3#E |FIF@kl= H14.01.01 [ #%
al|b5|5|0]2|HEEETE (352 & H11 30 4F | R13.12.31 | FEZE |HE&k=E H14.01.01 | &
alb|5|0]| 2|8 ERTE (1) % H12 30 45 | R13.12.31 | BE3#E |FIF@kl= H14.01.01 [ #%
al|b5|5(0]2|#EEFEE (352 & H13 30 4F | R13.12.31 | BEZE |HE&k=E H14.01.01 | &
alb|5|0]|2 |8 ERTE (152 & H14 30 45 | R14.12.31 | BE3E |FIF@kl= H15.01.01 [ #%
alb5|5(0]2|HEETE (%) # H15 30 4F | R15.12.31 | BEZE |H¥gpl= H16.01.01 [ &
al5(5|0]|2 |[HEEREEE () & H16 30 4 | R16.12.31 | BEZE |FIF&rl= H17.01.01 | %




alb5|5(0]2|#ERETE (32 & H16 30 4F | R16.12.31 | BESE |HIF&kl= H17.01.01 | #%
alb5|5(0]2|HERETE (5 # H17 30 4F [ R17.12.31 | BEIE |HIF&EEI= H18.01.01 | &
a|5[5]|0|2 |8 EEitE (%) & H18 30 4 | R18.12.31 | BEHE |IFdkla= H19.01.01 | #&
al5|5]0]|2 |8 ENEIEE (%) k# H19 30 4 [ R19.12.31 | BEZE |HIF&Erl= H20.01.01 | %
alb5|5(0]2|#ERETE (32 & H20 30 4F | R20.12.31 | BESE |HIF&kl= H21.01.01 | #%
al5|5]0]|2 |8 ENEIEE (%) k# H21 30 4 | R21.12.31 | BEZE |HIF&rl= H22.01.01 | %
al5|5]0]|2 |8 ENRIEE (5 # H22 30 45 | R22.12.31 | B |FIF&kl= H23.01.01 | %
al5|5]0]|2 |8 ENEEE (%) H23 30 45 | R23.12.31 | BEHE |FIF&k= H24.01.01 [ #&
al5|5]0]|2 |8 ENRIEE (5 # H24 30 4 | R24.12.31 | BEZE |FIF&Ekb==| H24.01.01 [ H25.01.01 [ &
al5|5]0]|2 |8 ENEEE (%) H25 30 45 | R25.12.31 | BEHE |FIE&pl=| H25.01.01 | H26.01.01 | #&
al5|5]0]|2 |8 ENRIEE (5 # H26 30 4 | R26.12.31 | BEZE |FIF&kb==| H26.01.01 [ H27.01.01 [ &
al5|5]0]|2 |8 ENEEE (%) H27 30 45 | R27.12.31 | BEZE FIE&@pli=| H27.01.01 | H28.01.01 | #&
al5|5|0]|2|HEEEEE (%) H28 30 4% | R28.12.31 | JEHE [w=sveiob [ H28.01.01 | H29.01.01 | K
a|5[5]0|2|HEEEitE (158 # H29 30 4F [ R29.12.31 | BEZE |w=rvexvk| H29.01.01 [ H30.01.01 | &
al5|5]0]|2 |8 ENEIEE (1) & H30 30 4E | R30.12.31 | BE#E |wsssrsor | H30.01.01 [ H31.01.01 | %%
a|5[5]0|2|HEEEitE (158 # RO1 30 4F [ R31.12.31 | BEZE |w=xvexvk| H31.01.01 [ R02.01.01 | &
al5|5]0]|2 |8 ENEIEE (1) & R02 30 4E | R32.12.31 | BE#E |wssvrsor | RO2.01.01 | RO3.01.01 | %%
a|5[5]0|2|HEEEitE (158 # RO3 30 4F [ R33.12.31 | BEZE |w=xvrravk| R03.01.01 [ R04.01.01 | &
al|5[5]0]2|[HElEFtE (1) #% R04 30 4F | R34.12.31 | BEZE |mmwsrs+rexok| R04.01.01 [ R05.01.01 | %
alb5|5(0]2|HEETE (%) # R05 30 4F | R35.12.31 | BEHE |mmwereor [ R05.01.01 | R06.01.01 | #%
al5|5]0] 3 |[MEmkiEEnE H26 10 4£ | R06.12.31 | FEHE |mawrrvesor| H26.01.01 [ H27.01.01 | %
a|b5|5|0]|3 HEakiEENE H27 10 5 | RO7.12.31 | BEZE |mawrsresor [ H27.01.01 | H28.01.01 |  #&
al5|5]0]| 3 |[MEmkiEEnE H28 10 46 | R08.12.31 | FEHE |mawrervesok| H28.01.01 [ H29.01.01 |  #%
al|b5|5|0]|3 HEakiEENE H29 10 5 | R09.12.31 | BEZE |matrsresor [ H29.01.01 | H30.01.01 | #%
al5|5]|0]| 3 |HEkIGE)HE H30 10 45 | R10.12.31 | BEZE [mswsesvesor| H30.01.01 | H31.01.01 |  #&




al|5(5]0]| 3 |8EiksEE RO1 10 4E | R11.12.31 | BE3E [mmmevexor| H31.01.01 | RO2.01.01 |  #&
al5|5]0] 3 [MEmkiEEnE R02 10 4 | R12.12.31 | BEZE [mawesrexor| R0O2.01.01 | R03.01.01 | #%
al|5(5]0]| 3 |8EiksEE RO3 10 4E | R13.12.31 | BE3E [mmssrexor| RO3.01.01 | RO4.01.01 |  #&
al5|5]|0]| 3 |HEkIGE)E RO4 10 45 | R14.12.31 | BEZE [mswssveor| R04.01.01 | R05.01.01 | #&
al|5(5]0]| 3 |8EiksEE R05 10 4E | R15.12.31 | BE3E [mmssrexor| R05.01.01 | R06.01.01 |  #&
al5|5]| 1|1 |EEVRREEA R OFRBRRE EFHE | H22 |wawmmwre 5 40 BEZE [mrsrrexoh | H22.01.01 | H23.01.01 |  #&
al|5|5] 1|1 [EFEESVARREEIA R QR ARBACREF IR | H23 |wemmere 5 4R BEFE |m=evrio [ H23.01.01 | H24.01.01 | #%
a|b| 5| 1|1 [EEEVRREEAR L OVEABARRE S BE | H24 |wamme e 5 4F JEZE |ursreiob | H24.01.01 | H25.01.01 | #&
al|5|[5] 1|1 [EFEESVARREEMA R QR ABACREF IR | H25 |wemmere 5 4R BEFE |m=vrio [ H25.01.01 | H26.01.01 | #%
a|b| 5| 1|1 [EEEVRREEAR L OVEABARRE S BRE | H26 |wamme e 5 4F JEZE |ursretob | H26.01.01 | H27.01.01 | #&
al|5|5] 1|1 [EFEESVARREEMA R VR ARBACREF IR | H2T |wemmsre 5 4R BEFE |m=evrio [ H27.01.01 | H28.01.01 | #%
a|b| 5| 1|1 [EEEVRREEAR L OVEARBARRE S BRE | H28 |wammk i 5 4F JEZE |ursretob | H28.01.01 | H29.01.01 | #&
al5|5| 1|1 |EFEEVRREEMA KL OURABACRAE Z PR | H29 [wemmere 5 4F BEFE |wrvrxor | H29.01.01 [ H30.01.01 | %
a|5(5] 1|1 [FExxnRERE AR OVEARBARRE & B | H30 |wemmere 5 48 FEHE = aoh | H30.01.01 | H31.01.01 | %
al5|5 |11 |EFEEVRBREEMA KR ORABARORE Z I | RO [wemmere 5 4F BEFE |msvrxor | H31.01.01 | R02.01.01 | #%
a|5(5] 1|1 [FExxnRERE AR OVEARBAKE S & EE | RO2 |wemmere 5 4F BEHE m=xvraoh | RO2.01.01 | R03.01.01 [ %
al5|5| 1|1 |EHFEEVRREEMA KR OURABARCRAE Z P | RO3 [wimmere 5 4F BEFE |wrkvrior | RO3.01.01 [ R04.01.01 | %
al|5|5| 1|1 |[EFEEEVRREEIA K VR ABACRE S P | RO4 |memmers 5 4 BEFE |mammrveson | R04.01.01 | R05.01.01 | #%
alb5|5| 1|1 |EFEEVRREEMA KR CRABARORE Z P | RO5 [wimmere 5 4F BEHE |mamimrvexor| R0O5.01.01 | R06.01.01 | %
al5|5| 1|2 |EEEVRBRECHR K O A AR e R RO1 54 | R06.12.31 | BEZE |[mauerresor | H31.01.01 | R02.01.01 | #%
al5|5|1|2|EFESVRERZLEA L QRS ATEREE  | RO2 5 4E | R07.12.31 | PBEIE |mawsxresor| R02.01.01 | R03.01.01 [ %
alb5|5]| 1|2 |EFETVRREHA KL ORABARERE | RO3 54 | R08.12.31 | BEZE |[mauexreior| R03.01.01 | R0O4.01.01 | #%
al5|5| 1|2 |EFESVREREEA L R ARBATEE | RO4 5 4E | R09.12.31 | PBEIE |mausxresor| R0O4.01.01 | R05.01.01 [ %
alb|5]| 1|2 |EFESEVRREHA KL ORABARERE | RO5 545 | R10.12.31 | PE3E |mawsc+esor| R05.01.01 | R06.01.01 [ %
alb5 |5 1|3 |EXXDRIHREHLAT & H23 |memmere 5 4 BEEE |m=svexob | H23.01.01 A




al|5(5]| 1|3 |EXZTIFREHLAH] & H24 |mewmeTte 5 4 PEEE |m=sverob | H24.01.01 HE
al|5]|5]| 1|3 |ExxBREHATHE H25 |memmxTre 5 4R BEHE |m=sverob | H25.01.01 s
al|5(5]| 1|3 |EXZTIFREHLAH] & H26 |memmeTte 5 4 PEEE |m=sverob | H26.01.01 HE
al|5]|5]| 1|3 |ExxBREHATHE H27 |memmxre 5 4R BEEE = rob | H27.01.01 s
al|5(5]| 1|3 |EXZTIFREHLAH] & H28 |memmwTte 5 4 PEEE |m=sverob | H28.01.01 HE
al|5]|5]| 1|3 |ExxBREHATHE H29 |w@mmweTe 5 4= BEEE | rob | H29.01.01 A
al|5(5]| 1|3 |EXXBIFREELAH] & H30 |we&mmsrs 5 4 PEEE |ms=svexob | H30.01.01 Ay
alb|5|1]3|EEZVARHRFELAT]H RO |memmiers 5 4F FEFE |Wessrexoh [ H31.01.01 ik
al5|5]| 1|3 |HFEEVRMREZLEAF & RO2 |wemmweTe 5 4R BEFE | xoh [ R02.01.01 it
al5|5]| 1| 3|HEEEVRRLLAF]H & RO3 |mammwere 5 48 FETE [mrvexor | RO3.01.01 ik
al|5]|5] 1|3 |ExxRREEERHE RO4 |wa&mpsTi 5 4R BRIHE [mawgrrexot | RO4.01.01 R
alb5|5| 1|3 |[FEEVRBREZLEAF]HE RO5 |memmiere 5 4 PEHE |mawrreok | R05.01.01 i
al|5|5|1|4|FEE7 AN iekiE H27 |memmere 5 4R BEFE |msxvraok | H27.01.01 A
al|5| 5| 1|4 ‘77 AN itekE H28 |wwmhieree 5 4R BEFE |wExvravk | H28.01.01 A
al|5|5|1|4|FEE7 AN iekiE H29 |memmere 5 4R BEHE |mrmrvraok | H29.01.01 A
al|5| 5| 1|4 ‘77 AN itekE H30 |memmere 5 4R BEFE |wExvexvk | H30.01.01 A
a|b| 5| 1|4 EE7 7 AL iekiE RO1 |wimmere 5 4 BEHE |msxvraok | H31.01.01 A
al|5| 5| 1|4 ‘77 AN itekE RO2 |wummwree 5 4 BEFE |w=xvravk | RO2.01.01 A
a|b5| 5| 1|4 [FmE&E77ALGLekiE RO3 |mammers 5 45 BT s iob | R0O3.01.01 A
a|b5|5|1|4[R @77k RO4 [weEmmwere 5 4R BEHE |mmtmrveior | R04.01.01 K
al5|5| 14| EE7rALEekE RO5 |mempwre 5 4R BEHE |wmmtsrvexor | R05.01.01 K
alb|5| 1|5 [JEALMRTENFHE RO1 545 | R06.12.31 | PBEZE [maussresor| H31.01.01 | R02.01.01 | #&
al5|5| 1|5 ARG TENHHE RO2 54 | RO7.12.31 | BE3E |mmwsxvexor| R02.01.01 | RO3.01.01 | #%
al5|5| 1|5 [EALMRTESNFIHE RO3 5 4F | R08.12.31 | BEHE |mawssreioh[ RO3.01.01 | R04.01.01 | #&
al5|5]| 1|5 |EABART &N HE R04 54F | R09.12.31 | BEHE |mawsreior[ R04.01.01 | R05.01.01 |  #&




al5|5| 1|5 ARG ENFHE RO5 54 | R10.12.31 | BEZE [masxrexor| R05.01.01 | R06.01.01 | #&
al5|5]| 1|6 |FEALARTEIFF & RO1 54 | R06.12.31 | BEZE |mawscvesor| H31.01.01 | R02.01.01 [ &
al5|5]| 1|6 |FABART S/ & RO2 54 | R07.12.31 | BEZE [masxrewor| R0O2.01.01 | R0O3.01.01 | #&
al5|5]| 1|6 |FEALARTEIFF & RO3 5 4 | R08.12.31 | PBEIE |mawrxresor| RO3.01.01 | R04.01.01 [ %
al5|5]| 1|6 |FABART S/ & RO4 5 4E | R09.12.31 | Bz |mawsxreor| R0O4.01.01 | R05.01.01 | %%
al5|5]| 1|6 |FEALARTEIFF & R05 5 4E | R10.12.31 | BEZE |mawrxresor| R05.01.01 | R06.01.01 [ %
alb|5| 1|7 |FImE{EREEEE RO1 5 4F | R06.12.31 | BEHE |mauesvexor| H31.01.01 [ R02.01.01 | &%
alb| 5| 1|7 I {ERE B R02 54 | R07.12.31 | BEZE |mawrxresor| R02.01.01 | R03.01.01 [ %
alb|5| 1|7 |FImE{EREEEE RO3 5 4F | R08.12.31 | BEHE |mauesrexoh| RO3.01.01 [ R04.01.01 | &
alb| 5| 1|7 I {ERE B RO4 5 4F | R09.12.31 | BEHE |mawsrx+cior[ R04.01.01 | RO5.01.01 |  #%
a|5|5]| 1|7 |FNEVERRE B R05 5 4F | R10.12.31 | BEIE |masmvesor| R05.01.01 | R06.01.01 | #&
al5|5]|1]|8|HEEVRRIARSE S {HE RO1 54 [ R06.12.31 | BEZE |maueeresor| H31.01.01 [ R0O2.01.01 | #%
al5|5]| 1|8 |EFEEVRRELEARESIHHE R02 5 4F | R07.12.31 | BE3HE |mswssreixor[ R02.01.01 | R03.01.01 |  #%
al5|5| 1|8 |EEXVARERFEALES| fkiE RO3 5 4F [ R08.12.31 | BEHE [mawrrresor| R03.01.01 [ RO4.01.01 | #%
al5|5|1]|8|EEEVMIRBIARSES k& RO4 5 4F | R09.12.31 | BEHE |mswssreixor[ R0O4.01.01 | R05.01.01 |  #%
al5|5|1]|8|EXEVAHRELLIRLES [HkE R05 545 | R10.12.31 | PBEZE |mawscvesor| R05.01.01 | R06.01.01 [ %
al5|5|2]| 0|7 PHNIATEENERZEFE I EHH RO1 5 4F | R06.12.31 | BEHE |mswssvexor [ H31.01.01 | R02.01.01 |  #%
al5|5|2]|0FPHNIATEENERZ L I ERH R02 54F | R07.12.31 | BEHE |mawsxreior[ R02.01.01 | R03.01.01 |  #&
al5|5]|2|0|Fo2NIATEENER T RS ES RO3 54 | R08.12.31 | PBEIE |mswsrresor| R03.01.01 | R0O4.01.01 [ &
al5|5]|2|0Fo2NIATEENERN T KL RO4 54 [ R09.12.31 | Fg#E |maeeresor| RO4.01.01 | R05.01.01 | #%
al5|5[2f0 ?V&/vﬁfﬁggrﬁﬁiiéﬁ-@géf RO5 5 4 | R10.12.31 | BEFE |msurerexok| R05.01.01 [ R06.01.01 | #K
al 5|53 1ALyl A (BERIL IR HIRkE ) k0 RO3 34 [ R06.12.31 | FE#E |maeeresor| R0O3.01.01 | R0O4.01.01 | #%
al5[5(3 1@%%%(@5&5@5%%%*%)@%@& RO4 34 [ RO7.12.31 | BEHE |msurrresor| R04.01.01 [ R05.01.01 | #%
al5|5] 3|1 [k A (BERALIRFE RS ) 1 knFH RO5 3 4E | R08.12.31 | BEZE |maurrresor| R05.01.01 | R06.01.01 [ %
al5|5|4]| 1 |BGEEESCES (1) F (38) % H26 10 4F | R06.12.31 | FEFE |msrreaok | H26.01.01 [ H27.01.01 | %%




a|5|5|4|1 BT ERuEA (B2 F (#8) #% H27 10 4E | R07.12.31 | FEFE |maevexor | H27.01.01 | H28.01.01 | %
al5|5]| 4|1 [BUGHEEBOES (BIZ) & (P # H28 10 45 | R08.12.31 | BEZE [msxrexor | H28.01.01 | H29.01.01 |  #&
a|5|5|4|1 BT ERuEA (B2 F (#8) #% H29 10 4E | R09.12.31 | FEFE |msrvexok | H29.01.01 | H30.01.01 | %
al5|5]| 4|1 [BUGHEEBOES (EIZ) & () # H30 10 45 | R10.12.31 | BEZE [msxrexor | H30.01.01 | H31.01.01 |  #%
al5|5]| 4|1 [BEHEERGEN (BI12) & (28) #& RO1 10 4F | R11.12.31 | BEZE |mawsrresor [ H31.01.01 | R0O2.01.01 | #%
alb|5]| 4|1 [BSHEELOENT (BIZ) F (#8) £% R02 10 4 | R12.12.31 | BEZE [mawesrexor| R0O2.01.01 | R03.01.01 | #%
a|5|5]| 4|1 [BGETEELOEN (BI%) & (#8) £ RO3 10 45 [ R13.12.31 | BEHE |msusrsvexok| R03.01.01 [ R04.01.01 |  #i%
alb|5]| 4|1 |BiHEEROENT (BIZ) F (#8) £ RO4 10 4F | R14.12.31 | BEFE |maussrexok| R04.01.01 [ R05.01.01 | %
a|5|5]| 4|1 [BGETEELOEN (BI%) & (#8) £ RO5 10 45 | R15.12.31 | BEHE |msussvexok| R05.01.01 [ R06.01.01 | %
n|0|2|0]3[ZLREARE RO3 3 4F | R06.12.31 | BEHE |mawsx+cor[ RO3.01.01 | R04.01.01 | #%
n|0]2]0] 3 [ELRERHK RO4 3 4 | R07.12.31 | BEHE |maursvexoh| R04.01.01 [ R05.01.01 | &%
n|0|2|0]3[ZLREARE R05 3 4F | R08.12.31 | BEHE |mawsrx+eor[ RO5.01.01 | R06.01.01 | #%
n|0|3|0] 2 |#EkE:netk & B RO3 3 4E | R06.12.31 | PEIE |mawsrx+esor| RO3.01.01 | R0O4.01.01 [ %
n|0]|3]|0]|2|#iaemEBERH RO4 3 4 | R07.12.31 | PBEIE |mawscvesor| R0O4.01.01 | R05.01.01 [ %
n|0|3|0] 2 |#EkE:netk & B RO5 3 4E | R08.12.31 | PEFE |mawsx+esor| R05.01.01 | R06.01.01 [ %
n|0|[6]0]2|[{LlEEkaRERE RO1 5 4F | R06.12.31 | BEHE |mawsrxresor[ H31.01.01 | R02.01.01 | #&
n|0|6|0]2[LlEEERE R02 5 4F | R07.12.31 | BEHE |mswssvexor[ R02.01.01 | R03.01.01 |  #%
n|0|[6]0]2|[{LlEEkaRERE RO3 5 4F | R08.12.31 | BEHE |mawsxreioh[ RO3.01.01 | R04.01.01 |  #&
n|0|[6]0]2(LlEiaREFRE RO4 5 4F | R09.12.31 | JEHE |mausrvciob [ R0O4.01.01 | R05.01.01 [ #%
n|0]6]0|2|LlEERERRE R05 54 | R10.12.31 | BEZE [mausxreor| R05.01.01 | R06.01.01 | #&
n|0]|8]|0]|3 |5EERHRE S50 30 45 | R13.12.31 | BE3E |[HIFERI= H14.01.01 | #&
n|0|[8]0] 3 |8EERIRHR S51 30 4F [ R13.12.31 | BEIE |HEFEEI= H14.01.01 | &
n|0|[8]|0] 3 [EEER% S52 30 45 | R13.12.31 | BEZE |FIF&EE= H14.01.01 | %
n|0|[8]0] 3 |8EERRHR S53 30 4F [ R13.12.31 | BEZE |HIFE&EEI= H14.01.01 | &
n|of8|0f3 |#ERRk S54 30 4 [ R13.12.31 | BEZE |FIF&rb= H14.01.01 | %




n|0|[8]0]3 |8 ERRHR S55 30 45 | R13.12.31 | B |FIF&k= H14.01.01 | #%
n|0]8]0|3 |#EaRkE S56 30 45 | R13.12.31 | BEHE |FIF&p= H14.01.01 [ #&
n|0|[8]0]3 |8 ERRHR S57 30 47 [ R13.12.31 | BEZE |FIF&Ekl= H14.01.01 | #%
n|0]8]0|3 |#EaRkE S58 30 45 | R13.12.31 | BEHE |FIF&p= H14.01.01 [ #&
n|0|[8]0]3 |8 ERRHR S59 30 45 | R13.12.31 | B |FIF&k= H14.01.01 | #%
n|0|8|0]3 |#ErEtakHk S60 30 45 | R13.12.31 | BEHE |FIF&p= H14.01.01 [ #&
n|0]|8]0|3 |#ELRE S61 30 45 | R13.12.31 | B |FIF&Ekl= H14.01.01 [ %
n|0|[8]0]3 | ERIRHK S62 30 4F [ R13.12.31 | BEZE |HIF&EEI= H14.01.01 | &
n|0|8|0] 3 |#ERErak S63 30 45 | R13.12.31 | B |FIF&Ekl= H14.01.01 [ %
n|0|[8]0]3 | ERIRHK HO1 30 4F [ R13.12.31 | BEZE |HIF&EEI= H14.01.01 | &
n|0]|8]0|3 |#ELRE H02 30 45 | R13.12.31 | B |FIF&Ekl= H14.01.01 [ %
n|0|[8]0]3 | ERIRHK HO03 30 4F [ R13.12.31 | BEZE |HIF&EEI= H14.01.01 | &
n|0]|8]0]|3 |#ERRR HO04 30 45 | R13.12.31 | BE3#E |FIF@Ekl= H14.01.01 [ #%
n|0]|8]|0]|3 |#EEERE HO5 30 4 | R13.12.31 | BEFE |kl H14.01.01 [ #&
n|0]|8]0]|3 |#ERRRE HO06 30 45 | R13.12.31 | BE#E |HIF@Ekl= H14.01.01 [ #%
n|0]|8]|0]|3 |#EEERE HO7 30 4 | R13.12.31 | BEFE |HIFEkl= H14.01.01 [ #&
n|0]|8]0]|3 |#ERRRE HO8 30 45 | R13.12.31 | BE#E |HIF@Ekl= H14.01.01 [ #%
n|0]|8]|0]|3 |#EEERE HO09 30 4 | R13.12.31 | BEFE |HIFEkl= H14.01.01 [ #&
n|0|8|0]3 |8EERRH% H10 30 45 | R13.12.31 | BEZE |FIF&EE= H14.01.01 | %
n|0|[8]0] 3 |8EERRHR H11 30 4F [ R13.12.31 | BEIE |HEFEEI= H14.01.01 | &
n|0|8]0]3 [ EERZ H12 30 45 | R13.12.31 | BEZE |FIF&EE= H14.01.01 | %
n|0|[8]0] 3 |8EERIRHR H13 30 4F [ R13.12.31 | BEIE |HEFEEI= H14.01.01 | &
n|0|[8]0]3 | ERIRE H14 30 4F | R14.12.31 | BEZE |FIF&EE= H15.01.01 | %
n|0|[8]0] 3 |8EERRHR H15 30 4F [ R15.12.31 | BEIE |HIEEEI= H16.01.01 | &
n|0|8|0]3 |#ErEtaHk H16 30 45 | R16.12.31 | BE3E Ikl H17.01.01 [ &




n|0|[8]0]3 |8 ERRHR H17 30 A5 | R17.12.31 | B3 |FIF&k= H18.01.01 | &
n|0]8]0|3 |#EaRkE H18 30 4 | R18.12.31 | BEZE |FIF&rl= H19.01.01 | %
n|0|[8]0]3 |8 ERRHR H19 30 A5 | R19.12.31 | B |FIF&k= H20.01.01 | #&
n|0]8]0|3 |#EaRkE H20 30 4 [ R20.12.31 | BEZE |FIF&rl= H21.01.01 | %
n|0|[8]0]3 |8 ERRHR H21 30 45 | R21.12.31 | B |FIF&k= H22.01.01 | #&
n|0]8]0|3 |#EaRkE H22 30 4 | R22.12.31 | BEZE |FIF&rl= H23.01.01 | %
n|0]8]|0|3 |#EEaHRiEk H23 30 45 | R23.12.31 | B |FIF&kl= H24.01.01 | %
n|0|[8]0]3 | ERIRHK H24 30 4F | R24.12.31 | BEZE |MIE&EI=| H24.01.01 [ H25.01.01 | &
n|0|8|0] 3 |#ERErak H25 30 4 | R25.12.31 | BEZE |FIF&Ekb==| H25.01.01 [ H26.01.01 [ &
n|0|[8]0]3 | ERIRHK H26 30 4F [ R26.12.31 | BEZE |FIFE&EI=| H26.01.01 [ H27.01.01 | &
n|0|8|0] 3 |#ERErak H27 30 4 | R27.12.31 | BEZE |FIF&kb==| H27.01.01 [ H28.01.01 [ &
n|0|[8]0]3 | ERIRHK H28 30 4F | R28.12.31 | BEFE |mswssveior| H28.01.01 [ H29.01.01 | &
n|0]|8]0]|3 |#ERRR H29 30 4F [ R29.12.31 | BEHE |mamsrexoh| H29.01.01 [ H30.01.01 | #%
n|0|[8]0] 3 |EERRHK H30 30 4= | R30.12.31 | BEFE |wawsreveior| H30.01.01 [ H31.01.01 | #&
n|0]|8]|0]|3 |#EHRE RO1 30 45 | R31.12.31 | BEHE |msussreson [ H31.01.01 | R02.01.01 | #&
n|0|[8]0] 3 |EERRHK R02 30 4= | R32.12.31 | BEFE |wawsreveior| RO2.01.01 [ R0O3.01.01 | &
n|0]|8]|0]|3 |#EHRE RO3 30 4 [ R33.12.31 | BEHE |mmmrvciok| RO3.01.01 [ RO4.01.01 | #&
n|0|[8]0] 3 |EERRHK R04 30 4= | R34.12.31 | BEFE |wawreveior| RO3.01.01 [ RO4.01.01 | &
n|0|8|0]|5[HEkERIFE H27 30 4F | R27.12.31 | BEHE |mamsrvexor| H27.01.01 [ H28.01.01 | #%
n|0[8]|0]5|[HHEELRTE H28 30 4F | R28.12.31 | BEFE |mswssvesor| H28.01.01 | H29.01.01 | &
n|0|[8]0]5|[HuHERGE H29 30 4F [ R29.12.31 | BEZE |mmwrsvexor| H29.01.01 [ H30.01.01 | %
n|0]|8|0]|6 [/mEHELRAF P E H27 30 4 | R27.12.31 | BEHE |mmuwereson [ H27.01.01 | H28.01.01 | #%
n|0]|8]0|6 [MEHELRAEY - HihE H28 30 45 | R28.12.31 | BEHE |massreor [ H28.01.01 | H29.01.01 |  #K
n|0]|8|0]|6 [/mEHELRLF Y E H29 30 4 | R29.12.31 | BEHE |mmusereson [ H29.01.01 | H30.01.01 | #%
n| 08|07 (mEERFEYIEREE H27 30 4 | R27.12.31 | BEZE |masrveior| H27.01.01 [ H28.01.01 | #&%




n|o|8|o|7[HEERFS S E H28 30 4E | R28.12.31 | BEFE |mmwmervesor| 128.01.01 [ H29.01.01 [ %%
n|of8[0|7[WmEERTFY: R E H29 30 4F | R29.12.31 | BEZE |mmsrvexor| H29.01.01 | H30.01.01 | #%
n|2|3(0]1[HEAHIKEE)FH S59 30 4E | R13.12.31 | BEHE |mmrereon H14.01.01 [ %
nf2(3[0f1|HCAIAEE(E) S60 30 4F | R13.12.31 | BEIE |mauserreot H14.01.01 | #&
n|2|3(0]1[HEAHIKEE)FH H11 30 4E | R13.12.31 | BEHE |mmrereon H14.01.01 [ %
nf2(3[0f1|HCAIAEE(E) H20 30 4F | R20.12.31 | BEIE |mauserreot H21.01.01 | #&
n(2|3|0|1|HICARBEMKRE(S)HK H29 30 A5 | R29.12.31 | BEHE |mamwerresor [ H29.01.01 | H30.01.01 | #%
n(2|3|0|1|HICARBEMAKE(S) H30 30 4£ [ R30.12.31 | BEZE |mamsrvexor| H30.01.01 [ H31.01.01 | #&%
n|4]|2]| 1|8 |#kEEHGTERESE ) ERHE P& RO1 [wrmessmen 5 45 [ R06.12.31 | BEHE |mawsrvexor [ H31.01.01 | R02.01.01 | #%
n|4|2]|1|8|#Ea EERESEH JIERME P RO2 |amweresmzn 5 4F | R07.12.31 | BEIE |®msrrrexor| R0O2.01.01 | R03.01.01 | #&
nf4f2|2|o0|wEEE T ERSEGENHG RO1 54 [ R06.12.31 | BFEHE [maueeresor [ H31.01.01 [ R02.01.01 [ #%
nl4|2]|2|0|#RETERSESEM G R0O2 54 | R07.12.31 | PBEZE |mawscvesor| R02.01.01 | R03.01.01 [ %
n(4|2]2|0|#kEEEGFERESESEN A RO3 54 | R08.12.31 | BEZE |maussresot| R03.01.01 | R0O4.01.01 [ %
nj4|2|2]0 gk T ERSEEEN A RO4 5 4F | R09.12.31 | BEHE |mawsx+cxor[ R04.01.01 | R0O5.01.01 |  #%
n(4|2]2|0|#kEEEFERESEGSEN A RO5 54 | R10.12.31 | BEZE |maussresot| R05.01.01 | R06.01.01 [ %
n|4|2|2]3#EEETFEANTIEBIEEE B E RO1 5 4F | R06.12.31 | BEHE |mawsx+eor [ H31.01.01 | R02.01.01 |  #%
n(4|2|2|3|#EREFEANEREEERE R02 5 4F | R07.12.31 | BEHE |mswssvexor[ R02.01.01 | R03.01.01 |  #%
n|4|2|2]3#EEETFEANTIEBIEEE B E RO3 5 4F | R08.12.31 | BEHE |mawsrx+eor[ RO3.01.01 | R04.01.01 |  #%
n(4|2|2|3#REFZEANEREEERE R04 5 4E | R09.12.31 | PEIE |mawsx+esor| R0O4.01.01 | R05.01.01 [ %
n|4|2|2]3#EEETENTTEBREEE BHE R05 5 4F | R10.12.31 | BEHE |mawex+rexor| R05.01.01 [ R06.01.01 |  #&%
n|5[1[0f3[EprTaERR RO3 3 4E [ R06.12.31 | FEHE |mauerresor| R03.01.01 [ R0O4.01.01 | #%
n|5|1|0]3[EHrTad Ei% RO4 3 4F | R07.12.31 | BEHE |mawexrexor| R04.01.01 [ R05.01.01 | #&%
n|5[1[0f3[EBrTaERR RO5 34 [ R08.12.31 | FEHE |msuerresor| R05.01.01 [ R06.01.01 | #%
n|5|1]|0]6[EHETHE H29 7 4 | R06.12.31 | BEFE |mwssvexor| H29.01.01 [ H30.01.01 | %
n|5|1]|0]|6|[EHEEHE H30 7 A | R07.12.31 | BEZE |mExvexok| H30.01.01 [ H31.01.01 | #K




n|5(1]0]6|#E&E ey RO1 7 4£ | R08.12.31 | BEZE |mervexor | H31.01.01 | R02.01.01 |  #&
n|5(1]0]6[EEEHE R02 74| R09.12.31 | BEZE |wssvexob| R02.01.01 [ RO3.01.01 | %
n|5(1]0]6 B EHRE RO3 7 4£ | R10.12.31 | BEZE |wexvesor | R03.01.01 | R04.01.01 | #&
n|5|1]|0]6 |8l EHrEE R04 7 H | R11.12.31 | BEZE |mawrercior| R04.01.01 [ R0O5.01.01 | &
n|5|1]|0]|6 B EHrE=E RO5 74| R12.12.31 | BFEZE |massrexor| R05.01.01 [ R06.01.01 | #&
n|5| 1|07 &R E H29 74| R06.12.31 | BEFE |msxrexor | H29.01.01 | H30.01.01 |  #%
n|5| 1|07 [EHEHEILITE H30 7 4| R07.12.31 | BEZE |wesxveaoh | H30.01.01 [ H31.01.01 |  #%
n|5|1|0|7[EHEHEILEEE RO1 7 4E | R08.12.31 | BEHE |me=rvexob [ H31.01.01 | R02.01.01 |  #K
n|5| 1|07 [EHEHEILITE R02 7 4| R09.12.31 | BEZE |w=xvreauk | R02.01.01 [ R03.01.01 | %%
n|5|1|0]|7 BB B RO3 7 4E | R10.12.31 | BEHE |m==xvexor [ R03.01.01 | R04.01.01 | #K
n|5[1[0[7 BRI RO4 74| R11.12.31 | BEZE |mawesvexok| R04.01.01 [ R05.01.01 | &%
n|5|1|0]|7 BB B R05 7 4F | R12.12.31 | BEHE |mawsx+exor[ RO5.01.01 | R06.01.01 | #%
n|(5|2|0]|2[BEIEN=E H29 7 4E | R06.12.31 | BE#E |w=xrexor | H29.01.01 | H30.01.01 |  #%
n|5(2]0]2BEYEE H30 7 4| R07.12.31 | BEFE |wsxvexoh| H30.01.01 [ H31.01.01 | %
n(5|2|0|2|BEEME RO1 7 £ | R08.12.31 | BEHE |w=xvexok | H31.01.01 | R02.01.01 |  #%
n|5|2|0|2|BigEMEE R02 7 A | R09.12.31 | BEZE |msx+eiok| R02.01.01 [ R03.01.01 | &
n(5|2|0|2|BEEME RO3 7 4E | R10.12.31 | BE#E |w=xvexok | RO3.01.01 | R04.01.01 |  #%
n|5|2|0|2|BigEMEE R04 74E | R11.12.31 | BEZE |mausr~csor [ R0O4.01.01 | R05.01.01 [ #K
n|5(2]0]2[BGEYRZE RO5 7 4| R12.12.31 | BEFE |msurrvexor| R05.01.01 [ R06.01.01 | &
n|5(2|0]|3 [BSIEBEE UL H29 7 4F | R06.12.31 | BEIE |wervexor | H29.01.01 | H30.01.01 |  #%
n|5|2|0]|3 [BEEDMRILHE H30 74 | R0O7.12.31 | FE=E |wsxvrsor | H30.01.01 | H31.01.01 |  #%
n|5(2|0]|3 BSIEBEE UL RO1 7 4F | R08.12.31 | BEFE |wervexob | H31.01.01 | R02.01.01 |  #%
n|5|2|0]|3 [FREEDMRILHE R02 7 4£ | R09.12.31 | B |wsx+rxor | R02.01.01 | R03.01.01 |  #%
n|5(2|0]|3 [BGIEHE UL RO3 7 4£ | R10.12.31 | JEFE |msrvrsob [ R03.01.01 | R04.01.01 | #%
n|5|2|0]|3 [BEEYMRELHE RO4 7 4| R11.01.01 | BEZE |mawscresor| R04.01.01 | R05.01.01 [ &




n|5(2(0[3[BSRBERESLE E RO5 74| R12.12.31 | BFEZE |massrexor| R05.01.01 [ R06.01.01 | #&
o 1]0]0]|6|DNABIEEEEEHRE H G5 H18 30 4E | R18.12.31 | BEZE |mmweroeiol H19.01.01 [ #&
o 1]10[0]6|DNAREFEBMRE H i Z/ H19 30 4E | R19.12.31 | BEHE |mmteereon H20.01.01 [ %
o 1]0]0]|6|DNABIEEEEEHRE H G5k H20 30 4 [ R20.12.31 | BEZE |matrerveioh H21.01.01 | %
o 1]10[0]6|DNAREFEBMRE H i Z/ H21 30 4E | R21.12.31 | BEHE |mmrereron H22.01.01 [ %
o 1]0]0]|6|DNABIEEEEEHRE H G5k H22 30 4 | R22.12.31 | BEZE |matrerveioh H23.01.01 | %
o 1]0]0]|6|DNARIEEEEEHMRE HFE S H23 30 A5 | R23.12.31 | BEHE |materre ok H24.01.01 | %
o| 1[0]0|6|DNABIHE&EBHRE I aE =i H24 30 4F | R24.12.31 | BEHE |mmwssreior [ H24.01.01 | H25.01.01 | #%
o 1]0]0]|6|DNARIEEEEEHMRE HFE S H25 30 A5 | R25.12.31 | BEHE |mamwerreson [ H25.01.01 | H26.01.01 | #%
o| 1[0]0|6|DNABIHE&EBHRE I aE =i H26 30 4F [ R26.12.31 | BEZE |mswssveior| H26.01.01 [ H27.01.01 | &
o 1]0]0]|6|DNARIEEEEEHMRE HFE S H27 30 5 | R27.12.31 | BEHE |mamwerreson [ H27.01.01 | H28.01.01 |  #&%
o| 1[0]0|6|DNABIHE&EBHRE I aE =i H28 30 4F | R28.12.31 | BEHE |mmussreson [ H28.01.01 | H29.01.01 |  #%
o[ 1]0]0]|6|DNAKIHEEEBHLE 55Tk H29 30 45 | R29.12.31 | BEHE |mswssresok [ H29.01.01 | H30.01.01 |  #%
ol 1]10[0]6|DNAREEERMEE P Ek H30 30 4 [ R30.12.31 | BEZE |mawsrveior| H30.01.01 [ H31.01.01 | #%
of1]0]0]|6|DNAKIHEEEBHLE 55Tk RO1 30 45 | R31.12.31 | BEHE |msussreson [ H31.01.01 | R02.01.01 | #&
ol 1]10[0]6|DNAREEERMEE P Ek R02 30 4F [ R32.12.31 | BEZE |mawsrveior| RO2.01.01 [ RO3.01.01 | #%
of1]0]0]|6|DNAKIHEEEBHLE 55Tk RO3 30 45 | R33.12.31 | BEHE |msusrresor[ RO3.01.01 | R04.01.01 | #%
ol 1]10[0]6|DNAREEERMEE P Ek RO4 30 4 [ R34.01.01 | BEZE |mausrveior| RO4.01.01 [ R0O5.01.01 | #%
o 1| 1]0]|4|FEifgALER K E H12 30 4£ | R13.12.31 | BEHE |mumtrereon H14.01.01 | %
of 1| 1]0]|4 |Gl KiEE R H13 30 4F [ R13.12.31 | BEFE |mamrerveton H14.01.01 [ %
o 1| 1]0]|4|FEifgALER K E H14 30 4E | R14.12.31 | BEHE |mumtrercon H15.01.01 | %
of 1| 1]0]|4|HifgLEKIEE R H15 30 4F [ R15.12.31 | BEFE |mamurerveion H16.01.01 [ %
o 1| 1]0]|4|FEifg LB E H16 30 4£ | R16.12.31 | BEHE |mumtrereron H17.01.01 | %
of 1| 1]0]| 4GBk iEERK H17 30 4F | R17.12.31 | BEZE |mamrervetol H18.01.01 [ &
of 1| 1[0] 4 |EiGrrpiEEFs H18 30 4 [ R18.12.31 | BEIE |matrerveioh H19.01.01 | %




of 1| 1]0]|4|FEifgALEKIEERK H19 30 4E | R19.12.31 | BEHE |mmteereon H20.01.01 [ %
of 1| 1[0] 4B iEER H20 30 4 [ R20.12.31 | BEZE |matrerveioh H21.01.01 | %
of 1| 1]0]|4|FEifgALEKIEERK H21 30 4E | R21.12.31 | BEHE |mmtrereron H22.01.01 [ %
of 1| 1[0] 4B iEER H22 30 4 | R22.12.31 | BEZE |matrerveioh H23.01.01 | %
of 1| 1]0]|4|FEifgALEKIEERK H23 30 4E | R23.12.31 | BEHE |mmtrereron H24.01.01 | %
of 1| 1[0] 4B iEER H24 30 4 | R24.12.31 | BEZE |mawsrveior| H24.01.01 [ H25.01.01 |  #%
of 1| 1]0]|4|FEifgALE K iEEx H25 30 A5 | R25.12.31 | BEHE |mamwerreson [ H25.01.01 | H26.01.01 | #%
of 1] 1[0] 4 |EiGLefiEEFx H26 30 4 | R26.12.31 | BEZE |mawsrvexor| H26.01.01 [ H27.01.01 | #%
of 1| 1]0]|4|FEifgALE K iEEx H27 30 5 | R27.12.31 | BEHE |mamwerreson [ H27.01.01 | H28.01.01 |  #&%
of 1] 1[0] 4 |EiGLefiEEFx H28 30 4 | R28.12.31 | BEZE |mawsrveior| H28.01.01 [ H29.01.01 | #%
of 1| 1]0]|4|FEifgALE K iEEx H29 30 A5 | R29.12.31 | BEHE |mamwerresor [ H29.01.01 | H30.01.01 | #%
of 1] 1[0] 4 |EiGLefiEEFx H30 30 4 [ R30.12.31 | BEZE |mawsrvexor| H30.01.01 [ H31.01.01 | #%
o 1| 1]0]4|FEifgALEM&K I E RO1 30 45 | R31.12.31 | BEHE |msussreson [ H31.01.01 | R02.01.01 | #&%
of 1| 1[0] 4 |EiGuLef i Ei R0O2 30 4F | R32.12.31 | BEHE |mmusxrexor [ RO2.01.01 | RO3.01.01 | #&%
o 1| 1]0]|4|FEifgALEM&K I E RO3 30 45 | R33.12.31 | BEHE |msusrresor[ RO3.01.01 | R04.01.01 | #%
of 1| 1[0] 4 |EiGuLef i Ei RO4 30 4F | R34.12.31 | BEHE |msusxrexor [ R0O4.01.01 | R0O5.01.01 | #%
o 1| 1]0]|4|FEifgALEM&K I E R05 30 45 | R35.12.31 | BEHE |msusrresor [ R05.01.01 | R06.01.01 | #%




N ‘ i )& T2 g
LET A RS R | S emR ) R
0[0|0: 1 |iEaHkk H18 30 4 [ R18.12.31 | BEZE |mwmprerveioh H19.01.01 | %
0[0|0: 1 |EaHk H19 30 4F | R19.12.31 | BEFE |mmmer et H20.01.01 | &
ofo]o 1[|Esk H20 30 4 [ R20.12.31 | BEZE |mwmpmerveioh H21.01.01 | %
0[0|0: 2|&ECER H18 30 4E | R18.12.31 | BEHE |msmteereon H19.01.01 | %
0]0[0}2|FECERH H19 30 A5 | R19.12.31 | BEHE |mmtesre ok H20.01.01 [ &
010[0: 2| EECER H20 30 4 | R20.12.31 | BEHE |ussrerveson H21.01.01 | #&
0[0]0: 2 |FECERE H25 30 45 | R25.12.31 | BEHE |wmsmsresoh [ H25.01.01 | H26.01.01 |  #K
0 1|0 6|fIHELEER H18 30 A5 | R18.12.31 | BEHE |mwmtecre ok H19.01.01 [ %
0 1]0: 6|FIHmEER H19 30 A5 | R19.12.31 | BEHE |mmtrre ok H20.01.01 [ &
01|06 |fFIHLEERH H20 30 4£ | R20.12.31 | BEHE |msteereon H21.01.01 | #&
0 1]0:6|FIHEER H21 30 45 | R21.12.31 | BEHE |mwmtescreoh H22.01.01 | &
010 6|fIHEER H22 30 4F | R22.12.31 | BEFE |msusssreiot H23.01.01 | &
0 1]0: 6|FIHEER H23 30 45 | R23.12.31 | BEHE |mwmtere ok H24.01.01 | &
0f1]0;6|fFIHliEEH H25 30 45 | R25.12.31 | BEHE |wssrreson [ H25.01.01 | H26.01.01 | #%
0 1]0: 6|FIHEER H26 30 45 | R26.12.31 | BEHE |wssmrresoh [ H26.01.01 | H27.01.01 | #&%
0f1]0:6|fFIHliEEH RO1 30 45 | R31.12.31 | BEHE |wwserreson [ H31.01.01 | R02.01.01 | #&%
O 1|0 7 |FIHlEEER H29 10 4= | R09.12.31 | BEHE |mswrervesor [ H29.01.01 | H30.01.01 |  #%
0f1]0: 7 |fFIHLEEH RO1 10 4 | R11.12.31 | BEFE [wswmervesor| H31.01.01 [ R02.01.01 | %
O 1[0} 7| —fimeEs RO2 10 4= | R12.12.31 | BE#E |wswrervesor [ R0O2.01.01 | R03.01.01 |  #&%
01|08 | —fimiEt RO1 5 4F | R06.12.31 | BE3HE |wmwssreor[ H31.01.01 | R02.01.01 | #K
0 1[0} 8| —fimeEi RO3 5 4F | R08.12.31 | BEFE |wssrrvesoh| RO3.01.01 | R04.01.01 | &
01|08 | —fiBiEt RO4 54F | R09.12.31 | BE3HE |wmssreior[ R04.01.01 | RO5.01.01 | #K




al0]|1]|0:8|—fmeEk RO5 54 | R10.12.31 | BEZE |wstsevesor| R05.01.01 | R06.01.01 [ %
al0|1]|0:9|—fxmEkk RO3 34 | R06.12.31 | BEZE |[wssrrewor| R03.01.01 | R0O4.01.01 | #&
al0]|1]0:9| @k RO4 3 4 | R07.12.31 | BEZE |wswsrvesor| R04.01.01 | R05.01.01 [ %
al0|1]0:9|—fxmeEkk RO5 3 4 | R08.12.31 | BEZE [wssxreor| R05.01.01 | R06.01.01 | #&
alOf1]|1:0|—fmE R05 1 4 | R06.12.31 | BEHE [wmimervesor| R05.01.01 | R06.01.01 | #%
al0]| 1] 115 [mE%s% RO1 54 | R06.12.31 | BEZE [wssreonr| H31.01.01 | R02.01.01 | #&
al0]| 1] 115 [i@ESH% R0O2 54 | R07.12.31 | BEZE |wswsevesor| R02.01.01 | R03.01.01 [ %
al0]| 1|15 [imassz RO3 54 | R08.12.31 | BEZE [wwssrewor| R0O3.01.01 | R0O4.01.01 | #&
alo| 1] 115 [@EsH RO4 54 | R09.12.31 | BEZE |wssmsresor| R0O4.01.01 | R05.01.01 | #%
alo|1]1}5 @M RO5 54 | R10.12.31 | BEZE [wwssrewor| R05.01.01 | R06.01.01 | #&
alo|1]1}6[maEss RO3 34 | R06.12.31 | BEZE |wssmsresor| R0O3.01.01 | RO4.01.01 | %%
alo| 1] 17 [mEsss RO5 1 4F | R06.12.31 | BEHE [mwmmer~eaor[ RO5.01.01 | R06.01.01 | #%
al5|0]|1:6|[KRiexE RO3 3 4E | R06.12.31 | BEZE |wstreresor| R03.01.01 | R04.01.01 [ %
al8|1]1]0|3H- 455K R05 1 4| R06.12.31 | BEZE [wmmrresor| R05.01.01 | R06.01.01 [ &
al8]1]|2:0|[110FH RO1 54 | R06.12.31 | BEZE |wstreresor | H31.01.01 | R02.01.01 [ %
al9|0]|0 1[EERLEMROHE RO3 | ZEfETE 3 4F | R06.12.31 | BEHE [wwsrresor| R0O3.01.01 [ R04.01.01 [ K
al9]0]|0:1 BRI E RO4 | SEfGEH 3 4F | R07.12.31 | BEHE |wswsxretor [ R04.01.01 | RO5.01.01 | #%
al9]0]|0:1 [EEye 2 AR RO5 | 5efif 3 4 | R08.12.31 | BEZE |wswsrresor| R05.01.01 | R06.01.01 [ &
@ 0[4]0:1|FEH BRBEFRRE H13 30 45 | R13.12.31 | BEHE |mwmtecre ok H14.01.01 | #&
@] 0401 |FEHEMEAIRRE H14 30 4F | R14.12.31 | BEHE |mmmerceiol H15.01.01 [ %
@ 0[4]0:1|FEHBmRBEFRR H15 30 4F | R15.12.31 | BEFE |mwmissviiot H16.01.01 [ %
@ 0[4]0:1|FEH0HRBEIRRE H16 30 4F [ R16.12.31 | BEFE |mwisfs it H17.01.01 | &
@|0[4]0: 1|FEHBRBEFRRE H17 30 4F | R17.12.31 | BEIE |mwmisfsviiot H18.01.01 [ %
@] 040 1|FEH BRI H18 30 4F | R18.12.31 | BEHE |mmwerceiol H19.01.01 | %




@[ 04|01 |FEHEHREIRRE H19 30 4 [ R19.12.31 | BEZE |mwmpmerveioh H20.01.01 | %
@ 0[4]0:1|FEH BERBEREE H20 30 4E | R20.12.31 | BEHE |msmteereon H21.01.01 | %
@|0|4(0i1 #ﬁ@?&&%w& H21 30 4E [ R21.12.31 | BEZE |mmmerceiol H22.01.01 | %
@|0[4]0:1|FEHBEHRBEFRE H22 30 4E | R22.12.31 | BEHE |msmteereon H23.01.01 [ %
@|0|4(0i1 #ﬁ@?&&%w& H23 30 4E [ R23.12.31 | BEEE |mmmerceiol H24.01.01 | %
@] 040 1|FEHmHBIRS H24 30 4E | R24.12.31 | BEHE |wmeerrexor [ H24.01.01 | H25.01.01 | #%
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alOf 1] 1|5 [m@Ensei RO3 5 4| R08.12.31 | BE3E |zmfrA| R03.01.01 [ R04.01.01 | &
al0| 1] 1|5 [mEnssEsk R04 5 4| R09.12.31 | BEFE |ZfrA | R04.01.01 [ R05.01.01 | #K
alOf 1] 1|5 [m@Ensei R05 5 4| R10.12.31 | BE3E |zdfr@| R05.01.01 [ R06.01.01 | &
alo|1]1]6|@EsEsz RO3 3 4| R06.12.31 | BEZE @A | R03.01.01 | R04.01.01 [ &
al0f1]1|6[mEnsEsk R04 3 4F | RO7.12.31 | BEIE |zimfRAJE| R04.01.01 | R05.01.01 | #&
al0f1]1|6[mEnsi R05 3 4F | R08.12.31 | BEZHE |ZiEfRAJE | R05.01.01 | R06.01.01 [ #K
alOf 1] 1|7 [@Ensei R05 1 % | R06.12.31 | BEIE [Ri@feAJE| R05.01.01 | R06.01.01 [ %
al0]2|0]4|FH5H#ERE R05 1 47 | R06.12.31 | BEZE [ZS@fRAE| R05.01.01 | R06.01.01 | #&
al0]|5|0] 1 |fikRaBIFRE RO3 3 4| R06.12.31 | BEZE [@fRANE| R03.01.01 | R04.01.01 | #&
al0[5]0]| 1 |fpERRaLRH R04 3 4F | RO7.12.31 | BEZE |Zi@fRAJE | R04.01.01 | R05.01.01 [ #K
al0]|5|0] 1 |fHuisEaBIfRA R05 3 4 | R08.12.31 | PBEZE |&@fRANE | R05.01.01 | R06.01.01 [ &
al1|2|0] 1 |sCEZHM4HE RO3 34| R06.12.31 | PEIE |&@EMHR AN | R03.01.01 | R0O4.01.01 [ #%
al1|2|0] 1 |3CEZIRM4E RO4 3 4 | R07.12.31 | BEIE |&@fRANE | R04.01.01 | R05.01.01 [ &
al1|2|0] 1 |sCEZHM4HE RO5 34| R08.12.31 | PBEIE |&i@EMR AN | R05.01.01 | R06.01.01 [ %
al5(0]0]|4FLIEFM0rRE S53 30 45 | R13.12.31 | BEHE |mtere ok H14.01.01 [ #%
al5]0]0]|4[ALI-F{LPRE S54 30 4F | R13.12.31 | BEZE |wmpmerveion H14.01.01 | %
al5(0]0]|4FLIeFEM0PRE S55 30 45 | R13.12.31 | BEHE |mtsere ok H14.01.01 | %%
al|5(0]0|4 LIS HuLetiE S56 30 4F | R13.12.31 | BEFE |wmsveiot H14.01.01 | %%
al5(0]0]|4FLIeFEM0PRE S57 30 4F | R13.12.31 | BEHE |mtwsere ok H14.01.01 | %%
al|5(0]0|4 LIS HuLetiE S58 30 4F | R13.12.31 | BEIE |wmsreiot H14.01.01| %
al5|0]0]|4FLIEFEM0PRE S59 30 45 | R13.12.31 | BEHE |mtsere ok H14.01.01 | %%
al|5(0]0|4 LI uLeniE S60 30 4F | R13.12.31 | BEIE |wmsviot H14.01.01 | #&
al5(0]0]|4FLIeFMphiE S61 30 4 [ R13.12.31 | BEZE |empervesoh H14.01.01 | %




al|5[0]0|4 0TS S62 30 4F [ R13.12.31 | BEFE |siterre ot H14.01.01 [ %
al5|0]0]|4FLIeEMpriE S63 30 4 | R13.12.31 | BEZE |wmperveioh H14.01.01 | %
al|5[0]0|4 0TS HO02 30 4F | R13.12.31 | BEIE |omgrrtot H14.01.01 | #&%
al5|0]0]|4FLIeEMpriE HO03 30 4 | R13.12.31 | BEZE |wmperveioh H14.01.01 | %
al|5[0]0|4 0TS HO4 30 4F | R13.12.31 | BEIE |omgrrtot H14.01.01 | #&%
al5|0]0]|4FLIeEMpriE HO05 30 4 | R13.12.31 | BEZE |wmperveioh H14.01.01 | %
al5]0|0]4|FL3RFAFNLEEE HO7 30 A5 | R13.12.31 | BEHE |mteere ok H14.01.01 [ %
al5]0]0]|4[ALIRF{ PR HO8 30 4 | R13.12.31 | BEZE |wmperveiol H14.01.01 | %
al5(0]0]|4ALIeFMeniE H09 30 A5 | R13.12.31 | BEHE |mteere ok H14.01.01 [ %
al5]0]0]|4[ALIRF{ PR H11 30 4 | R13.12.31 | BEZE |wmperveiol H14.01.01 | %
al5(0]0]|4ALIeFMeniE H12 30 A5 | R13.12.31 | BEHE |mteere ok H14.01.01 [ %
al5]0]0]|4[ALIRF{ PR H14 30 4 | R14.12.31 | BEZE |cmperveion H15.01.01 | %
al5]0|(0]|4|L3RFAFULEEE H15 30 A5 | R15.12.31 | BEHE |mtere ok H16.01.01 [ #%
al5]0]0]|4[ALI-F{LPRE H16 30 4F | R16.12.31 | BEZE |wmpmerveiol H17.01.01 | %
al5(0]0]|4FLIEFM0rRE H17 30 A5 | R17.12.31 | BEHE |mtsere ok H18.01.01 [ #&
al5]0]0]|4[ALI-F{LPRE H18 30 4F [ R18.12.31 | BEZE |wimpmerveiol H19.01.01 | %
al5(0]0]|4FLIEFM0rRE H19 30 45 | R19.12.31 | BEHE |mtrre ok H20.01.01 [ #%
al5]0]0]|4[ALI-F{LPRE H20 30 4F [ R20.12.31 | BEZE |wimpmerveiol H21.01.01 | %
al5]0|(0]4|LIRFLFuEEiE H21 30 45 | R21.12.31 | BEHE |mtsere ok H22.01.01 | %%
al|5(0]0|4 LIS HuLetiE H22 30 4F | R22.12.31 | BEFE |wmsveiot H23.01.01 | %t
al|5[0]0|4 0T EALEEE H23 30 4F | R23.12.31 | BEHE |witeereon H24.01.01 | &
al|5(0]0|4 LIS HuLetiE H24 30 45 | R24.12.31 | BEHE |smmrresor [ H24.01.01 | H25.01.01 | #%
a|5|0|0][4J0FEFEMLLEE H25 30 48 | R25.12.31 | BEZE |emwrveson | H25.01.01 | H26.01.01 |  #%
al|5(0]0|4 LI uLeniE H26 30 45 | R26.12.31 | BEHE |mmwrresor [ H26.01.01 | H27.01.01 | #%
al5(0]0]|4FLIeFMphiE H27 30 % | R27.12.31 | BEFE |mtesresxor [ H27.01.01 | H28.01.01 | #K




al5]0]0]|4 L3R FMrEiE H28 30 4F | R28.12.31 | BEFE |wmtmerveaor| H28.01.01 [ H29.01.01 [ &
al5|0]0]|4FLIeEMpriE H29 30 4 [ R29.12.31 | BEZE |wmwrveior| H29.01.01 [ H30.01.01 | #%
al5]0]0]|4 L3R FMrEiE H30 30 4F | R30.12.31 | BEZE |emtmervesor| H30.01.01 [ H31.01.01 [ &
al5|0]0]|4FLIeEMpriE RO1 30 4 | R31.12.31 | BEZE |wmwrvesor| H31.01.01 [ RO2.01.01 | #%
al5]0]0]|4 L3R FMrEiE RO2 30 4F | R32.12.31 | BEFE |wmterveaor| R02.01.01 [ R03.01.01 | &
al5|0]0]|4FLIeEMpriE RO3 30 4 [ R33.12.31 | BEZE |wmwrveior| R03.01.01 [ RO4.01.01 | #%
al5(0]0]4 za%‘%%#&&ﬁ%‘ RO4 30 4F | R34.12.31 | BEHE |mmsrrexor [ R04.01.01 | R05.01.01 | #%
al5]|0|0] 4S5 FALEEE R05 30 4 | R35.12.31 | BEHE |wmgsreor [ R05.01.01 | R06.01.01 | #%
al5[0f0f6 /ﬁ\#ﬁ%*% H26 10 4% | R06.12.31 | BEZE [massrewor | H26.01.01 | H27.01.01 | #&
al5]0]0]|6|akiEkiE H27 10 4% | RO7.12.31 | BEZE [wmsvesor| H27.01.01 | H28.01.01 |  #&
al5[0]0]6|mReERE H28 10 4% | R08.12.31 | BEZE |[massrewor | H28.01.01 | H29.01.01 |  #&
al5]0]0]|6|akiEkiE H29 10 45 | R09.12.31 | BEZE [wmwsvesor| H29.01.01 | H30.01.01 |  #&
al5[0]0]6|mikEEKE H30 10 4 [ R10.12.31 | BE3E [mmwrvesor| H30.01.01 [ H31.01.01 | %
al5]0]0]|6|mkiEkiE RO1 10 4F [ R11.12.31 | BEFE |wm#svexor| H31.01.01 [ R02.01.01 | %
al5]0|0]6|SkiERE R02 10 4 | R12.12.31 | BE3E [mm#rvesor| R02.01.01 [ R03.01.01 | %
al5]0]0]|6|mkiEkiE RO4 10 4F | R14.12.31 | BEFE |wm#xrexok| R04.01.01 [ R05.01.01 | %
al5[0]0]6|mIkEERKE R05 10 4 | R15.12.31 | BE3E |[mm#rvesor| R05.01.01 [ R06.01.01 | %
al5|0]| 1|1 |FpHfE RO3 3 4E | R06.12.31 | PBEZE |&@fRAN | R03.01.01 | R04.01.01 [ %
al5(0] 1|1 [FEH R04 3 4E | RO7.12.31 | BEZE |z@fRAE| R04.01.01 | R05.01.01 [ #&%
alb5|0f1|1|FRHTE R05 3 4F | R08.12.31 | BEIE |Zi@fRAJE| R05.01.01 | R06.01.01 | #K
al5(0]1|2|ERFMIaHEHE S54 30 4 | R13.12.31 | BEFE |emmerreiot H14.01.01 | #&
al5|0] 1|2 |BEFMFEEHE S55 30 4¢ | R13.12.31 | BEEE |eistrerveioh H14.01.01| &
al5(0] 1|2 |FRFIaHEHE S56 30 4 | R13.12.31 | BEFE |ommerreiot H14.01.01 | &
al5|0] 1|2 |BEFMfEEHE S57 30 4¢ | R13.12.31 | BEEE |eistwerveioh H14.01.01| ¢
al5|0|1]|2|BEFHIEHERE S58 30 4 [ R13.12.31 | BEZE |empervesoh H14.01.01 | %




al5|0|1]|2|BEFMIEHERE S59 30 4F | R13.12.31 | BEZE |t H14.01.01 | #&
al5|0|1]|2|BEFMIEHERE S60 30 4 | R13.12.31 | BEZE |wmperveioh H14.01.01 | %
al5|0|1]|2|BEFIIEERE S61 30 4F | R13.12.31 | BESE |scmtesere b H14.01.01| #&
al5|0|1]|2|BEFMIEHERE S62 30 4 | R13.12.31 | BEZE |wmperveioh H14.01.01 | %
al5|0|1]|2|BEFMIEHERE S63 30 4F | R13.12.31 | BEZE |remtrrreiot H14.01.01 | #&
al5|0|1]|2|BEFMIEHERE HO02 30 4 | R13.12.31 | BEZE |wmperveioh H14.01.01 | %
al5|0| 1|2 BERFMIEHEHE HO3 30 4F [ R13.12.31 | BEFE |emtwerveiol H14.01.01| #&
al5|0] 1|2 |BEFMfEEHE H04 30 4F | R13.12.31 | BEIE |mmrreot H14.01.01 | #&
al5|0|1]|2|BEFIIEERE HO5 30 4F [ R13.12.31 | BEFE |emtwerveiol H14.01.01 [ %
al5|0] 1|2 |BEFMfEEHE HO7 30 4F | R13.12.31 | BEIE |mmrreot H14.01.01 | #&
al5|0|1]|2|BEFIIEERE HO8 30 4F [ R13.12.31 | BEFE |emtwerveiol H14.01.01 [ %
al5|0] 1|2 |BEFMfEEHE H09 30 4F | R13.12.31 | BEIE |mmrreot H14.01.01 | #&
al5|0]| 1|2 |BEFMHHER H1l 30 A5 | R13.12.31 | BEHE |mtere ok H14.01.01 [ #%
alb|0|1]|2|BEEMEEE H12 30 4F | R13.12.31 | BEZE |wmpmerveion H14.01.01 [ #&
a|5|0|1|2|BRFHIEER H14 30 4F [ R14.12.31 | BEFE |siterre ot H15.01.01 | &
alb|0|1]|2|BEEMEEE H15 30 4F | R15.12.31 | BEZE |wmpmerveiol H16.01.01 [ #&
a|5|0|1|2|BRFHIEER H16 30 4F [ R16.12.31 | BEFE |siserre ot H17.01.01 | #&
alb|0|1]|2|BEEMEEE H17 30 4F | R17.12.31 | BEZE |wmperveiol H18.01.01 [ &
a|5|0|1|2|BREFEHIEER H18 30 45 | R18.12.31 | BEFE |smtrerre ot H19.01.01 | &
al5|0] 1|2 |BEFMFEEHE H19 30 4¢ [ R19.12.31 | BEZE |eistrerveioh H20.01.01 | %
a|5|0|1|2|BREFEHIEER H20 30 45 | R20.12.31 | BEFE |smtrerre ot H21.01.01 | #&
al5|0] 1|2 |BEFMFEEHE H21 30 4E | R21.12.31 | BEEE |eistrerveioh H22.01.01| %
al5|0] 1|2 |BRFMHEERE H22 30 45 | R22.12.31 | BEHE |mtsere ok H23.01.01 | %
al5|0|1|2|BEEMIEERE H23 30 4F | R23.12.31 | BEEE |eistwerveiol H24.01.01 | %
al5|0|1]|2|BEFHIEHERE H24 30 4 | R24.12.31 | BEZE |wmwrveior| H24.01.01 [ H25.01.01 |  #&%




al5|0]| 1|2 |EBRFIIfRERE H25 30 4F | R25.12.31 | BEZE |wmtmerveaor| H25.01.01 [ H26.01.01 [ %
al5|0|1]|2|BEFMIEHERE H26 30 4F | R26.12.31 | FEZE |wmwrvexor| H26.01.01 [ H27.01.01 | #K
al5|0]| 1|2 |EBRFIIfRERE H27 30 4F | R27.12.31 | BEZE |wmtmervesor| H27.01.01 [ H28.01.01 [ &
al5|0|1]|2|BEFMIEHERE H28 30 4 | R28.12.31 | BEZE |wmwrveior| H28.01.01 [ H29.01.01 | #%
al5|0]| 1|2 |EBRFIIfRERE H29 30 4F | R29.12.31 | BEFE |wmterveaor| H29.01.01 [ H30.01.01 [ &
al5|0|1]|2|BEFMIEHERE H30 30 4 [ R30.12.31 | BEZE |wmwrvesor| H30.01.01 [ H31.01.01 |  #%
al5|0]|1|2|BERFIIFRERE R0O2 30 4F | R32.12.31 | BEFE |wmvesor| R02.01.01 [ RO3.01.01 | %%
al5|0|1]|2|BEFMIEERE RO3 30 4 | R33.12.31 | BEHE |wmtxvexor [ R03.01.01 | R04.01.01 | #K
al5|0]|1|2|BERFIIFRERE R04 30 4F | R34.12.31 | BEFE |wmvraor| R0O4.01.01 [ RO5.01.01 | &
al5|0|1]|2|BEFMIEERE RO5 30 4 | R35.12.31 | BEZE |wmwrveiok| R05.01.01 [ R06.01.01 |  #%
al5|0] 1|6 |[KiRFTakE RO3 3 4F | R06.12.31 | BE3E |&imfRAH| R03.01.01 [ R04.01.01 |  #K
al5(0] 1|6 |&KzRi0ekE RO4 3 4F | RO7.12.31 | BEZE |Zi@fRAJE | R04.01.01 | R05.01.01 [ #K
al5(0]1|6|&KRCekE R05 3 4F | R08.12.31 | BE3E |&imfRAHE| R05.01.01 | R06.01.01 |  #K
al5|2|0] 2 |GEHUIEIRAETE H16 30 4F | R16.12.31 | BEZE |wmpmerveiol H17.01.01 [ #&
al5|2]|0]|2|GELIHIRAFTE H17 30 A5 | R17.12.31 | BEHE |mtsere ok H18.01.01 [ #&
al5|2]0]| 2 FELRA7 HO7 30 4F | R13.12.31 | BEHE |wmpereon H14.01.01 [ #&
al5|2]|0]|2|GELIHIRAFTE HO8 30 45 | R13.12.31 | BEHE |emteereon H14.01.01 [ #%
al5|2|0] 2 |GEUIEIRAETE HO09 30 4F | R13.12.31 | BEZE |wmpmerveion H14.01.01 [ #&
al5|2|0]2|GEU I IRAETE H10 30 45 | R13.12.31 | BEHE |mtsere ok H14.01.01 | %%
al5|2]0]|2 G HRA7 H11 30 4 | R13.12.31 | BEHE |mteereon H14.01.01 | %
al5|2|0]2|GEU I IRAETE H12 30 4F | R13.12.31 | BEFE |wmtervesiot H14.01.01 | &
al5|2|0] 2 |GEHUIEIRAETE H13 30 4 | R13.12.31 | BEHE |emteereon H14.01.01 | %
al5|2]|0]| 2GR IRAFTE H14 30 4F | R14.12.31 | BEFE |t H15.01.01 | %
al5|2]0]| 2 FEl R A7 H15 30 4E | R15.12.31 | BEHE |emteereon H16.01.01 | ¢
al5|2|0]2|FEU I IRAEE H16 30 4 | R16.12.31 | BEZE |empmerveiol H17.01.01 | %
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alsl2|o] 2 |zEnsitirieiE H17 30 4F | R17.12.31 | BEZE |t H18.01.01 | #&
al5|2|0]| 2GR IR H18 30 4 | R18.12.31 | BEZE |wmperveioh H19.01.01 | %
al5|2|0]|2 GRS (R 17 d H20 30 4F | R20.12.31 | BEIE |ritmrve ot H21.01.01 | &
ol 50 2] ol 2 Frmmet s H21 30 4F | R21.12.31 | BEZE |scimtrerre ot H22.01.01| #&
al5|2|0]|2 GRS (R 17 d H22 30 4F | R22.12.31 | BEIE |riimerre ot H23.01.01 | &
al5| 20| 2|zt H23 30 4F | R23.12.31 | BEFE |[wimgrveioh H24.01.01 [ #%
al5|2]0]|2|FELHIRATIE H24 30 4 | R24.12.31 | BEFE |mwerveiok| H24.01.01 [ H25.01.01 [ &
al5|2]0]|2 R HRAFE H25 30 4 | R25.12.31 | BEZE |wmwrvesor| H25.01.01 [ H26.01.01 | #&%
als| 2ol 2 zEmspr s H26 30 4 | R26.12.31 | BEFE |wmterrexor [ H26.01.01 | H27.01.01 | #K
al5|2]0]|2 R HRAFE H27 30 4 | R27.12.31 | BEZE |wmwrvesor| H27.01.01 [ H28.01.01 |  #%
als| 2ol 2 zEmspr s H28 30 4 | R28.12.31 | BEFE |mmterrexob [ H28.01.01 | H29.01.01 | #K
al5|2]0]|2 R HRAFE H29 30 4 [ R29.12.31 | BEZE |wmwrvesor| H29.01.01 [ H30.01.01 | #%
als| 2ol 2 zEams et H30 30 45 | R30.12.31 | BE#E |swmssresor | H30.01.01 | H31.01.01 | #&%
ol 5] 2ol 2 lzEmm it RO1 30 4F | R31.12.31 | BEFE |wmmrrexor| H31.01.01 | RO2.01.01 | #&
alsl2lol 2 lzrmm et rr s R02 30 4F | R32.12.31 | BEsE |emgrreaor| R02.01.01 | R0O3.01.01 iy
ol 5] 2ol 2 lzEmm it RO3 30 4F | R33.12.31 | BEsE |wmsrresor| R03.01.01 | R04.01.01 A
alsl2lol 2 lzrmm et rr s RO4 30 4F | R34.12.31 | BEEsE |emgr+eaor| R04.01.01 | R05.01.01 A
ol 5] 2ol 2 lzEmm it RO5 30 4F | R35.12.31 | BEsE |wmsxresor| R05.01.01 | R06.01.01 A
al5| 2] o] 3|z e H16 30 £ | R16.12.31 | BE3E |wumsvexob H17.01.01 A
als|2|0]| 3 |FEinsy g s H17 30 4F | R17.12.31 | FESE |wmtrsrreson H18.01.01 | #&
al5| 2] o] 3|z m e H18 30 £ | R18.12.31 | FE3E |wumtrsveixob H19.01.01 A
als|2|0]| 3 |FEinsiheg s H19 30 4F | R19.12.31 | BEHE |wmteereon H20.01.01 [ %
al5l 2] o] 3|z m e H20 30 £ | R20.12.31 | FE3E |wumtrsvexob H21.01.01 IS
als|2|0]| 3 |FEins s s H21 30 4F | R21.12.31 | BEHE |emteeveon H22.01.01 [ #%
al5|2|ol 3 lzrmmpesmes H22 30 45 | R22.12.31 | BEsE |wmmsvesok H23.01.01 K




a|5|2]0]| 3 |FEM:E B H23 30 4F | R23.12.31 | BEIE |omsriot H24.01.01 | #&
al5|2]0]| 3 |FEIL 4 ER H24 30 4F | R24.12.31 | BEZE |smgervesor| H24.01.01 | H25.01.01 | #%
al5|2|0] 3 |FEIL & H25 30 4E | R25.12.31 | BEHE |wmterrexor | H25.01.01 | H26.01.01 | #%
al5|2]0]| 3 |FEIL 4 ER H26 30 4F | R26.12.31 | BEFE |wmwrvexor| H26.01.01 | H27.01.01 | #%
al5|2]|0]| 3 |FEL & PR H27 30 4E | R27.12.31 | BEHE |mmerrexor | H27.01.01 | H28.01.01 | #%
al5|2]0]| 3 |FEIL 4 ER H28 30 4F | R28.12.31 | BEFE |wmtwrveor| H28.01.01 | H29.01.01 | #%
alb|2|0]|3|FEL S & H29 30 A5 | R29.12.31 | BEHE |mmwereson [ H29.01.01 | H30.01.01 | #%
al5|2|0] 3 |FELY A B H30 30 4 [ R30.12.31 | BEZE |wmwrvesor| H30.01.01 [ H31.01.01 | #%
alb|2|0]|3|FEL S & RO1 30 A5 | R31.12.31 | BEHE |mmwereson [ H31.01.01 | R02.01.01 |  #%
al5|2|0] 3 |FELY A B R02 30 4F | R32.12.31 | BEHE |wmgsresor [ R02.01.01 | R03.01.01 | #%
alb|2|0]|3|FEL S & RO3 30 45 | R33.12.31 | BEHE |mmwrresor [ R03.01.01 | R04.01.01 | #%
al5|2|0] 3 |FELY A B RO4 30 4 | R34.12.31 | BEZE |wmwrveior| R04.01.01 [ R0O5.01.01 |  #&
al5|2]|0]| 3 |GEHLY (4 PRIE R05 30 45 | R35.12.31 | BEHE |wmwrresok [ R05.01.01 | R06.01.01 | #&%
alb|2|0]| 4 FEHMLIESE SR H16 30 4F | R16.12.31 | BEZE |wmpmerveiol H17.01.01 [ #&
alb|2|0]|4 |G kR H17 30 A5 | R17.12.31 | BEHE |mtsere ok H18.01.01 [ #&
alb|2|0]| 4 FEHMLIESE SR H18 30 4F [ R18.12.31 | BEZE |wimpmerveiol H19.01.01 [ &
alb|2|0]|4 |G kR H19 30 45 | R19.12.31 | BEHE |mtrre ok H20.01.01 [ #%
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